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1. Arrange the following events in chronological order.
(@) Ahemadabad Mj] Strike
(i) Champaran Satyagraha
(1)) Kheda Satyagraha
(iv) Rowlatt Satyagraha
(A) (D), (), (i), (v)
B) (), (id), Gi), ()
€) @), (), (i), Giv)
D) (@), (1), (), ()
(E) Answer not known

s aiflosiiug 2OE@s.
() =apwsruns W Cuee Hnssd
(i) sburyer ssHurdysd

(iii) Gasgm ssHwundlysd

(iv) GQrewr ssSurdrsd

(A) (i), @), (i), (iv)

B) (i), (i), (D), O

C) (1), (1), (iii), (iv)

D) (i), (), @), @v)

() ofeL Ggflucioad
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2 The Talaikota Battle wa

(A)
(B)
- (©)
(D)
(E)

s also calledas _ ———

Toppur Battle
Rakahasi — Tangadi Battle

Battle of Rajagambira Rajyam
Battle of Kannanur Kuppam

Answer not known

seosCam e Curt —— GraiTmILD SiepssliuREDSl.

(A)

(B)
(©)
(D)
(E)

Camiigy, i Gumi

grasanndl — SRSy Gumit
grggabLSy grguin Gu
senangnit @Lub Gumf
e Gaflwellcbene

3.  Shivaji was crowned as an independent king at

(A)
(B)
(©)
D)
(E)

Raigad
Surat
Ahmedabad
Poona

Answer not known

Heurgl F5BSl DTETTS APIg@L L UL L @b

(A)
(B)
©)
(D)
(E)

Frl&Sm
&S
DI DS TLITE
LLGuTIT

el Qgfweldane
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4.

A Gnog!e F'la-}r

Which is/a . =
re the objective/s of on Act 20057

(1) RTI is ¢
S €I . :
acr:nuntabill:lpu?w'r to citizens, promote tra
(11) The Act il-:,]t:'!'r 11.1 the working of Govt.
about tﬁ ) d- l.)]g step towards making the
(i) Thi -the activities of Govt
111 118 : l . a
aut;g%? DTGV%deg, right to access information from PUth
rities, which is guaranteed Art. 13 of constitution.

a Right to Informati

nsparency and

citizens inforn‘led

(é} {%} " . (B) (ii) and (iii) only
gk (UL A Guenly (D) (i) and (iii) only

(E) Answer not known

eraiaiTaDpET saaid s o fmws s 2005 G CorEEREST

GQsfey Ceawus.

(1) @@ .@lq_méi&@.jg@ élﬁ&':ﬂmh &Gﬂﬁﬁiﬁh yHerm QEUJGI‘JI_HI'I_'_I.DrE'lJ

- QauefiiuenL g semenio wpmib GurgLiLjERTTEEa oard@&eilIUS) D&

(11) =réler Aewaunhser Gilss &g LDESHEHES @g,lﬂu_lilu@ﬁg.l&l@-

(iii) @& <=rsewinben o gy 13-ar &1 o gAwaflssiur &g 0ESE@HSE,
Qurg sderflsefl_O(BHe seebs@®En Qumb 2 Mewew ojafl&Elng)-

(A) (1) wi@w (B) (i) wpgid (i) wLE®

(C) (1) wppd (i1) wLGD (D). (i) wpmid (111) wHD

(E) oflen Ggfwallcrene

Which among the following was the first state in India to constitute

an institution of Lok Ayukta?
(B) Kerala

(A) Karnataka
(D) Rajasthan

(C) Maharashtra

(E) Answer not known

@p&uwredle Qs LGST® Hmedu se o g2
(B) GEE]GHH

(A) srBILST
(D) @urgevgmer

(C) wamyre T
(E) eflen @gmmaﬁmmw

CCSELIAP2;
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ion of States” in our Constitution wyg !

6. The word “union” is the “Un
inspired by the S
' stitution
(A) Canadian Constitution (B) England C{.m :
(D) U.S. (Constitution

(C) Irish Constitution
(E) Answer not known

wnflotisefiar el e
Damey Bl 6t <yrflwe

Qamp@pmfld @ bEuHDIeTsT gamplub’ ereny
A mbs sTESTET CUDDIGTETE.
(B) g@rfenpg oirfluee iy ]

(A} ST aqﬂmmmmﬂu ‘
(D). =@uwflés &l eentduUL

(C) swierbg Sipdlueably
(E) e Qsfluaidema

Choose the right matches :

=]

1.  Power of High Courts to issue certain writs — Article 226

2. Transfer of certain cases to High Court — Article 178

3.  Establishment of a common High Court — Article 231
for two (or) more states

4.  Extension of jurisdiction of High Courts to — Article 320
Union Territories

(A) 1and 2 only (B) 2 and 4 only

(C) 1 and 3 only (D) 4 only

(E) Answer not known
Aummgsorer Cgmgsmer Coitey Qs

L. ewr pfwaphseier @fludi $8 Cuimamensamen — ahlgl 226
Wpubé@n sfsnn
2. @ALALL aypsesaa o wifdoansdie viHpsd — afld 178

3. Qe sdeg idls wrhonsess - aid 231
Cungieunar 2 wikdlwemb ewssd
4. ecwipdwennisaiean famy urteau e : -
UGS EnéEE ﬂﬂmn&mf@l&uﬁ,ﬁm Bl el
(A) 1 wogd 2 wC G (B) 2 wpmiv 4 v G
(C) 1 wpgd 3w @Gid D) 4 veEw

(E) dllen QasMueldrena

CCSEI-IAP25 6
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( g} ';1\; Nal::t‘ and Thiyagaraya Chetty

(B) P.Rangaiah Naidu and P. Ananda Charlu
(C) Ch‘.l.damparam Pillai and Subramania Siva
(D) dJotirao Phule and Ram Mohan Ro

(E) Answer not known ’

pPss 8 wrgnd 1916 oy pan(R Hpeuiuc L gl?
(A) T.M. BT whmb Suirsyrwy Q&g

(B) P.yasowr gry@ whmb P. syenpbs sy
(C)  Asbdunbd Géree bHywb s0GHweflu Hait

(D) Cgrdyrey wle whHmb yribGuomsesr Fm
(E) efler Qgflueidaeana

Arrange the event in Chronological order

(1) South Indian liberal Federation was formed

(2) Madras United League was renamed as M
Association

(3) Periyar E.V.R. transformed the Justice Party into

Kazhagam |
(4) The Ministry of A. Subbarayalu Reddiar fought against the

Swarajya Party
A (@), @, D, A) B) (2), (1), (1), 3)
© (1,2, 4,06 M) (1), (2), (3), (4)
(E) Answer not known
fapesmard S auflenslilig. &

(1) OserafpSu FTynaTaUTSE ol LeOUY 2 (HeUTE&EILLL )
Ss,  Quigmev  SgreflLid  shsD  erer

adras Dravidian

Dravidar

(praIgenLn& &6 D

(2) Quigmev wenenelL
mg@umsﬂl_uuu.‘_n_@
(3) Quflwm . Qau.gr. pHss Seowus fyrell it swpswns wrhblermi

R ——— Qi SIPDEFTE@E) FLITTHLIE s_8&@ adynsl
Gumymig S
B) (2), (1), (4), (3)
A @, 106 :
Ec; El}, @), (4, (3 o e
() e Gpfluededs

CCSEL-IAP25
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is defined as a rise in

R T——
! : demographic dividen s
10. Assertion [A] :;jl,erate of Economic growth due to a rising shap,

ge people in a pnpulation.

t of process where it faces the
Demographic

of working a

Reason [R] . India is in the mids . b
window of opportunity created DY

Dividend.

(A) [A] is true but [R] is false |
(B) Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] is false, [R] is true
(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A] is correct

(E) Answer not known

aapm [A] I wssaTlgmensls Merey eremug @ WwasaTLFTaSW
2epd@ld auwugeLw ossalar ukE dslssg
aumeaugned gouBb Gummertsny eueariss  dflssHa
gHu@b sifsfluurs aamrunssiuEs.

smyeard [R] . ésEOSTMmEL Seraysarmed 2 (HEUMSSELILIL L
ambiyseiidn ramsas adi@andrend Qswdapenpuler
phefler @pAuim o drergy.

(A)  [A] &fl syamme [R] seugy

B) [A] wppov [R] @ranGGo sf wopid [R] aeug [A] se shur
eflenéaib

(€) [A] saug, [R] s

(D) [A] wppd [R] GranEGo & v Rl &4 1
cflerésib @evena aréTLg) &) %eare [R] eTeTLigl [A] & sflwurer

(E) eflenr. Qsflweldrena

CCSEI-IAP25 8
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—— A aj;:r.glle Play

;1. Pick out the Incorrectly paired from the following :

(1)

(2)

(3)
(4)

(A)
(B)
(©)
D)
(E)

1962 —

1967 —

1968 -
1969 -

Act was
The Madras State (Alteration of Name)

Passed by the Parliament
: inister
Perarignar Anna Sworn in as the Chief Mi

of Tamil Nadu
he Rajya Sabha

Perarignar Anna was elected to t

The Madras State (Alteration of Na
into force

(1) only incorrect

(1) and (2) are incorrect

(1) and (3) are incorrect

(1) and (4) are incorrect

Answer not known

GenaumaaraupBembe sauprs Gaansaiil Haraadd CoipEsHEs6D.

(1)

2)
(3)
(4)
(A)
(B)
(C)
(D)
(E)

1962 -

1967 -
1968 -
1969 -

Glgemenen wmifle (@uwifr WMHDHD) FULD
BILT(@5LETDSED HepCeauppiiuicL g

s01p8 (PEO@DESTTEHL Curbleyit et LugelGubpT
Gul@hiT siedmemT prgusuneiihE@ CambOshEsu L

Qagrepar LMH® (QUWIT LIHDD) FULD SO EES UbSE

(1) v G seupTEg
(1) wppi> (2) geprE@e
() pps () sesramee
(1) wppd (4) sepreaee
e @ﬁﬂuaﬁlmmm

9 CCSEI-IAP25
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"‘N{]thing can be done With[}ut

12.  Identify the person who uttered that,
d. Japan was prepared to sacri
a. If 15 crores of Indians do the same

fice 20,000 men anq

shedding of bloo

gained a victory over Russl

“Swaraj will be obtained”.

(A) V.O. Chidambaram Pillai
(B) Subramania Siva

(C) Subramania Bharathi
(D) Vanchi Aiyar

(E) Answer not known

‘@rss Apsrod ageyd Qeiw apyung. guurer 20,000 &Syrsener
Fursnd Qeiw gunns @mpsg). Tepwree Qeuamsg. 15 Gamg @b wiisdr

Gazs Uewgne, “swummgue” HoLssd aay sy pumy SeLwrern
sremreylb.”

(A) ez fgbumd Qerener

(B) supwefiu Heur

(C)  survefu uryd

(D)  eungsd guwir

(E) el Gsfweidaency

CCSEI-IAP25 10
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1

A) 39—

& 11 Bours (B) 42% hours
7

C) 43—

gl i (D) 44 hours

(E) Answer not known

L Geuensuenil

@06 &, 3 Queamsd, 4 euwdsdar Csips SO GHCE
ger  LHOID

96 wvefl CowysHe Gsiidenpeni. 2G5 Camaeu 2 e
8 euwenser Gaibg 80 wefl Corsde Qaifanpant, Qe 2 eTEHeT LoHHID
3 Quanser Gsiibgl ©iG5 Caimamu 120 wafl Gprb Gsudldpart. aonc
5 @pemsdt OB 12 @uLdEsE oGs Camaanu Gain TOEHE CETETESD

Cryd @b,

1
(A) 39~ wa Gpyid ®) 42% el GHID
(®) 43% wexfl Crrb (D) 44 wanfl Gpyid

(E) eflen Qsflwellévenew

The diagonal of a rectangle is thrice its smaller side. The ratio of the
length to the breadth of the rectangle is

A) 3:1 (B) V3:1

€) +2:1 (D) 2v2:1

(E) Answer not known
Hen gpevooiiLTD 2ipen GNElW Lsssiler apenm L RsTS

Lgeueus _ sl
Egm@?mﬂi QeaiausgHar Hard LHYID sissslan eildlgn ereen?
(A) 3:1 (B) V3:1
©) «2il (D) 2v2:1
(E) &flenL Qpfwesleeme
11
CCSEI-IAP25
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15. Assertion [A]

Reason [R]

(A)
B)

©)
(D)

(E)

he environment cay

ding of Nitrogen int
] nitrogen cycle.

Overloa
atura

cause an imbalance to the n
s a pollutant when it escapes into

Nitrogen become
other organic

the environment and reacts with

compounds.

[A] is true but [R] 15 false

] are true; and [R] is the correct explanation of

Both [A] and [R
(A]

[A] is false, [R] is true

Both [A] and [R] are true, but [R]
of [A]

Answer not known

is not the correct explanation

&l@&mﬂ& ghmieug

ampmp [A]l HHNIEGPSI L TEenen

@upesurar  ®BT i
men & &l i
o @n_né@éngl. st VRS
b . 2

smyamd [R] : @8 sopEGWdia SPbs LTH S wrdl, whpm sfé
Ciwhisener afeanfiEpg.

(A) [A] &f. [R] seug

(B) [A] whpmd [R] @ran@w &fl; wHDId [R], [A] efpsren aflwm

an

©)
)

(E)

cllam&sLmELD

[A] sap. [R] &f

[A] wogo [R] @ran@o &

@evenad . [R], [Aleiparer sfluimer leTdaLd

Se. Asfuaddme

CCSEI-IAP25 12
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16.

7

Pick out the incorree ‘
orrectly paired from the following :

(1)

(2)
(3)

(4)

(A)

©)

(E)

§§G5n®émmu|;t_wm,ﬂeﬂ@gbgj BEUPTE @eeamssliuL L OS5 Coipes

1)
(@)
(3)

(4)

(A)
(€)
(E)

Smoke and Ash
. 28 ; 0 iu 'a
Hidden Historieg i

The Golden Road

Twilight Prisoners -

The Rise of the Hindu Right
and the Decline of India
The Final Farewell :
Understanding the Last
Rites and Rituals of India’s
Major Faiths

(1) and (4) are incorrect
(2) and (3) are incorrect

Answer not known

FCOME D6 Hap6n : -
LU wibev |6t aublaivLfei

& GamevL et Gom(h =
" eflepeol_ 9fleveriev : =

5 @ U 5 Pbs FT-
s & gharen g0 HHUN

& epLIGe SEuwiGeud :
oaL_revGLebig.Bl & omavl_ e
@ MEgseuadeaw 2t @ h&luimev
Coggii =ELILSED
(1) wpgid (4) seprenere
e GaMwsdioame

13

Amitav (Ghosh

William Dalrymple

Minakshi Dewan

giddhartha Deb

(B) (1) and (2) are incorrect
(D) 3) and (4) are incorrect

&S LD:

<ifgeu Csmes

sfeedlw GLafbded

Bernss Seumet

Hpsniss Gl

(B) (1) wpmo (2) seuprearencu
(D) (3) wpgyn (4) seuprarena

CCSEI-IA]
[Turn o
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17. The Union Exe

18.

cutive consists of the .
1. Council of Ministers

9 President of India

3. (Central Secretariat
4

Vice President

' ' low :
Choose the correct answer by using the code given be

(B) 1and 2 only

(A) 1only D) 19,8 and 4 culy

(C) 1,2and4only
(E) Answer not known

wsdu Gesweam 4 glenpullen L@ uwns Qmuug

S{ENESFTEG (&H(LD
Gl Ns Seneeul

wHw Cesuwsd

Glg WIS FienenT Geneveui

:\hmt\:nr—i

Spssngnb aflesawls uuaLEsS sflurer e ows CarblshHiés :

(A) 1w @w (B) 1 wpmid 2 w b
(C) 1,2 wpmd 4 wL @b (D) 1, 2, 3 whmb 4 wL_Hb
(E) eflen Gsflwehlcrena

What 1s the definition of a child under the POCSO Act?

(A) Below 14 years of age (B) Below 16 years of age
(C) Below 18 years of age (D) Below 21 years of age
(E) Answer not known

POCSO scLpflan &p @@ Gwiosar cuequan ererar?

(A) 14 awwdpE 2 Cul Leuiser (B) 16 euwding o i L cuiraan
(C) 18 awwdid® 2Ll L euirgar (D) 21 vl 2.0 L euraan
(E) efen GsMuciidena

CCSEI-IAP25 14
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19.

7

Match the Article -

(a)
(b)
()
(d)

Audit and A
Ceounts of Panchayats

Reservation of segtg

Elections to the Panchayats
Gram Sabha

@ ® @© @

2 3 4 1
3 4 2 1
2 1 4 3
4 2 1 3

Answer not known

5L L effsemaris QUnmess.

(a)
(b)
(c)
(d)

ganfllEens HMID S@THE UEhETUSE) &l gl
AL 55680 AamiyeLw LgreTwHg 64
LgETLSES Caiisd o

Ay seou 69

@ @® © (d)

72 3 4 1
g 4 2 1
2 1 4 3
4 2 1 3

Aen Qpfluicileas

15

I

s oW

243 A
243 J
243 D
243 K

243 A
243 J
243 D
243 K

CCSEI-IAP25
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2
20. What are the objectives of public distribution system.
It is based on income status
It focuses on the families of Military Personnt 1
making available essential commodities of good

(1)
(i1)
(1i1) It ensures by
quality at affordable Prices every month
(B) (ii) only
(D) (iii) only

(A) (1) and (i1) only

(C) (1) and (i11) only
(E) Answer not known
Gung ARCWrs apenpuilel CrTé&shisaT eTee ?

(1) @s aumore Howular 2igliuaLuild awbgerensg

(1) @& rrameu efyiseflen @@ULURSM ewwTss C&Ta ([ erars)

(i) @& gaQanm wrguwpb wdley edewulan pow sroTar iSHwTeudwl
Gurmearseas fesaé Aaiieugen b 2 nd Csudpsg

(A) () wpgb (i1) wi Gib (B) (11) wi @b
(C) () wipgw (iii) wr G (D) (iii) wir_ @b
(E) &leL Gsfluddae

21. The amount given under the Dr. Muthulakshmi Reddy Maternity
Benefit Scheme has been increased since 2018 to Rs. .

(A) 18,000/- (B) 24,000/-
(C) 12,000/- (D) 32,000/-
(E) Answer not known

w@sgali ool sl Qylg L& LG mmgﬂLLg,@mﬁgg 2018 WPsD
2 wigsliuC(heter 2 s6ils Agnans enuimis

(A) 18,000/- (B) 24,000/-
(C)  12,000/- (D) 32,000/-
(E) eflen Qsfweicvena

CCSEI-IAP25 16 IJ'
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S LY,

e

Assertion [A]

A\ Eoogie Play

Tamj bol
mil Nadu Government replaced Rupee sym

() with Tamil letter (em.) In its budget 2025-26.

Reason :
] To ensure the widespread development of Tamil
Nadu to benefit all.
(A) [A] is true but [R] is false -
(B) Both [A] and [R] are true: but [R] is not the correct explanation
of [A] is correct
(C) [A] is false, [R] is true
(D) Both [A] and [R] are true; and [R] is the correct explanation
of [A]
(E) Answer not known
spm [A] sOppT®  es  peng  2025-26  uC@gled
(%) Henangens el (. 250G péens SO TpSSTE
. (epumi) wrhHdlujerars.
smyerd [R] : S@araGHED uuaelsEd amsde SOlp B ig e
upeuerar auetidflenw o mifl Caligd.
(A)  [A] s, gpemme [R] saum
(B) [A] wpmb [R] @raw(®id éfl; e [R] eremug [A] eramugpes
sRlwure elleTésD BV aremuig) &l
(©) [A] seup. [R] &
(D) [A] wppid [R] @ e (B afl; Gugnd [R] earug [A] er sflwmen
cfleTéaLd
(E) eflen Qs flweiieme

17
CCSEI-IAP25
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tg are true about the ijtf:en
r,-rl

93 Which of the following statemen

fras]

Finance Commission?
i has been inty
()  The criterion of demographic performance o

The criterion of Fiscal Discipline is given 10% weightage

(11)
(i) The criterion of Forest cover is replaced with Forest ang
- Ecology

(A) (1) and (i1) only

(B) (ii) and (iii) only

(C) (i) and (iii) only

(D) (), (ii) and (iii)

(E)  Answer not known

Liloapsrag A geeugoss updlu Gemamn sapmisefe) erency

2 @TaiowITaTenal 7

(D) wéser Asres Qewe Sneydsnen Lerefisar P PFULESSILL erars.

(1) A4 pusssdos 10% yerefiser aupiiaiiu@dns

(i)  sr@psefar Ly @i Gfieipey uhers srE 0OYD Gpallwd ergyin

Gfley 2P apsLUSSILL Perars

A) (1) wogo (i) @

B) (i) wpgb (iii) Lo (b

©) (@) wogd (i) wr @

(D) (1), (i) wpgw (iii)

(E) ofeni QsNweldena

CCSEI-IAP25 18 u
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24. Assertion [A] ' Justice Party opposed the Home Rule Movement

of Annie Besant.

Reason [R] : Justice Party feared that Dominion status would
give more powers to the Brahmins.

(A) [A] 1s true but [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation

of [A]
(C) [A] is false but [R] is true
(D) Both [A] and [R] are true but [R] is not correct explanation

of [A]

(E) Answer not known

EHssrd  oeeilQusdnyar  sarenid  QUESE®S
TS5

sy [A]

smyard [R] @ GQumbleflwer SibS6LS Qi mDeRTiTEEHS S e
sifsrrsHoan auphiss (b car Feue@UILLLg.
(A) [A] eamern parmed [R] seumi
(B) [A] wpmwp [R] @rea®id o gmenws Gogud [R] aarug [A] eipsrar
gflwmen elleT&&D

(C) [A] seum pemme [R] 2 aimrenio

D) [A] wpgwp [R] @rerHid - ETMD AT [R] earug [A] edpsner

sfluner eferésLd Blee

(E) ofle Qgfweiioene

1L 19 CCSEI-IAP25
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Addak47 A Googie Play
|

Which one is belonging to the Chapter Gratitude in Thirukkural?

Self control of senses, like a tortoise, focussed on results, affords

(1)

everlasting protection
(i) Equality is up rightness in thought and conduct always guided

by a rational mind
(iii) A friend in need is a friend indeed; do not forget him or forsake

comrades

(A) () only
(B) (iii) only
- (C) (1) only
(D) (1) and (i1) only
(E) Answer not known

Genaumeuareupmier erpss Gner Qaip parfludsd sifsrrsamss snibss ?

(1)  e@ewwydr @wGurd RisL se0 b
CT(LpENLOWLD Lo LenlGgl

(i) s@d aargem parGy LEHund
LUTHUL B st Qudler

(i11) wpeuhs wrepprr Caamano FnaHs
SIETUSSIET SILILITWAT B

A) () veee

(B) (i) v @b

(C) (i) wr@w

D) @), @) vEo

(E) efeo Qsfucidena

CCSEI-IAP25 20
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-

28.

26,

Mary is 16 years -1 T .
B b 1»-; old, ?\h{* 15 4 times older than her brother. How old
. en she is twice his age? r. How o
(&) =4 {i%) 24
(C) 28
(E)  Answer not known (D) 32
(Bl erem iflet
LD ol LIS ITHeET ﬁ'ﬁ}GLJ“mﬁUJ G'!,!U,ng ]ﬁ. .:mmﬁ'r ﬂiﬂlﬂ g;lhlq'-lg‘ﬁﬁﬂ G‘l".um_ﬁ Eﬁ-ll_

4 owuh@ duflueidr erefd :
QuflweueTns @ (ma @b Sun@@%éf:%uﬁg@mﬁg?ii’?mmﬁ ez eeme

A) 20

il (B) 24
(C) 28 (D) 32
(E) el Qafueidae )

Pick the odd one from

CGKO : BFJN : AEIM : FDKN

(A) CGKO (B) BFJN

(C) AEIM (D) FDKN

(E) Answer not known

Qar@éalulLapmer AsmLmdans apsmss sam_Hluiayb?

CGKO : BFJN : AEIM : FDKN

(A) CGKO (B) BFIN
(C) AEIM (D) FDKN

(E) oo Qsflweliéena

There are 5 machines that make 5 parts in 5 minutes. How long

does it take to make 100 parts in 100 machines?
(B) 100 minutes

(A) 5 minutes
(C) 50 minutes (D) 30 minutes
(E) Answer not known
1] el & el

5 Lrshgeer 5 HblL msatid sunrfsgoreme 100 apd
saflé swrflé@n?

(A) 5 Bl rmser (B) 100 Hiflruser

(C) 50 FlblLraser (D) 30 flflrusen

(E) efler Qaflueslrans

5 erpdlyraser
100 unshseeT 6reuelETey Bl

CCSEI-IAP25
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29 Match the following type

Match correctly the river and its

(a) The Krishna

(b) The Alaknanda
(¢) The Gandak

(d) The Brahmaputra

o

1o

@@ (b ( (d)

(A) 3 2 4 1
(B) 1 4 2 3
(C 2 1 3 4
D) 4 1 2 3

(E) Answer not known

Setreu(mid euansemwiLl QUNHHE).

places of rises.

Garwal Tibet border
Central Himalayas
Tibet

Sahyadris

20 LHDID Big 2 BHNGWL/awb QLifaear sflurs Qurmss) :

(a) Hmeiyemrm
(b) SB|QEBHST

(a () (o (d)

Aa) 3 2 4 1
(B) 1 4 2 3
© 2 1 3 4
D) 4 1 9 9

CCSEI-1AP25 -

: |

2
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30

31.

fﬂ [
Whﬂ un }’H S hﬂdﬂk Hmaj i“ I
d{ ti I,LH Sﬂt (-, 'L, 8 ;”:

(A) dyoti Rao Phule
(B) Sri Narayana Gupy
(C) Pandita Ramabaj

(D) Dayananda Saragwat;
(E) Answer not known

spw Games song-g 1873 g Garpmeflggeut winf?

A)  Ggrdl greu yGa

(B) B mrpmwent @m
(C) uemgs omumi

D) swrabs Freveus
(E) e&flenr GsMlweidwensy

Which among the following was the first Christian Ashram
established in South?

(A) C.F. Ashram at Pachalur
(B) Christukula Ashram at Tiruppatur

(C) Zion Prayer Center at Madurai
(D) Dyana Ashram at Chennai

(E) Answer not known

EpsnamUameuhpIeT gl QspE UGG HpeunuiL Aflevgien ewider

Wsd ZHFATOL?

(A) &.eru. < Ao, LIF@T
(B) Aflevgi@e BFTOD. Hmuussnt

(C) ACwrer FTHS®eN @D, LSIOT
(D) Suwrenm oL, Qaenanan
(E) eflen Ggﬂmaﬂlmmm
23 CCSEI-IAP2
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ectives of Tamilnadu safe apg

32. Which of the following are the .DbJ a0
Ethical Artificial Intelligence Policy, :
r the evaluation of Al systems beforg

(i) To establish guidelines fo

its rolled out for public use
ted access to open data, data models ang

(i) To provide restric
computing resources

(iii) To promote investments in AIR & D in Tamilnadu

(A) (@) only

(B) (i) and (iii) only

(C) (1) and (ii) only

(D)  (i1) and (iii) only

(E) Answer not known

Epapaeapyer aoa sBPEIE LTgsTULTET wHnb ApHlpan Csuhos
ni@namiles Aanarans, 2020 Ger Crrssmiser @b ?

() Qungwssefiar LwerLM W bHe, SQFLLgHE perent  QEupHens
nenamile qpepsmers dpermiey Qe aflar_ B Qpdlepenpaamen
UG ss Geuair(Hib

(1) QaeltiueLwrer  grayser, grey wrdflser  whHmIb Blenemruicufl
SMESEES USDTUNSSILLL gunderwy QULDMBIEH S

(1) sOPppr g Qd‘fu.rjj}m& mewerTdle] oy rmiiss wHmb Cubumigpharer
wadPsmer Figsd

A4) @) v Ew

B) () wpgud (1ii) wr P

(€) (@) wdmw (i) wr Ew

(D) (1) whgo (i) L (b

(E)  efen Ggfweildena

CCSEI-1AP25 -
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A Enogie Play

L hich of the followi -
33. w OWing articles on Fundamental Rights is incorrectly

paired?
1. Article12  _ Definition of State
2. Article21 - Right to Education
Arti -
3. rticle 34 Power of the Parliament to modify the rights
4. Article35 —

Legislation to give effect to the provisions of
the fundamental rights

(A) 1and 4 only
(B) 1and 2 only
(C) 2and 3only
(D) 3 and 4 only

(E) Answer not known

SipssaL SigluemL 2 famwesdr Agriurer SifeemwUy a9 B semer sflunsd
AumMmSSILLTS EenewT eTg)?

1.  spsewuy fd 12 — srdar aeruep

9.  wpsewiy elf 21 —  sodll 2 Menio

3. myreewly e9f 34 — SigUueL o fepwaafi@ wmHod Geuub
prLrEswanpsdarn o flaw

4. genwlL 18 35 — Sigliuent o Mepn&eT 2 6TaT B|IDIFmISENETT

Qswaupss s Blubme

A) 1 wpgd 4wLO
(B) 1 wpgd 2 wLE®
(C) 2 wpgd 3 wLH
(D) 3 wpyd 4 W
(B) ofenr Qaflweiicoed®

25 CCSEI-IAP25
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Adda@ﬂ’latch the following schemes with their respective ben A Google Play

(a)

(b)
(c)

(d)

(A)
(B)
(©)
(D)
(E)

Babu Jagjivan Ram L.
Chhatravas Yojana

Atal Vayo Abhyuday Yojana 2.

Pradhan Mantri Jan 3.
Vikas Karyakram Yojana

Pradhan Mantri Janjantiya 4.

Vikas Mission

@ (b © (@

3 1 4 2
2 3 4 1
4 1 2 3
3 4 2 1

Answer not known

Scheduled tribes

Minorities
Scheduled castes

Senior citizens

Slemaupid S risener 2bFHES S L tusef e LwerreflsEni e Glummsg:s

(a)

(b)
(c)

(d)

(A)
(B)
(©)
(D)
(E)

UL gRagloueh nmb &&ymeumei 1.

-3 [T,

SiLed awCur oiusGs iy 2.
Slgsw wHHM mer elsren 3.

asriwdlyn L ib

Slyso wHAM meremeg wi 4.

eflEmey @wéasid

@ (b)) (@ (@

3 1 4 2
2 3 4 |
4 1 2 3
3 4 2 1
eflen GgMNweldena

CCSEI-IAP25 26

U igwieblers Liypriigiq uSleir

Smiunerenou e

UL ig wieblems sndlaer

oS Gqloésar


https://applink.adda247.com/d/XhqWf9lSap

Adda247

15

;‘\55@1‘1’ 101 [f\]

Reason [R]

A Eondle Play

During ¢« -
Madhf—- 2001 to 2026, for the states Bihar,
€ ) 3 1
i ya Pradesh, Rajasthan and Uttar Pradesh,
Population is expected to increase by 45-55%.

More th;
than half of demographic transition is
expected during that period.

(A) [A] is true, [R] is false

(B) [R] is true, [A] is false

C) Both [A

© oth [A] and [R] are true; but [R] is not correct explanation

of [A]
(D) Both [A] and [R] are true and [R] is the correct explanation
of [A]

(E) Answer not known

o¥ulu] [A] s, wsHwbyCasb, @ rsgeugren Wwhmb
2 587 Cssd Hw wrHlemsafieo 2001-2026, sme
s L&HD, wesaTbzTas 45-55 sgeish HsMs@0 e
wHdL Ul perTerg.

smyemid [R] QU LGS LT &5EASTS auaTFsl sLL WIDDREET
Qb5 prfomsdfio G55 stogde Hswd e
sepflsasl L (HeTeTer.

(A) [A] &fl [R] soug

(B) [R] &l [A] pug

©) [Alb f [Rli> sft; e [R] acmug [Al66 sfure SRR

D) [A] wpgis [R] @ras ot [R] as (A &6 S SAmEe

(E) oflenr Qg Mweiloame®

27 CCSEI-IAP25
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36.

37.

orgetting what th,
When one sees the person who taught not forg 8 by

taught is dealt in the chapter |
(B) Hopefulness 1n Trouble

A) Detectives .
| (D) Benignity (perspective)

(C) Tyranny of rule
(E) Answer not known

‘senClarm® uuleTnrengd HERTLTED BjGuiT |
smfluer opés wrLrew - adén QurEnamLw SFHSTTD g ?

(B) @Gssenr 2ufluneo
(D) samGemrm_L b

(A} ERHMTL_6D
(C) Qar@rGsrearenio
(E) eflen Qsfwelidrene

“Ozhukkaaraak Kolka Oruvandhan Nenjaththu
Azhukkaaru Iladha Iyalpu”. What is the meaning of the word
“Azhukkaaru”™

(A) Love

(B) Submissive

(C) Jealous

(D)  Good Character
(E) Answer not known

“@upsarnné Aerdrs P(Heuengen Glperess)
Sipsemy Gers Gudy” - egyib Goafléd  cumid ‘Dipsany T GHTLIG 6l
Glummer wmg?

(A) ey

B) siLssn

(C) Clumrmrenin

(D) LIemoTL |

(E)  oflanL Gafluwellcvena

CCSEIL-IAP25 s )
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g8, Arrange the fulluwing events in chronological order :

(1) Salt Satyagraha

(2) Swadeshi Movement

(3) Quit India Movement

(4) Non Co-operation Movement
A @), @), @), 3

(B) (4, 3), (2, (1)

©€) (2),@3), (1),

D) (@), @, 1), 3)

(E) Answer not known

Qénaumid Hapaismes s afl@siudsss.
(1) ey spdundysd

(2) &Gz Quésd

3) GadreauGar QaellGuy GuEs
1) gsp@uUIEL GuUsD

@ ), @,®,6

®) (@),®3),®, D

€ (@,®,1),®

D) (2), (4). (1), (3)
(E) oflevL Q}srﬂmaﬁld}mm

CCSEI-IAP2
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39 Assertion [A]

Reason [R]

A Google Play

ts live on their prize money. Most of th

Some poe _ l
e their own professions. They dony

poets hav
depend on prizes.
ke a living out of their prizeg

When poets who ma | |
ue / below their expectation:

get prizes of low val
they reject it.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true,

but [R] is not the correct

explanation of [A] 18 correct

(C) Both [A] and [R] are

of [A]

true: and [R] is the correct explanation

(D) [A]is false, [R] 1s true

(E) Answer not known

spm [A

smyerd [R]

Leveuiigefled AaCry ufléled GUMLP&EN&ENIL
Guoh Cs ey mHSar. Qu(mburGemi FHFH0EE,
afmriuwrer Asnidsmens Qeuig umpey BLSSeni.

ufifle  anpseseawu  CoplstenCLrr  s5@Hé&&s
GHODEUNE ufla BSwCurg b P& il
efigsCurgd  onQummerer  gésCwear  wHHF
LopISSent.

(A)  [A] af, gyamed [R] seum

(B) [A]l vomo [R] 9du @ran@o s, aeméd [A] sfl aausHE

|R] sflwren eflerésinde

(C)  [A] vpgo [R] wéw Grem@n &M whmyn [R] peng [A] efpsmen

sflwrer eflards @b

(D) [A] seupreng, [R] sflwinang
(E)  dflen QsfMweldrenan

CCSEI-IAP25
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10. Match the following ang find out the

(a) Abiotic component |

(b) Bagasse

2

(¢) Carcinogen 3.
(d) Carnivorous 4.
@ G © (@

A 1 2 3
B 2 3 4
© 3 1 4
D) 4 1 9
(E)

(VI o =

Answer not known

A Enogie Play

correct sequence.

The crushed cane after extraction
of juice

Animals that feed on other animals
Non-living component in an eco
system

Toxic organic compound causing
cancer

Spsam_aupen Qurmsgs wHpd Gogid sfurar afles popemwu sreEms.

(a) 2uWbyhp Gumrmer 1.
(b) smLUE s&OS

(c) snierdlGarmggen

(d) oo emeanf 4.

@ O © @

@a 1 2 3 4
(B) 2 3 4 1
€ 3 1 4 2
D) 4 1 2 3

(E) ofle Qpfluciioe

srm 9505088 YnE CETHSSUILLL
(B

wHp dlebiEGsmar o amanb ellanEser
Gdlud e wsHd o dar 2 WyhHo
Fa. )l

LHDICHrew T TEGD BHESHE &l
FHENE
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uests of Itutmish 1n Chronological orde. .

41. Arrange the Cong
(1) Bengal
(2) Bilsa Fort
(3) Gwalior
(4) Ranthambhor ). (@), (@)
B) (1), (3), (4),
@A) ), 2), @), (@) ( ;
© @), (1).d.® @) (4, @), @ (1)
(E) Answer not known
@éPley-ear Qeupdlaemars sraeuflasiubss)s.
(1) eumsmend
(2) Qesr Gasm eni
3) Geardwi
(4) gremgwGun
A @), ®2),®3), 1 B) (1), (3), (4), (2)
©) (4),Q),(3),©® D) 4, (3), (2), (1)
(E) e&fer @sflweldrane
42.  Which of the following statements are true about the Houses at
Mohenjo-daro?
(1) It was discovered in Montgomery District of Punjab.
(i) Mohenjo-daro the houses were made of Kiln-burnt bricks.
(i11) Kiln-burnt bricks in large quantities were used for drains.
(A) (1) and (iii) only (B) (i) only
(C) (i) and (iii) only (D) (ii) only
(E) Answer not known
gﬁfﬁgﬁn@umﬂ@mm aiGamers  Lblw Slemeumud Spoiseiles erg
{1) @& ugrsmlenr wram CamQuwfl reul Lsle aaahr@ﬁlq&.asuui'_l__gg,
(11} Q%nngm@aagnemreﬁldz iPser 61 L Qemispaerme D TEnal,
(1ii) Efl_L.. Camshaer oifls serefd UG ETDEEHEG LweTLO S L ar.
(A) () wpgiw (i) wrEo B) Q) veen
© @) wpgo (i) we po D) (i) v Gis
(E) der Qsfuideama
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43.

ith reference to the ; )
Wi o A t‘h(* functional items placed within the purview of
municipalities, consider the following

(i) Regulation of slaughter houses and tanneries

(i) Safeguarding the interests of weaker sections of society

(iti) Small-scale industries, including food processing industries
(iv) Technical training and vocational education.

Which of the above is/are correct statements?

(A) (1) and (iv) are correct

(B) (i1), (11) and (1v) are correct
(C) (), (iii) and (iv) are correct
(D) (1) and (i1) are correct

(E) Answer not known

parrfsafler ao@asEa @aussiulfder Gewdur (s S| SDETL
Qurmisseuey, WerameauareupeDs sHEHD ardrs.

() @epsfs smLmsar wppd GCsrd usalGD QAgmpharesamen
RUHGUOSSISS

(i) sepssder uaaianorer Gflafldr padsmaT LTHSTHSD

(1i1) e emre) UBLUHSSHID Qg miflevser o arefl L Sp serelenear Ggmldsdr
(iv) Gamfeomru LuiHél wHHID Qsmhaded

Cuhéaar_euhmieT 6Tg)/eTame FRlwmareney ?

(A) () wpgpw (1v) sfwreael

B) (i), (iii) wpg> (V) FRlwrareal

(C) (@), (111) wHod (iv) sflunramea

D) () wpgwp (11) efureraal

(E) ofer @afluciideme
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Parliament has exclusive power to make any lay

44, Assertion [A]
with respect to any matter not enumerated in the

concurrent list or state list

Reason [R] VIII schedule of the constitution contains union

list, state list and concurrent list

(A) [A] is true, but [R] is false
(B)  Both [A] and [R] are true; and [R] is the correct explanation of [A]

(C) [A] s false but [R] is true

(D) Both [A] and [R] are true; but [R] 1s not the correct
explanation of [A]

(E) Answer not known

sapm [A] Qurgitiul g wHmwb wrbleou uligud o uemhble

FpUULNS @larhiser GQsmifurs &b Quppib apayp
2iflarysslenan LT (@RLOGT DD G&rras‘w@é'rm@

amyesib [R] : Sige@winler VIII-eug @i euenesr. WSS L guied
wrble UL iguid WHDID  CUTgIGLC gwd 2l weuhenm
Clsrerr(Hererg

(B) [A] WhHmith . . ;
Gﬁ]mé;a;mg_y [R] @UWG]LD Erﬂ, Gtﬂgllm [R] GI'EEFILJ@ [A-]ﬁi@ Efﬂmrrm

©)  [A] saupy, wyemmes [R] &1

D) Al vpp [R] grawpo : - _
T &nl; yarrey [R] ereruig [A] -&@ sflunar

(E)  efeni Qs flueldene
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40.

v

-

A Eondle Play

Consider the followj 3
Ng statements about Women Helpline. Which

: :
among the following statement ig incorrect?

(A) Provide toll-free ¢
€e 24 hours telecom service to women affected by

onflicts ¢ 3
conflicts seeking support and information

B) Facilitate crisi ORI

(B) crisis and non-crisis intervention through referral to
the appropriate agencies

(C) Provide information about appropriate support services,

government schemes available to the women affected by

violence

(D) Provide integrated support and assistance to women affected

by violence in public spaces only

(E) Answer not known

Quemae 2 g6 eram LHHW GeTaUBLD SmppIS®ETS STETS. S emeu(meuareudled

ey STlLTETSHEDM ?

(A)  raTuBeuse, urdasrul L QUETSERES  BBTH HmILD
gaeupsmes GCaBLD 24 wefGpy sLLamdoon Ggraas @gmir
Geemeuenil GULPMHIGSD

(B) Qumnmggomer HpeuarmbsEhsd Ul HEITUILISET EPELD QEB(m&sy. LHHID
QBHESl OV gaaui e areflGTéH@GHSD

L Quangné@s SoLsGL QummSSLTEn

(C) euempenpwimed LrdldsuLc
- g UpPIL SEQIDSMET QIPMEIGSD

o576 Caemalsd, 2i&H

(D) Qung @uﬁa&aﬂd} oL (D UETEP®DLITE urdssiul L QuaTsEES

porbmants 7ol POOL 2 geflaw QIPBGHD

(E) eflenL Qg Mwelieee
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46. Match the following :

Schemes
(a) Kalaignar Magalir 1.
Urimai Thittam
(b) Tamil Puthalvan 2.
(c) Vidiyal Payanam 3.
(d) Pudumai Penn Thittam 4,

@ (b (© (@
(A) 3 4 1 2
(B) 2 1 4 3
©) 1 3 2 4
(D) 4 2 3 1
(E) Answer not known

A Enogie Play

Beneficiary

Woman to travel in Goy
bus at free of cost

Woman college students
who studied in Govt.
schools till 12th standard

Woman head 1n a family
College students who one
studying in Government
and Government aided
colleges

Sereumeuareupenm sfluwins QurmEHs s Layb

AL

(@) soaEyt wseali 2 flevwng S 1.

®) 589 Lswaen 2.
(€) eflquidb Lwerrid 3.
(d) ygi@wr Quer UL ib 4.

@ ® @© @
2

(B) 2 1 4 3
4

1

(D) 4 2 3
(E)  efeni Cafweildena
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43. With IjEfEI?E_"m to the functional items placed within the purview of
municipalities, consider the following

(i) Regulation of slaughter houses and tanneries

(i) Safeguarding the interests of weaker sections of society

(i) Small-scale industries, including food processing industries
(iv) Technical training and vocational education.

Which of the above 1s/are correct statements?

(A) (1) and (iv) are correct
(B) (i1), (ii1) and (iv) are correct
(C) (1), (1) and (1v) are correct
(1)) (1) and (11) are correct

(E) Answer not known

paTL fsaflen eTeeas@GdT @eaussliiul Herer Gewdun (s seeliLsard
Burmisseueny, Yereumeuareuhenns smsdld Qsmdrs.

(i) Bepsfls mimsar wHgnd GCsrd usal@nd CAsmfihstewsamar
LPRGUHSHSD

(11) sepssdlen veeiarorar Gfleller padmens LTGSTHSED

(iii) e ewray LSLILESSH D Gempdsdr e defl L fp ereilorer Cgmldosdr

(iv) Genflepru LGpd whpib Qpmfipsded
Cupsseam_eupmier eg)/aae sfluramee?
(A) (1) wpgd (1v) sflwrareme

(B) (i1), (iii) wpmbd (v) sflurareeu

(C) (1), (i11) wpmpd (iv) sMwrerea

D) Q) wpgw (1) sfuraramel

(E)  eflar Qgflweilerenss

CCSEI-1AP25
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44, Assertion [A]

Reason |R]

A Google Play

Parliament has exclusive power 1o make any law
with respect to any matter not enumerated in the

concurrent list or state list

VIII schedule of the constitution contains union

list. state list and concurrent list

(A)  [A] 1s true, but [R] 1s false
(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]
(C) [A] is false but [R] is true
(D) Both [A] and [R] are true; but [R] is not the correct
explanation of [A]
(E)  Answer not known
i
sapm [A] Qurgutigwe wHmb wrflet Ul gud SdSuanla
SpLLLIS @enhsdr Qsm_iurs sl @ubmid e
2flsnysdlenar umpm@Esweamb Qsrar(erars
amyexd [R] : sifgowvndar VIIl-ag e oo, wsdu urgque,
wrflo uCgwe wHmD QuTgLILL LW Y Swauphem
g meir (Hlareng
(A)  [A] &fl, gyarma [R] saugy
(B) [A] wpgw [R] @ranpo s Gugub [R] eretrig [Alss sflwnen
eflenésih.
(C)  [Al] paug, spama [R] o
(D) [A] wppn [R] Gran®io &fl; oyemmd [R] ererLigy [A] -&@ eflwinen
efleréaineven
(E) efeni Glgfwelldene

CCSEI-IAP25 5 .
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A Enogie Play

Consider the following stateme

49. nts about Women Helpline. Which

among the following statemeng 1s incorrect?

(A) Provide toll-free 24 hours telecom service to women affected by

conflicts seeking support and information

(B) Facilitate crisis and non-crisis intervention through referral to
the appropriate agencies

(C) Provide information about appropriate support services,
government schemes available to the women affected by

violence

(D) Provide integrated support and assistance to women affected

by violence in public spaces only

(E) Answer not known

Quenaer 256 erer LpHlw Gemeumd smpmsemears srams. Gereumeuaneuhpld

ey sflwrangeie ? |

(A) remu@eusred, undsstulL  duansErée — wHTe  LHHID
gaeudsmens GghHi 24 wafllGpy & Lamfoeonr Qsrows Csr iy
Coencuanil aULpBIGSHD

(B) Qurmssworer Hpaueansenrse Ulibgamriugdn gpad QABHESG WHHID
AnHEs, SOOMS sMUILmL eraflgné@ase

(C) euengperpwined urHésuiLLL QuemgnéEs HoLs@n Gunmsswonar
o576 Coeneusd, SITHS s updlu SseIDS@ET GUPEIGSED

(D) Qurg @Lruselle G eud@pepuned uTdssiul L CueTsEhsE
GrhAoahs H1a| PHPID 2 Fl@L UPHEHS

(E) oflenL @sMwellcrend
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46. Match the following :
Schemes
(a) Kalaignar Magalir
Urimai Thittam

(b) Tamil Puthalvan 2.
(c) Vidiyal Payanam 3.
(d) Pudumai Penn Thittam 4.

@ (b @© (@
(A) 3 4 1 2
(B) 2 1 4 3
C) 1 3 2 4
(D) 4 2 3 1
(E) Answer not known

A\ ooale Play

RBeneficiary

Woman to travel in Goyt,
bus at free of cost

Woman college students
who studied in Govt.
schools till 12th standard
Woman head in a family
College students who one
studying in Government
and Government aided

colleges

Sereupeuaraupenn aflwns Qurmsds sm i ey

™ - [N
(@) st wsafli e fows Lo 1.
(b) &8 yseuen 2.
(c) efliqwe Lwemtd 3
(d) ugewr Quair Hc i 4.

@ (b)) (e
(A) 3 4 {1] (gj
(B) 2 1 4 3
C) 1 3 ) 4
(E) eflen Qg fweildena

CCSEI-IAP25 -
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47, Arrange chronological order/event -
(1) Mahalwari system
(2) Ryotwari system
(3) Zamindari system

(4) Gramdan movement

(A (4), 3). (2), (1)
(B) (3),(2), (4), (1)
©)  (3).(2), (1), (4)
M) (2), (1), 3), 4

(E) Answer not known

gpsa_ Bapasmer s1o ailosiubsys |
(1) wapsarl genp

2) Tusgeril peop

(3) gbargnil peD

(4) ybigrend QOO

A) (4),3), @), Q)

B) (3), (2, *, 1)

C) (3),(2), D), (4)

D) (@), (1), ), ®

(E) oL Gsflucid@s

CCSEI-IAP25
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AddaRY7)

true about the rationalig

; A : A T . T 3
48.  Which of the following statem ﬂt-"r*‘""‘mre ised by Periyar?
marriage system ‘Self Respect Marriage’, devised by I'e :

The Self Respect Marriages were cnnd_ucted without any
priests or chanting of the rituals in Sanskrit.

They were often deliberately conducted in times considered

(1)

(i1)
auspicious. I

(111) They did away with thali-tying ceremony.

(iv) The couples took oaths promising to treat each other equally

and as friends.
(A) (1) and (iii) only
(B) (1), (ii) and (iv) only
(C) (i), (iii) and (iv) only
D) (), (1), (iii) and (iv)
(E) Answer not known

Quflurt ey euegs swoflures  Hmward e : j
_ D uGssdes
Smwensenss ublu lerau(mib snhmisefd agl/erevey sflwineang 7

1) swofuress gmoartsdr s e i
: LETHSERD  @eemnd e
soadlmesdler sLki@aer o seMariLL mod BLESUILILL ar. -

1) e Gumburgib GeenrGQuwearCn wiiser ; : -
Goymsefler pLssiu Lan. = il L

(i)  euirser gredl s @b eflprencu @fiszari.

(1v) z;}iaa;ﬁ ggﬁff%ﬁ:; r:mmrraaqm PRTUASTTSEID  BLSgicusTs
(A) () wogw (iii) WL {Hib

(B) (i), (i) wpgd (iv) v G

©) @), (i11) wpyo (iv) L [(ih

(D) @), Gi), (111) whyb (iv)

(E)  efleor Qsfluchiorame
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49.

Match the following customs with literature :

(a) A custom performed by an 1
unrequited Lover ) '

() A custom of mixing Palmyra 9

sugarcane juice with coconut water

(¢) Custom of offering crow with 3

white rice and Ghee

(d) The custom of painting the walls of 4,

private houses

@ M (o (d)
A 3 4 1 2
(B) 2 4 1 3
C) 4 2 1 3
m 1 4 3 2
(E) Answer not known

A G;:o.glh Play

Kuruntogai
Manimegalai
Tholkappiam

Purananuru

Gemeu(mld LSS eupsshsamer Goddlwubgi e QUTHSSED.

(a) uyY eunmang srgoamed Geutiu@n
@ UPSSLD

@erhiflé) Lienear LHYLD SHDLEFTD)
G fucphenns SOEEGD PSS

(¢) Qeusrever & wHMD GBILL 6
s&masE aplagud GELD QPsSHD

(b)

(d) aS@safer seuisafld @efwid SHD
QULP&SLD
@ @® © (d)

A) 3 4 1 2

(B) 2 4 i 3

C) 4 2 1 3

D) 1 4 3 2

(E) oafar Qsflweilicoes

39
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-JAdda247
i

g - - r}

A) 770 (B) 677
ECJ} 869 (D) 481
(E) Answer not known

A1B4C9DI6.....Z676 erar erpgaid Gurg P oppib Q-gpé @smiguiugy
Tensailer Gongs wéliiy eremer ?

(B) 677
A) 770
(©) 869 (D) 481

(E) o Asfuciideame

51.  Given below are 4 pictures of a cube.

P PP E

IV
Which number is ont

he face opposite to 3?
A4 1 (B) 2
(C) 4 D) 5
(E) Answer not known

£Cyp prene; SHEHITEISET QT de " Herarear

PP @

IV
& e8lCr o_grar Ubs5 86 QUL ores
(A 1 B) o
B D) 5
CCSELIAP2;s
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Which of the followine
of 52. . ollowin : .
(A) INSAT 3D 19 the first Indian Geo-Stationary Satellite?

() IKONOS 1 (B) LANDSAT 8
(E) Answer not known (D) QUICK BIRD
Gereueuateup e erg s
(A) INSAT 3D

(C) IKONOS 1

(E) alilenL_ G,ﬁfﬂuﬂﬁ}mm

S Yellanit QewmenasdBanar;

(B) LANDSAT 8
(D) QUICK BIRD

53. Who among the following tribes act as cattle keepers?

(A) Dhimor
(© Rawats % o o
(E) Answer not known

Slereu(bLd LLpkIG I uSen ) wir srapen Lgmofluiureriseans QLR priad ?
(A) Swoni (B) Gseum av

(C)  peumiev (D) Géav

(E) eflenr Gsflueldena

54. Assertion [A] : Development of a nation depends on
infrastructure facilities.
Reason [R] : Transport and communication are the back bone

of economic development.
(A) [A] and [R] is true and [R] is correct explanation for [A]

(B) [A] is true but [R] is false
(C) [A], [R] is true but [R] is not the correct explanation of [A]
(D). Both [A] and [R] are not correct
(E) Answer not known
an.hmi [A] IBTLlg 687 euariéd) o sl LewliL| ausdewd sribsgl.
g Cure@EuTds LOHHID Qgrev@@gniny, GummaTTgmy
N mmr’r&%uﬁls&r P& AsgIbUTELD.
(A) [A] wpmpb [R] sfGuw, [R] sanen Wlsé gflwrar ederssd [A] @b
B) [A] sf wyeme [R] seip o
EC; EA} [Rﬁlrﬁcsu, YT [R] [A]ssrer sflwmar Metéswie
(D) [A] wpmw [R] @ranpd oD
(E) oflen Qprﬂmeﬁlcﬁmﬂ)
41 CCSEI-IAP25
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55. Which of the following statements are true?
(i) The National population policy, was promulgated in
1976.
(i) Included provisions for health care, nutrition and more st

on Education for girls.

(iii) The goal was an eventual average family size of two childre

(A) (i) only correct

(B) (i) and (ii) only correct
(C) (i) and (iii) only correct
(D) (), (ii) and (iii) correct

(E) Answer not known

Seraumib Siflsmssefa g 2_GHTEDLDUITEN ) ?

(1) 1976 gligedled Caéln D& S 6T Cgrenss BETG
SysLeiu@g$surLg).

(1) @& ssngyb, 26rL_L &858 wHmbD Cluiehr Gpbagsailer shalilss <
Yé&Elwggiaud sefsdng.

() @ser Qose Gndule Qran® GYbessmers Qamer, synefl &6
Srerauns @npss.

(A) (1) wrEw &

(B) () womb (ii) LR &

(C) (1) whmws (iii) WL &

(D) @, (i) b (1i1) #f

(B) oL Qsfuaidme
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Assertion [A]

A Enogie Play

A .
remarkable difference between China and India

was : 243 1
D!Jserved regarding mass politics around air
pollution control.

»ason [R : ' :
Reason [R] ?hll}ﬂ ?mploylng the approach of Historical
nstitutionalism to control air pollution.

(A) Both [A]_ and [R] are correct statement; [R] is the correct
explanation of [A]

(B) BfUE?E] [A] and [R] are correct; [R] is not the correct explanation
0

(C) [A] is correct; But [R] is false
(D) [R] is correct; But [A] is false
(E) Answer not known

Spaumd by [A] Hpd STyEmD [R] sfammenas s@gs. sfunan eioLmu

Csb0g[H&s.

spm [Al . sTHm  LOTELTLEL s OUUASuED  FameilH@wd
@pHwraildESLD Ao Cu  QuEED BlarQuiflw
Ceugumnengl, SHSD GBS (H&EIg LI Qeu@mer
oA UTE@D eTaTIMmS ST WPyEng.

TEEn&L aL@Uu@ﬁgjsu@éu Fetm GuUTHM ﬁlgtmm

i . sTHH L

smers (5 g pepe LwerLHESuECEUTGD

(A) [A] wpmd [R] ered @ya sappd & [R] eremuigy [A] & sflwnen
I ARG E

B) [A] wppw [R] &P gran@w &fl; [R] aeng [A] &g sflwren
eler& e

(C) [A] eretrugl gf: [R] aerig geull
D) [R] erarg &M [A] @S 5D

(E) eflent QpMweioane
CCSEI-IAP25
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expressly  cast any

51-A does not

T

o7. Assertion [A]: Article

fundamental duty on the state.

Reason [R] :  The duty of every citizen of India is the collectiy
duty of the state.

(A)  [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanatigy
of [A]

(C) [A] 1s false, [R] is true

(D)  Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E)  Answer not known

sahm [A] - epuy 51-A wwery QevefltiLen wins AATEDG SigliuaL

sLawsamer elilflssedwana.

stremd [R] :  @gyuwasdr peudeunmelmeEupeer &L eivaecyr Qgm@iGu
117§\ 6ir SLEDLD&ETT()1D,

(A)  [A] sapy s amed [R] sryemrip Baum)

(B)  [A] smpmy wonbd [R] sryewns QuerHin & opmd [A] sapmssren
[R] sryemrin &

(C) [A] shm saum, [R] snyewnn s

(D) [A] mhm whmb [R] HMyed @rem@in g parmed [A] Fo D MBS TE

[R] smyemrn &au)

(E) efenr Clgflwielldane
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(i)

(i1)

(iif)

(A)
(B)
(©)
(D)
(E)

S

among various castes

First Backward
: class commiss;
of Tamilnadu was appﬂint33851nn

Ambasankar Commission

Report on Tamilnadu Backward
classes Qommissinn justifying
the existing reservation

(1) and (iv) only

(11) and (111) only

(i) and (i1) only
(i11) and (iv) only
Answer not known

sflurer Qurmsshsmer Gsiray dalwed

()
(1)

(111)
(iv)

(A)
(B)
(C)
(D)
(E)

LaCeaup sduderfla Gu HlusnanL
LflTaussnar (Pa® aGLLMTS B

HUOPHTL g (PSD QpuESSLCGLIT
au@GUY 2, EeRTILILD Hubssuu-t-8

S|LDLITFRIST <2, e emT L b

sHGungETeT QL LI

HumuiuGss sOPBTO

QpuEEsnLCLT BT
(i) wpgd (iv) w6
(i) wHpD (iii) wGP
(i) wpmid (i) G
(iif) wppi> (V) -0
S @'ﬁmm@ﬂ@mm

o

wi a@émﬂi

45

% AG;:IDgl{E Play
i

8. Choose the right matches

1920

1970

Reservation totalling
to 69%

—  8th July 2011

— mlYal

— 1970

— Qurss @L 986506 69%
—~ 8 gYaa 2011

CCSEI-1AP25
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59.

60.

Why Business Firms choosc Tumil Nadu as their prefery,

s 5
destination for investment.

(A) The State of the Art Infrastructure

(B) Tax Concessions
(C) More number of unemployed

(D) More number of graduates
(E) Answer not known

cuerfls Blpieueriisdr ger gWlbETLaL sl gh@ ef@uuwnrer @
Cairey Gewdlerper?
(A) peler o s Lenoli

(B) afisgsguemsser
(C) sifls aamaflsamas@anar Caumauidens Qsmblemerisar

(D) =fls qarafsms@orear UL grlgen
(E) eflen Qsfwelcrenay

Name the scheme, a Tri-ministerial effort which includes Wom¢
and Child Development, Health and Family Welfare and Hum:

Resource Development.

(A) Integrated Child Development Scheme
(B) Child Development Scheme

(C) Beti Bachao Beti Padhao Scheme

(D)  Smart City Mission

(E) Answer not known

Quekrser whHm i : : o _ | _
ouipan Coourt) g humarson o s el AT €L 5
PUDES AL ib ergyr

(A) ﬁ@ﬂﬁmmﬁﬁ GYhos Qe S Lib

B)  spieos QuaTi&élg &1 n

©) Gury LssnGaun Culy ugTGeun gl L1

(D) v efh'_[q_ AL b

(E) e&fenr OsAwueldeng
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Achieved growth rate E n
A of Eleven v a
*venth Five Year 1
plan is

61-
(A) 8.2%
B) 9.0%
(©) 10.0%
D) 7.0%
(E) Answer not known
11-aug BEoTeH5 S 58 e s auarisd aldsid
(A) 8.2%
(B) 9.0%
(C) 10.0%
D) 7.0%
(E) ellen Ggflweldana
9. According to Ragner Nurkse the starting point and continuation for

development lies In
(A) Organised money market
(B) Increasing the rate of capital formation

(C) Technological growth
(D) Removal of dualistic economy

(E) Answer not known
ar sHSEUIU penCanppsSpsnar LD HEILD
e auflgped eTeTLS) D}GLD.

gréent myibey Seunse
2jeuHEDS Qﬁrrrr@@uﬁﬂja;
(A) EgrssliuL Ligré FHeNS

(B) mposar E&50S ofsrLSEVS

(C) Qgmfer p-t cuartéél

(D) @ enu Qun@mn,srrq genwrmu D EDHMIFED

(E) efen Ggﬁlmeﬂwﬂ?w
CCSEI-IAP25
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63. Assertion [A] : The company asked the Collector of Ramnag t

Summon Kattabomman to his office at Ramnaq

Reason [R] : Kattabomman was asked to meet the Collector

connection with the arrears of tribute that p,

owed to the company.

(A) [A]is true [R] is true

(B) Both [A] and [R] is false

(C) Both [A] and [R] are true; and [R] is correct explanation of [A]

(D) Both [A] and [R] are true; and [R] is not correct explanation of [A]

(E) Answer not known

spm [A] <2, Caw s@ueflwreriger eSTumamiwis
sLLGumbwerer GrroprsLrss 2 Swimerflen
SAPauss o gpmrmEonn Csl (aQsTarm i,

smyemrd [R] udGaw  svQualunmes s Ceuatmgws &L
;fligmmuﬂﬁ} @mriugmea o Slwirerany shdlé@omy
&L Qumbioer CaL_&Qamaremiuc_ i,

(A) [A] #A, [R] s

(B)  [A] wpgs [R] seugy

C) [A] wg - ; :

©) [A] wpgn [R] sf: Guogib [R] aetug [A]l aisE sfiurer efarést

(&b
(D) [A] womu . - .
) [A] whmib [R] &f; Gm@ym [R] GTEHLIg, [A] &G sflwner allarésd
Bjebe)
(E)  dfle Gsfuciicrana
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) Which book features the gepiee «
al. 1 . SCres I'lﬁ;.{aivar puu fxarga""
(A) Natrinal |
(B) Kalitthogai
(C) Aingkurunuru
(D) Purananuru

(E) Answer not known

Lepsalil L hi1a aayib Agm i @ bEuhmdrer me

(A)  podlene
(B) sdstgmens
C) BGLID
) UDBETEID

(
(D
(B) eflenr Qgflwalbenas

Who gave special importance to Village Administration?

(A) Cheras

(B) Cholas

(C) Pandyas

(D) Pallavas

(E) Answer not known

| &lymo ﬁ@mmg@éﬁ@é Sprndb QarHEGEHT

(A) Gangir
| (B) Gampr
(C) uneirigwir
(D) vLeeeur
A
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66.

Assertion [A] : University |
the new subjccts and situation they encounter.

i 38 age concept,.

University professors encourag Ptus,

Reason [R]

students think more critically ahﬁu,_

learning and understanding of the new subjg,

concepts at the primary levels.

[A] is true but [R] is false

(A)
(B)  Both [A] and [R] are true; and [R] is correct explanation of [A]
(C) [A] is false but [R] is true
(D) [A] and [R] are true, but [R] is not the correct explanatiop
of [A]
(E) Answer not known
sapm [A] yw LML BI&eT WHmIDd HElwe Gphlanaisaa
adlifQsmer@pd  Aumps UESNESHEDS  Lomeama s
eflwiser fHwinas Sidsdanmer.
amyewid [R] : uesmasspa Currdfwrsdr HHSGETT SHnD 0o
LToU fleoold LyHul urmiseers &(hS5 & sriiz
Uilbg Qsrar® she 261 & el Sl emmenii.
(A)  smpm [A] &, K@ sryed [R] seun
(B)  spm [A] ey smrenrd [R] b &f; LOgb smrerd [R] sapy [A] &5
&flwumen Gﬁ'lmaaaimrr@m
(C) sy [A] seum, smyems [R] &
D) wpp [A] e smrems [R] & &M, oeme smrewrd [R] eranug
sapm [A] &@& sflwner eflenés8lden
(E)  eflen @5 flwelcrana

CCSEI-IAP25 ” g
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b

3-1;1tch the following -

(a) Home Rule Movement
(b) Kudi Arasu

(©) Women's Swadeshi League

(d) Abolition of Devadasi system

(a) (b)) (o) (d)
A) 2 4 1 3
B) 3 4 2 1
€ 4 3 1 9
D) 3 2 1 4

(E) Answer not known

£9$&rrsﬁa1urauﬂ)m,r_r;|_': QummSSIS :

(a) swr § Quésd L.
(b) GwwI 2
() Querser 5Cgé shisD 8
d) Csasrd o P 4.
@ O () (d)
A 2 4 1 3
B) 3 4 2 1
© 4 3 1 2
D) 3 9 1 4
(E) efleni AT
51

1. S. Ambujammal

Annie Besant

P'S

3. Muthulakshmi Reddy

4. E.V. Ramasamy

S. @ibLygy Sfbwrer
el Qe
(_Lpggjﬁml'_mﬁl (A, (T

. Qau. gmnemdl

CCSEI-IAP25
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68. Assertion [A]

heason [R]

Art. 121 prohibits any discussion in parliame,,
with respect to the conduct of any Judge of 1},
Supreme Court or of a High Court in
discharge of his duties.

The objective of Art. 121 1is to ensure th,

independence and dignity of the Judiciary.

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is correct explanation of [A]

(C) [A] is false; [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct

explanation of [A] 1s correct

(E) Answer not known

sapm [A]

anyamd [R]

2psmolfler Gfla) 121 gyerg 2 ssffloapnd sideg
ewipdwery SdHudser FHu vellumpmderny Cung
| GuT&ar e BLGNG &0 &5, LI T(@hLO6DLD
afleurgliiLiens sen Qg

Gflay 121-er Gpréswrengy $Hég@muien &SHETD
LHYID sararilugams o nif Qeieugns..

(A)  spy [A] sl syarméd smyesrd [R] seum)

B)  smpm [A] wpgid sryems [R] Gram@id &fl; Cogud smyen [R] spn

[Alssrar sflwuner eferésih

(C)  empm [A] seum srremid [R] &

(D) smpm [A] wpmd smyerrs [R] Qran®d &fl; syermer snrerb [R] spm
[Alssnen sflwrer eflerésd wiwme erenLig;) &

(E) oo Qsflueddme

CCSEI-IAP25
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Wwhich of the t

1.

o

(A)
(B)
(©)
(D)
(E)

nght to Pri‘i..?acy

Passive Euthanegig
Right to Vote

NOTA in Elections

1 and 3 are correct
1 and 2 are correct
2 and 3 are correct
3 and 4 are correct
Answer not known

-U“'f_)Win :
& Pairs are correctly matched?

A Eondle Play

Juatice. K.S. Puttaswamy Rtd.
Vs. Union of India

d.l- 1 }

Ministry of Defence Vs. Babita
Puniya

Swapnil Tripathi Vs. Supreme
Court of India

Geraugmid Gavemsaiie gl gRlwurs QummhAueTeng ?

i€

(A)
(B)
(©)
(D)
(E)

S| BB IS o flenLd

Qawenm 5®mw$@asrrsmm

curdsefé@h e-few

@gr’r'@maserﬂ@ GrmLmT

1 wHhmbd 3 gl
1 whmbd 2 &l
2 Hmb 3 gl
3 hmid 4 &
B @ﬁmMGﬁlabmm

—

53

806D Ig. 61V Cs.g. UL L& (@uiey)
Vs. @pHu genbluid

sroer  SeL (ufley& FISLD)
Vs. @pdlu ganplud

LIMgISTLIL syeipsssd Vs. wlsT
petwi

danal® Hiurs Vs. @pdw
o saHElLoaTDD

CCSEI-IAP25
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“Co-operative Societies” gave a constitutional status under

(A) Article 243 — ZH to 243 — ZT
(B) Article 243 — PH to 243 — ZA

(C) Article 243 — NH to 243 - ZH

(D) Article 243 — HZ to 243 — ZH

(E) Answer not known

‘ol (HDey SRISHSEFESE Bbs TFLUL Gflellenr & BITHLQEWDUIL 54 ;
cupRISLILIL (HiETeTg

(A)  sysg 243 — ZH to 243 — ZT

(B) s1sg 243 PH to 243 — ZA

(C) snég 243 — NH to 243 — ZH

(D) snss 243 — HZ to 243 — ZH

(E) e&flen Gsflwellevenay

71. Match the List I with List II :

70.

(a) Jal Jeevan Mission 1. 2014
(b) Beti Bachao Betipadhao 2. 2019
(¢) Swachh Bharat Abhiyan 3. 1995
(d) National Social Assistance Programme 4. 2015
(@ (b (o (d) |
(A) 2 4 1 3 '
(B) 2 1 3 4
C) 1 2 3 4
(D) 4 3 2 1
(E) Answer not known
utgwe Ip uigwe II o Lear Qurmsss
(a) @ubt eprised ;ﬂl'_n_fn 1. 2014
(b) wemers sTLLNDY WE@ET Ligés @ma &b 2. 2019
() snuew @pdur i ib 3. 1995
(d) Csdlw seps 2.gails S b 4. 2015

@ (b € @
A) 2 4 1
(B) 2 1 3
C) 1 2 3
D) 4 3 9
(E) e&flerr Qsflweldena

o s O
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L\L:.;_»;{*]'t.lﬂ'ﬂ II‘\I . recent

7 A
Google Play

(WHO) u::::lr:w h\ the World Health Organization
reported that t?hmned by the Jal Shakti Ministry
averting Clng;; al Jeevan Mission would succeed in
- saviﬁ to 4‘00,(.100 deaths from diarrheal

g approximately 14 million DALYS.

Reason |R] A | - 18 envia;
S envisioned by the Department of Drinking

water YT
dl‘inkiznd sanitation to provide safe and adequate
Cﬂnne(:tg water through individual household tap
Tndia ions by 2024 to all households in rural

ti-;x: [BAJE;S m& bl(:;t [R] is false
( 0 an . :
of [A] [R] are true; and [R] is the correct explanation
(C) [A] is false, [R] is true
(D) i‘ﬁ:} [A] and [R] are true, but [R] is not the correct explanation
(E) Answer not known
swpp [A] Qd 555 S@WEFESETL AufssiucL 205 &STEM
oeblfar  slusdu e, gD dfeuerr  lagelr
alpgr Cursg Gpmusenmed gou@wn  4,00,000
@nuysmed sOULHD Geupdl Gumid erampd, swrir 14
LSlebeblwses DALYS DEsrupssn erenmLd
auelymssILIL LS
smyard [R] 2024 oy ETHEEE Symotiyp @pHuwrelld o erem
SIS SH&E@HESD gafluulL Gabit @R
@ERLILIGET  fpeowd ungsTauTer  LHHID Gumgomer
Gubay ophs Gabi DD SENSNS  HSPUTE
glL'_L_LﬂL.LZJLH;@G'"m@-
(A) [A] &fl, pam® [R] sy
e o [R] @argo o wppo [B] s (3 506 e
eQeTHSLMGL
© [A) paup. o Bl
' i ; : _ -&Eﬂ' il T
D) [A] wpgo [R] GremBL sfl, gpame [R] erarug [A] D@ eflure
feTE S DD
E) efenr QpRueid@s
CCSEI-IAP25
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y main aim o MUDKA Bank is to

73.  The
(i) Provide financial assistance to develop Health Industry.
(ii)  Provide credit to Micro, Small and Medium enterprises.
(it1)  Provide Credit to develop Tourism Industry.
(1v) Provide financial assistance to rural development.

(A) (1), (1) and (iv)
(B) (1) alone

(C) (1), (11) and (ii1)
(D) (1) and (i1)

(E) Answer not known
MUDRA amélfar wséu Corésireans

i) wosges gopou CobLEss HF 256 Qsise
() Ao, ep wopd sEsET Asngsi@EE HL6n QUPHIGSSD
(i)  sppens gapew Cbu@ss s e GULDMI &8
(1v)  serps euariédlés, Hl8 2 gef Q&g e

(A) (), (i) wpmio (iv)

(B) (i) wc @b

(€) (), (1) womwb (iii)

D) (1) womo (i)

(E)  afen Qsfluchidrena

SKLIAP25 56 "
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- Arrange {he f}r”qnyinr
[, ¢ ; 2 evente : .
. nts in thejp chmnﬂh,ﬂiﬂa] ordes:

d the bogk ‘Pen Yae

(2) Perivar g arted the
Tiruch irappalli.

(1) Periyvar publighe
n Adimaiyanaal’.

Tamil bimonthly ‘Unmai’ at

(4) !H_*!'i}':ll‘ WaS arrae )
Bhagat Sin }fruht&d for publishing a Tamil translation of
=0 PRI S pamph]et ‘Why I am An Atheist’

; The title ‘Pay; y
(1) ‘u | itle Periyar Was conferred by the Tamilnadu Women
Conference held ip Madrag

(A) (1. (3), (4), (2)
(B) (1). (4), (3), (2)

€ (4. (1), (2), (3)

D) ). 3), ), (1)

(E)  Answer not known

Sleneumib Flapaisener ojeumBlen sraauflesiivg aflamsiu@sseyb.

(1) Quflwnrt ‘Quadr gér iy e@wwrane’ erenp Ussssas Qeuefludl L i,

(2)  Quflwnr ‘s arew’ aap s8p @mwrs @semyw SHmedymiuaebs
GlgmL_rudlermit.

uss SAmdler ‘prar ger prgflsar aap gen® GrsrsHar s
AumfQuuitieu GeaflulllLghsns Quilwri ensgé Geswtiue L.
Qeereraruder pen_ QLD HHDETE Guetrser wrpriged ‘Quilurd’ erermm
UL euphISUUIL LS.
@A (1), 3), @, 2

(B) (1), 4), (3), (2)

© @, m, @3

D) (), 3, @, 1)

(E)  efen QsMweiicrame

(3)

(4)

CCSEI-IAP25


https://applink.adda247.com/d/XhqWf9lSap

A Enogie Play

Addal24Z

75. Reason and A==

Assertion [A]

Reason [R]

gl lvpe .

\rehacologieal excavations conducted In

Dattanam. Ernakulam, Kerala unearthed signg e

early Roman trade.
The excavation proved that Pattanam was a p,

of Muziris, the port city of the Sangam Cheras,

(A) [A] 1s true but [R] is false
(B) Both [A] and [R] are true and [R] is correct explanation of [A]

(C) [A] is false

(D)  Both [A] and [R] are true but [R] is not the correct explanation

of [A]

(E)  Answer not known

Snyemrd WwHmb SabHm EMMHSG|

ampm [A] Cagerd, erfamn@ensder o arar uCgemrd  fgmogda
BLgsuulL  Ggraeflue Sspeunymissl Qsm_sssra
Grmomefu aurafllsseanss Ogfelsds mgl.

anyemrid [R] snIgET Gurrsisaf e gopws parrar Al gm I
UGHWUTE L Lenrid Bopss aeaums & \peuymiiEs
Bewsdg.

B (A)  [A] ofl e [R] seugy
(B)

€) [Al saug

(D) [A] wpmb [R] el wyamre) [R] eTeTLIg

[A] whmio [R] & whmib [R] erairug) [Al-air &fwimer clemdaih oy

[Al-ar sfluiney aflenéaid e

(E)  clen Qsfluichidrena

CCSEI-IAP25
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76.

The salary of A,
Ihe salary B and ¢ together amounts to Rs.33,300. If they

spend 80%, 85% and 750, : k] ; .
are as 7:6:9. Find the Sa];r;’fnghﬁﬂlr Fespective incomes, their savings

(A) Rs.8.000
(C) Rs.15,000 (B) Rs.10,000

(E) Answer not knowp (D) Rs.12,000

gl {'_ BHCUT Qg sy e #m(sd 5.33,300. Sjeutsar

e i LonaENS Qupe pepGu, 80%, 85% wppn 5%
ol o [ ‘f}: i G (2 i 2 ' L

Egguj@ aarars T COSID . Sauts@yey Calliy 7:6:9. erafle B-enn

A)  .8,000 (B) ¢.10,000

(C) ¢m.15,000 (D ©.19.000
(E) eflenr GaMNuefane h. 14,

Three numbers are in the ratio 3 : 4 : 5 and their L.C.M. is 2400. The
H.C.F of these numbers is

(A) 40 (B) 80

(C) 120 (D) 200

(E) Answer not known

3:4:5 aanm fssdld soohs 3 aarsalar B.0urn 2400 erefld
Seuper 5.Qumes.

(A) 40 (B) 80

(C) 120 (D) 200

(E)  eflen Qsfweidene

If @, b are two digit numbers such that HCF(a, b)=15. Then how

many pairs are available?

A 11 (B) 12

C) 14 D) 15

(E) Answer not known " )
! Q a@sd 15 LHL a, b gyhluema wilwss aarsdr

iriﬂg g@ﬁ?;u%ﬁ;;@@mw eTeTaEeT srewTlIL(HElermenr ?

® 1 ® 12
C) 14 D)
(E)  aflene Gﬁrﬂmﬁd}wm

59 CCSEI-IAP25
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79,

80.

Which of the following statements are correct about PFAS?

(i)  PIFAS is per and poly fluoro alkyl substances.
(i) It is used in paint industries.

(iii) PFAS are endocrine disrupters.

(B) (ii) and (i11) are correct

(A) (i) and (11) are correct
(D) (1) only correct

(C) (1) and (111) are correct
(E) Answer not known
Spsaramd sappssaiv PFAS updlu sflwrer sappissemer Coibols [bisaen.

(i) Gel.g.eev. erarug GuisiEsCrr wHmbd LTl LIERCTT Bpdensa !

ClummLgeT & L.
(1) Qg aararuyss (Quuiern.) Asrfibsramosais LwLaLOSSILGHDE.

(ii) @z prenfoan srdsmars Er@GaasEn Sner 2 @ wig).

(A) (1) wpmw (1) sfwrareanal (B) (1) wpmub (iil) sfwreneney
(C) () wpmn (111) sAwrarenay (D) @) wrEwb sfwunerg

(E)  eflen GgMuieicmens

The biological oxygen demand is the amount of dissolved oxygen

required by in water.

(A) Microbes (B) Plants

(C) Animals (D) Seaweeds

(E) Answer not known

ﬁ;ﬁfﬁf&ﬂfﬁ;ﬁiﬁ; z;@m: Bl LWIeTLImL g 6
(A) 15 et gy Sl (B) Qg s

©)  flongser (D) s purflsdr

(E)  efeni Gsflweldeme
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. which one of the followine
N OWIng ig correctly matched?

> Bal Gangadhar Tilak
- Lala Hardayal

(A) Champaran Agitatiop
(B) Ghadar Party

(C) Ganapathy Festival
: = Annie Besant

(D) Home Rule Movement Gandhiii
- andhiji

(E) Answer not known

SLpsenTLeUDmieT eThss spmé sfwursl Cummssiiu’ Hereng ?

(A)  eswugren Herrad = uTe SRETST Host

(B) s&is sl 8 B SR —
{C} & GO0 | @_F,". LI GG0T Ly 6 & _ sarefQuae
(D) gearann & @uissbd - ]

(E) e&fen Ggiluelldency

2. In Tuticorin, Tamil Nadu, Subramaniya Siva Campaigned for strike
in 1908.

(B) January — February

(D) April — May

(A) March — April
(C) February — March

(E) Answer not known

1908 b e gL pLoentl Haur  SOPHTL g GIeTerT 8158 65(G . Ul
b

I GUWUHI._L.ﬁg],ﬂ)@ L_CFIUS:ETTULB QFSTIT.
| (B) gareufl - Gigeul
(A) onié — gUT® -
(D) gurd - G

(C)  Quyeufl — womié
(E)  efent @Eﬂwﬁ@mw
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83.

Consider the following Statements, Choose the correct answer :

(i) January 30t is the Death anniversary of Annal Gandhi Adiga]

(i) January 237 is the Birth Anniversary of Netaji Sub:
Chandra Bose
(iii) April 14t is the Birth Anniversary of Annal Ambedkar

(iv) October 13t is the Birth Anniversary of Sardar Vallabhai I;

(A) (i) and (i) only correct
(B) (iv) only correct

(C) (i11) only correct

(D) (i), (1), (i11) only correct

(E) Answer not known

Spsam_ aunsflunisear smgs, sfwunear efalamu Gainhbshss.

(1) meraufl wrsb 30 b Csdl emamed snhHuigsefian wenHs HaromEb

(1) gmereufl wrgd 23 b preT Crargd suney shHrCursveller GDHs
Slaroms,b

(111) eguge wrgb 14 ey HrET i@manTed <bGugsiler Yphs SeromsEn
(iv) signit audeoumt LGL® Ypss Aenbd wEGLILT 13 @@

(A) (1) wpmpbd (1) LG &

B) (iv) vl G s
(C) (i) weEw &f

D) (@), (i), (iii) w .G sf
(B) oo Gsiudoms
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a4.

T'l =3 N s
d. ‘d_]- g E‘\trlﬂ{\h- n ll][i R I
Ascending order enactment of Budget in

1. Voting on Demand for grants

2. Passing of Finance bi]

3. Pﬂssn_*lg of Appropriation bill

4. Scrutiny by departmental committees

l*:”“" 2.3.1.4 » 2

© 18 TR

(E) Answer not known

Spssmeild  eurey-Qs i G ,
et @@rﬂ@uug?@f%@@ Dorw Quoppdler  fHaasmar G

1. wreflws CarMéans B e eun&la® iy
Hlg wGersr HenpCeupmid

o]

3. B8 @866 0 wlsign HepGaunnn

4, goOD&ET G Psaaiian Syiay

A 2.3,1,4 (B) 1,2,4,3
€ 4,1,3,2 (D) 3,1,4,2

(E) e&lenr Gaflwslidene

Consider the following statements about the Electoral College of
Presidential Election, which among the following statements 1s

correct?

(A) The nominated member of Lok Sabha

(B) The nominated member of Legislative Councils of States

(C) The Elected members of both Houses of Parliament +and
elected members the State Legislature and Union Territories

(D) The nominated member of House of states

(E) Answer not known

19l 7611 (1F 611 68T 6L DT 6T GG UTFS
& flsseupmier &MlwuTams T8l ?
(A) wésareneud® ﬂmﬁé&&ﬂ;u@m fhlusipet ‘Lg}lﬂﬂﬂ‘ffiﬁ |
(B) &1L Cueamed® 'F_FJ]UJLES]&EH;[:JLJ@LIJ Hluoer o mUnSleni

: : cud@ Caiige fped Gaib@sH&sIULL
(C) wasaraa LHOHHD mn@mm-ﬁggj LD(%QJL% '&rg,aﬂmdn Ny Caa s @ o

. . . Lb Lﬂﬂ- - - .

% ﬁgg;érijguf?_%thms&m :ﬂ_g,uun‘ﬂwrream

(D) mﬁ‘;ﬁﬁ;mgmmﬁug(é lgluJLﬁlé;m'Ju@th fluiner
(E) e Qpfueiina®

SNV (ThHSITE “QUITSHSTETIT Gpmb”

2 ML 1Sl
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Addal

The overall policy framework for the social sector,

"M | \ |
.11 India is laid out by the Central Government,

N - The State governments have considerab,

flexibility in designing policies.

‘1 [A] and [R] are true; and [R] is the correct explanation

I [A]
Both [A] and [R] are true; and [R] is not the correct

cxplanation of [A]
(") Both [A] and [R] are not true
(D) [A] is true and [R] is false
(E) Answer not known
sapm [A] Qidwrelleds  spss  geopsErsstar @l (H0wTss
Ganeatens s L@wueu iU T auEESDs.
sryemtib [R] : Gsrdrassmer augamwiufle wrhle ors saflsore

Cpdlpeys seanenwenus Gsreamr(Hererear.

(A) @wpm [A] smyard [R] @rewpin &f; womib sryestd [R] som

[A] sanar sflwrer eflerésiomEn
(B)  smpp [A] smyand [R] @rew@o of; wpmiv smers [R] spn
[A] ésrer sflwnen eferdswdea
©) snpy [A] snyasnd [R] @reirGid sfunangee
D) sapy [A] of, sryens> [R] samy
(B)  eflen Qufuishirea

CSEI-IAP25 64 p
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87. Which Di?, e follnwing statement(s) are correct about “Tamil
pudalvan” Scheme?

(i)  Launched on October 2024,

(i) Improve the financial statys of all male students studying in
government school after school education.

(i) Monthly financial assistance of Rs, 1,000.

(A) (i) only

(B) (i) and (i) only

(C) (1) and (iii) only

(D) (1) and (iii) only

(E) Answer not known

weeewssflar “slipl uswauda” Hiinp @hsgs sfurer QsmpEpriey

dsfley Qsis.

(1) <sCrmuir 2024-@é Qs ksl Lg.

(i) werefluugliysel pdu Sirad uerell wreraisellar CuougliysEs
Csaeuwnar fif Hlewamvew GobuRs54Ds.

(ii)) wrs Aduysedwrs mums 1,000 aphrstuBépg.

(A) () v

(B) (i) wpmb (i1) wLED

(€) (i) wpgwd (ii) wED —

D) (i) wHmb (1ii) GO

(£) e Qsweiidame

I 65 CCSEI-IAP25
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L‘I‘ﬂ

{.  Which of statements are True?

(1)
(i1)

(iii)
(iv)
(A)
(B)

©)
(D)

(E)

Octane number increases with chain length.

Cycloalkanes have higher Octane number than straight chain
alkanes.

Alkenes and aromatic hydrocarbon have higher Octane
number than straight chain alkanes.

Branched chain alkanes have lower octane number than

straight chain alkanes.
(i) and (iv)

(1) and (11)

(i1) and (i11)

(1), (ii), (iii) and (iv)

Answer not known

Spsam_anble erg sflunar amboi?

(1)
(i)

(i)

(iv)

(A)
(B)

(D)
(E)

sl Qs sa@b Curg &G aram 2 wiSDg.

Cpyrer HOCGaars@ars &TLg@D a@ary 20CsasEnhE 2 Wibhs
2,5CLan erer 2 amn(p.

Cryrer  2dGsansmard ST ig@ib Sfans@Epd  ACGrmomlygs
aant Gy sriudsEsd Sifls 2sCLar aar G g.

Cormer aCsarsmerd ST Q@D Samarsdr 2 L srudlells Cgmi
i@Casanaer Gapainar &G 6 e Carerg).

(i) wpgid (iv)

(1) wpmid (1)

{C)./If (ii) wpmio (iii)

(i), (ii), (iii) whgnd (1v)
ehlenr GgMluehldena

3 CCSEI-IAP25
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iil“|

o

(b) Thyroxine

_“l.v .m.gi—.: H._.Dw._u._ one

2
(c) Gluecocorticoids 3

4

5]

@ () (© ()

Ay 5 1 2 3
(B) 2 4 3 1
Cy 5 4 1 3
(y 2 4 1 3

(E) Answer not known

Match the following hormone with the disorder caused :
(a) ﬁdm...._:ﬂ— 1.

Cushing's syndrome
Diabetes insipidus
Acromegaly

Goitre

Diabetes Mellitus

s iGurensene sameu e an_r&h CpmisCGan® Qurmbgs

(a) @enscien 1.

(b) esgn&dlen

(c) (sen&Gansnigsmi
(d) eueni&dl anrtGiomel

(a (b (© (d)

(A) 5 1 2 8

(B) 2 1 3 1

(C), 5 4 1 3

o 2 4 1 3

(E) eflen Qaflushldana
CCSEI-IAP25 4

S

Eeipdny Hen Cynid

enwmSC e @end ey 4.

A Grmublamed
Hpena

Bflfley Gumo

atches :
— Ouw:._c.umz._gm

C:sH7:0sNMg
CssH700sNMg
D.Su.—qao_mgm

(B) (3) and (4) are correct
(D) (1) and (4) are correct

Choose the right m
(1) Carotenoid

(2) Chlorophyll 'a’  —
(3) Chlorophyll ¥ —
(4) Xanthophyll —
(A) (1) and (2) are correct
(C) (2) and (3) are correct
(E) Answer not known
sflwnst GuUTmESIUL LSS Caip@ghssad
(1) _n_nu...:._.j.mq_a___...@ — Ommmﬂaomzhgﬂ
(2) uvkswd ‘a’ — .Mw.mm:quﬁ.mzh.?am
(3) wsswnd b’ . CssHOsNMg
(4) snpGaniid — CsH0O:Mg
(A) (1) wpmbd (2) sfwurenenau

(C)  (2) wpmw (3) sflwrenea
(E) dflen Qaflwehiciana

(B) (3) whpb (4) sflwrerensy
(I (1) whmd (4) sfwnereneu

The Nobel Prize in Medicine was awarded to Victor Ambros and
Gary Ruvkun for their discovery of

(A) Expression Sequence Tags

(B) Micro RNA

(C) DNA micro array

(I 8NP's

(E) Answer not known
LN b it o bt LAOLETI Bl ORI
(A) Qeaefiiun@ awfles wiy @fsQsnpaa
(B)y mer syitorenr.ar. (micro RNA)

(C)  wereng. meawm senfl

(D) erev.erard. (SNF's)

.“m_.u afilent ﬁEEEﬁEe&ue

=]

CCSEI-IAP25
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!

._..___Eof of the following statements are true about crew selection and
training for “Gaganyaan Mission™?

(1)  Crews are selected after clinical, psychological and
aeromedical examination.

(ii) Mission-specific

training will be conducted at ISRO,
Trivandrum,

(iii) Selected astronauts will undergo their generic spaceflight
training in Yuri Gagarin Cosmonaut training centre, Russia.
(A) () and (ii) only

(B) (i) and (iii) only

(C)  (iil) only

(D) (i) and (iii) only

(E) Answer not known

Sleraumbd  smpmsafic, eme “ssdnuner  eflarCeefgH " efipfsenang
CaipblaBssd womb Libd eflss sfure SHpseET?

(1)  cflanQ@eefl vwenr optsd, wmgge. oeadud wHmb elorer
wikdgieu ufiGsrgaanagrsst Gpts Carposhsstiufdapeani,

(1) eflerGeuafific  Llpd,  GeawGor  (ISRO), Smeuenpsursda
e dumpdng.

(1) Cafrey Geowdule efidrbeell wwen dirrsd, Qurm  fHwnen
cunenfleuafls vwewr vulihfulenen gepwirefldy odrar Wl sscfien
et Geuailty uwesfl LWWHHA ewwsdd Qupeuniae

.‘1:-4 (i) whpbd (1) wiGib 4
(B) (i) whgd (iii) wr @b
(C) (iil) w @b

(D) (i) whmb (1i1) wi G 4
(E) oflen Qafweildrena

CCSEI-IAP25 6 B

Which of the following statements are correct about PFAS?

(i) PFASis per and poly fluoro alkyl substances.

(ii) It is used in paint industries.

(iii) PFAS are endocrine disrupters.

(B) (ii) and (iii) are correct
(D) (i) only correct

(A) (i) and (ii) are correct
(C) (i) and (iii) are correct
(E) Answer not known
Epssrggd mppésaic PFAS updlu sflwrer sapmsseear Cxrpdsbssab.
(i) Qengead. aaug GuiiuEGrn whpod umsllii@sErm S eenameD
QUmHLSET 50b.

(i) @ cdraruyss (Quden.) dgmfpsreasatca LwerLHss0UEEDE.
(ili) @@ prenfdawr squlsameas Simaadsh Spen oL wg.

(B) (ii) whmub (iii) sflurareneu
(D) (i) vipi sfwunang

.H._P”J (i) whmpb (1) sflurerenen
(€ () wpgn (i) sfwrerase
(E) ofler Qsflwechdena

The biological oxygen demand is the amount of dissolved oxvgen
required by in water.

(A) Microbes
{C) Animals
(E) Answer not known

e litGafudie ssalges Csaa sreLgy, Al
Curg psTOLGD selger saey (LD

.“.}.v\ E usli
(C) elamEsa

(B) Plants
(D) Seaweeds
~— LIS i 68T

(B) Qayaas
(D) s_punfa

(E) e Qailucbiaamea

CCSEI-IAP25
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8. Which of the following is the fi . :
(A) INSAT 3p e first Indian Geo-Stationary Satellite? Match the following type :
(©) IKONOS 1 (B) LANDSAT 8 g : . _
(B) Answer not known (D) QUICK BIRD Match correctly the river and its places of rises.
Ll ebray ;
(A) %ﬂ“ﬂ“&%ﬁ T8 s GbHu yeflsi QswupessCandrr (a) The Krishna . :GarwalTibebbyves
AD”_.____. IKONOS 1 (B) LANDSAT 8 (b) The Alaknanda 2 Central Himalayas
E) o Gshudinme (D) QUICK BIRD () The Gandak 3.  Tibet
4 Sahyadris
9. Whoam o il i
@ Uh“ﬂ the following tribes act as cattle keepers? d
(©) Rawats ) Remata ¥ 2% %
; 4 1
””mww Answer not known @) Bhils _“W,._ w ” 9 3
(LD :
A}V .H—.u [ﬁ_ﬂ.—@ﬁaﬁg&& wimm E_._.&Eﬂa._nl _I-_u._._._-_”-_ﬂ_.L_.l-_.—.ﬂ._._ﬂ.aﬂu.z..m ﬂgﬁtgid HAHU m H -w 4
® MM.___.:lnc Eu/.b dels (D) 4 1 2 3
oL Agfluciivma (E) Answer not known
10. i ;
1} Assertion —u_ur._ i Uﬂﬁn—.ﬂﬂgmﬂﬂ of a nation m.ﬂ—u.mﬂm.m on Geeu(mib uensanLIL] .Dr.a@a.
infrastructure facilities. .
Reason [R] : Transport and communication are the back bone BP AP Mo S-SATGE/ @ Q- pbeer £hurs QDD ¢
of economic development. (a) Bmeayenn 1 s G
(A) [A] and [R] is true and [R] is correct explanation for [A] b4 v CARNEND, S S
(B) [A] is true but [R] is false (b) swspbzn 2. ojfu @ouves
(C) [Al, [R] is true but [R] is not the correct explanation of [A] (€) smems 3 HAus
(D) Both [A] and [R] are not correct .
(E) Answer not known @ SyowugBon 1. swrgfiev
ampp [A] B el cuethiéd o C sl Loy asflaws snibsg. (@ ) © @
smyeamb [R] : Cunémeurggs womb CgrepaGlsTiy, Qummarmsmy A {
4 cuariéSluilen (psEagbumELD. ® A 3 p 4 1
(A)A [A] wppid [R] sAGuw, [R] sanar Llaé sflwner eilardsd [A] b, By 1 4 2 3
(B) [A] st gema [R] saip © 2 1 3 4
(C)  [A], [R] #fGw, spenmed [R] [A]lssmen sflwner cilarésinda
: EJ 4 1 2 3
I~ @) [A] wpgd [R] GramGo seup .
= (E) efleoL @sflweidae (E)  cflen Qafluciiome
CCSEI-IAP25 8 9 CCSEL
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.A @ n W
J»“\ hr“ ra the m.ﬂ.H_.G Ing events in nw..-.ﬂ.__wD__Dﬁ-.nm._ Qrder.
AH_.. V

Champaran Satyagraha
(iii) Kheda Satyagraha

(iv) Rowlatt Satyagraha

A G, ), Gii), Gv)

(B)  (iv), (i), (i), ()

(©) @), (), (i), (iv)

(D) (Gii), (i), (), (v)

(E) Answer not known

sre aflesiin SO6ES.
() sgpwgrung 6 Cauma Spsst
(ii) swurTen sgHwndlysn

(iii) Gasm sgHurdlysd

(v) Qerec spHurdysd

@) (@), 6), Gib), (iv)e

@B (v), (i), (i), @

(©) (@), (), (iii), (v)

@) (i), @), @), (V).

(E) eflen Qg flweiidae

|  CCSEFIAP2 9

Adda247

o -
- - -

(B)
(©)
(D)
(E)

(1)

(i1)

(&)
(B)

(D

(E

ducation contribute to the Indian Renaissance”

?_\.v__ How did @
...h.‘.“a\, (1) (ontributed CGrowth of Money
(i) Promoting scientific learning
(ii1) Promoted social and cultural progress
(A) (i) only

(ii) and (iii) only
(ii) only
(i) and (iii) only

Answer not known

@pHu wpoRIFESS s _aafiiy esunh gl i

uear cuetiafleow GeTHEES

syfiahlue ey uartsflasns

(iii) sgpsc anun@ eaCappd FDU--8

(1) w (Fu

(i) whpd (111) L Pde

() (il) wo o

Y (1) wpged (1) woe @G
Y eba. Gafuesidaa
1 COSEI-IA
[Turmn «
|
e
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Match the following -

(a) Peshwa 1. Foreign Secretary
(b) Amatya 2. Chief Minister

(c) Sachiva 3. Finance Minister
(d) Sumant 4. Superintendent

(a) (h) (c) (d)

(A) 1 2 3 4
By 1 4 2 3
(cy 2 3 4 1
(Dy 3 2 1 4

() Answer not known

leteumeuenauenme Gummsms

(a) Cueipeun 1. swdpn @ Gewen
(b) mwngduin 2. ppo@nssi

(c) ssfeun 3. Pdwennssn

(d) swpf 4.  sansreaficiument

(a) (b) () (d)

(A) 1 2 3 4
B) 1 4 2 3
Cs 2 3 4 1

(D) 3 2 1 4
(E) &flen Qeflwetidana

CCSEI-IAP25 13

Adda@@‘

Choose the right matches among type :
1.

(a) ‘Indian World’ Journal
(b) “Telegraph’ Journal

(c) ‘Bengal Kirkaru Journal

(d) ‘Caleutta’ Journal

(@ ® (© (d)
(A) 4 3 2
® 2 3 1
() 3 1 4
o 1 4 2

{(E) Answer not known

W M s =

sfhwnen eflenepwis Bummsss -

(@) ‘@pPu ewsd’ @sp
(b) ‘Qusll&gmy’ Bsw
(©) ‘Quiusre Sissmm’ BEp
(d) ‘sasgsn’ @sp
@ M (o (d)

Qxﬂ 4 3 2 1-

(B) 2 3 1 4
c) 3 1 4 2,
D 1 4 2 3

(E) olen Qefluehlicoeme

2

&

ta

J.S. Buckingham
Charles MacLean
Mekenly

Duane

Cag.erein. Lsfruamd
srtewey Qwsclelr
Guwssared

ERTRE=T -

CCSEI-IAP25
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47

A

® =

ason and Assertion type :
| ]
w#"\ Assertion [A]

A,_..\

Cinema was becoming popular in 1940°s

Reas .
on [R] Anna could achieve his ideals through Cjy,

Artists. i

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanati
of [A] o~

(C) [A] is false but [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

snresth Wwhmh Sbp aiens

sapm [Al 1940 sefle Aafwr Auawrs BHbES!-

smgead [R] @ Alaflon seagHiseT ppab SiememT parg @afuksad

e L e...ﬁ._n_g
(A) [A] &l gered [R] seum
(A] wpgo [R] @ranGuw ofl. Gogid [
sHardsn@D

(B) R] eerug [A] 86 aflure

(©) [A] poup e [R] sl

[R] eremuigi [A] &5 sflunen ol arésLoebe!

(D) [Alb [R]> &, pemned
(E) eflen Qg fweivae

14

following is eorrectly matched?

@H ) Wwhich one of the
x.._. (A) Champaran Agitation = Bal Gangadhar Tilak
v (B) Ghadar Party - Lala Hardayal
(C) Ganapathy Festival = Annie Besant
(D) Home Rule Movement - Gandhiji
(E) Answer not known
unmdsLLC HereTg

h.bnha_lﬁ_h.e_& apgs sahms sflwrsl @

(A) ebugrer Hariiss - e shusngy Sest

_“mu\_ smid b

(C) semuf uama@s
(D) genenmifl Gussd -
(E) eflen Qgflweiidens

- ameT @DTEW man

- el GusaT

hﬂ.@b%

In Tuticorin, Tamil Nadu, Subramaniya Siva Campaigned for strike

% in H8m<
(A) March — April
(C) February - March

(E) Answer not known

(B) January — February

(D) April — May

1908 ayib e soGqoeiiu  far  SSpETLG T BiEssGe L
GumpmeLsfde Dossnpn Qelgnt-
(A) onié - guTd

(C) Qugaufl - wrté 4

(E) ofer Gpflusiidana

(B) Bi..n.___m - Supeuf

(D) guge - Go

_w 15 CCSEI-IAP25
[Turn over


https://applink.adda247.com/d/XhqWf9lSap

19, _.s_mnr
of th i
9 B ?:qfum Statements are tyye?
1 The National .
Populati i
b Pulation policy, wag promulgated in Apri] <
(i)  Includeq rovisj
P ons for health ¢
-’ m"n_snmmau iy are, nutrition and more Stregg
(iii
) The goal was an eventual average family size of two children
A) @) only correct |
(B) (i) and (ii) only correct
(C)

(i) and (iii) only correct
(D) @), (i) and (iii) correct
(E) Answer not known

Senauamib oyflémssafia SE e amabLITang) 7

- Lkl
(i) 1976 arvigelldn Cadlw D&&ET Ganenss Glamdens o
Ars_ariu@sscinLg.

(i)  Blg ssngnmb, ea’ | ssgsy whpbd Guesr @pheanssafien sdelss oifs
wedluggicib sefiading.

(i) Ppen Poss PpHlde Prend Gpossmars Qandr syrsf @EDU
SETEUNS (8 (HhES.

(A)s (1) G &

(B) (i) wppub (ii) @b &
(C) (i) whgd (iii) we G &
(D) (1), (11) whgud (iii) s
(E) oflen @aflwailvenas

CCSEI-IAP25 18 P

Adda249Z,

Who founded the Satya Shodak Samaj in 18757

(A)
(B)
©
(D)
(E}

Jyoti Rao Phule

gri Narayana Guru
Pandita Ramabai
Dayananda Saraswati
Answer not known

i) CGongh SL0OME -8 1873 @a Casnppehipgeut w7

(A)y Ggrd yrs yCo

(B)
©
(D)
(E)

IH BITTTLIEST (&
LielaTig & [TLOTLIML
swranhs syeveud
dlen @aflwelldena

Which among the following was the first Christian Ashram

established in South?

(A) C.F. Ashram at Pachalur

(B) Christukula Ashram at Tiruppatur
(C) Zion Prayer Center at Madurai

(D) Dyana Ashram at Chennai

(E) Answer not known

Epsnamuaraibpa am AsbhE usdde fpevuc dflsvges syenwoinSean
WpEd sflmon;

(A)  Ae. g fmuoib, Legat 4

(B)  afevg@a syfigon, Amauggn

(C)  ACGwnen Snngsanar e, Dgeny

(D) Bwrarmr gégop, Aserenan.

(E)

silen. Qaflueidana

17 CCSEI-IAP25
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T . =4
- = s

22, The Talaikotg Battle was also called as

%\ (A) Toppur Battle =
(B)  Rakahasi Tangadi Battle
_“,“ Battle of Rajagambira Rajyam
(I

Battle of Kannanur Kuppam

{E) Answer not known

aneud G G
E @ Qo e e phsuBdpg

(A Cgm h Gong

._..-.w.' 7 gy &) i iy Ciam
(C) gy nr g Goang
(D) semanggan @b Cunn

(E) &flan GEatweilaana

23 Shivaji was crowned as an independent king at
z_“ﬂ\w\ {A)  Raigad

{B) Surat

(") Ahmedabad

(1M Poona
(E)  Answer not known

feunsl sgbfly SIBINE (P L OLCL @b
(Adg TMLIEM

(B)  @0s

(C)  sapuogmung

(D) e

(E) &flene Qaflwedidaa

18
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{
i
1)
O
o
<

i ities in Internal
he Indus Valley civilization the major commodities in
__”.J..hr, ~onsist of
(Cotton
Lumber
Grain and food stuffs
Livestock
(1), (2). (3) only correct
(1), (2, (3). () correct
¥ . own
i ..f””uin”“ﬂdow:__”._a@w.bﬁ s ghped  Gur@G-saTTS
.“_...,"w.,? H&& s(msLiLBeuE

(11 Lmhd

{:2) Lo
(3 eewray gnefluirbise

(B) (1), (2), (4) only correct
(1)) (1), (4) only correct

o STETC (B

{1) mrel e L e

(Ade (1), (2), (3) o Bib &
(Cy (1), (2), (3D, (4) &M
(Ey el Gaflweildaa

(B) (1), (2), (4) w B af
(D) (1), (4) i Gub &l

Which is/are the aims of a sound “Theosophical Society™?
i1 Believes in Karma, Yoga and Indian Philosophy.
1) Universal spiritual brotherhood.

() To protect the society from evil practices.

iA) (i) only correct

(C) (i) and (ii) only correct

(E)  Answer not known
Slnbugnrest senyullen CEprdsn wingy v

(B) (ii) and (iii) only correct
(D) (ii) only correct

_:”. sfon. Gunen, Gedus ssmesfean Sg mbiGsams
(1) o esemellu sembs sCENEISgenD
iii)

Au pegpenmsdilambe sapsmusens LIS TS,
M) 0) o of (B) i) wpgud (i) w Gud s

(€©) () wpgw (i) weED sl e (D) (1) we@Gn sf
(E)  oflen Qafluehldema

19 CCSEI-IAP25
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26,

27. Sexual Harassment of Women at Workplace Act was enacted in the
year
(A) 2013 (B) 2017
(C) 2014 () 2016
(E)  Answer not known
el mseflds  GQuenserde  ordlud %&EEWEH& (glHoy  whmnb
W_.Irmus_mw_nf_ S greoL (i) gen sl b Buibplinl L Sper
By 2017
(A 2013 (
hﬁ..v..“ 2014 (D) 2016
(E) dfleoe Qaflweiidena
CCSEI-IAP25 <

Assertion [A] The zonal councils owe their origin g the
constitution.
Reason K] The zonal councils are the logical outcome of the
reorganisation of states on g linguistic basis.
(A)  [A] and [R] are correct; and [R] is t i
G i : [R] is the correct explanation
(B) [A] and [R] are correct; and [R] is not i
SR : [R] is not the correct explanatiop
(C)  [A] is correct: [R] is wrong
() [A] s wrong; [R] is correct
(E)  Answer not known
satm [A] ST LGl D iy —syeuh il el CandosBie
,.w.qb..:n_._n..__b,_..__.m._....:__.,&& B wOul (Herangy,
& 1117 63T Ly _uﬂ_

e wenphisdt Gomfl g Bid wnBlelsamer
wmEreniuge sids Adlwinen nmﬁﬁﬂ._:ﬁm_&.

:.SJ [A] whgus [R] &, wihmb [A] & [R] sfiwunen sflardsn
(B)  [A] wogus R &M, wpmi [A) &8, [R] sflwunear sflandsnaa
(€)  [A] &l; agenna [R] maugy

(D) A seupi: syands [R] &f

(E) oflen Qafluciidgena

1 i w n. Qraer.
._..mrm.ﬁm.u.-.mm

Golaknath v/s State of Punjab
Keshvananda Bharati v/s State of Kerala
9 Minerva Mills Ltd. v/s State of India

4. AK. Gopalan v/s State of Madras

(A) 1,2,3,4
(B) 3,4,1,2
c) 4,1,2,3
(D) 1,3,2,4

(£} Answer not known

fEpsan_aupeny sragpeniiug afl@siubsns.

L. Csnasmig vis ugseno wrflen

2. Cssarengs urrd v/s Gararn wmkleoih
3. Blemreun Wdve oAl v/s Befu s
4. AK Csnurwer vis LBETIE 5T

(A) 1,23 4

B) 3,4,1,2

C) 4,1,2,3

Dy 1,3.2 44

(E)  eflane Qafluehidaa

CCUSEI-IAP25
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29. i - he correct answer :
”{_”;Mw_ correctly with the Suitable Act. 530 Consider the following Statements, Choose the ¢
m. 1 " . . . .
(b) .H.“_ma.wﬂgncm Otiion Axt (PDA) in India 1. 1971 q_,a () January 30t is the Death anniversary of Annal Gandhi Adigal
e National _ : 1 "
signad i nal Emergencies Act wWas 2. 1974 2 B 934 is the Birth Anniversary of Netaji Subash
gned into law by President Gerald Find o (i) January
(¢) The Indo-Pakistan war w Chandra Bose
. . : , . . dk
" Mﬁ#mmﬂ‘wﬂou of Foreign Exchange and 4. 1976 (iii) April 14th ig the Birth Anniversary of Annal Ambedkar
revention of Smuggling Activities Act (iv) October 13 is the Birth Anniversary of Sardar Vallabhai Patel
(A) Awu ®  © () (A) (i) and (ii) only correct
(B) 1 H ; : (B) (iv) only correct
4 :
(C) 3 1 .W M (C) (iii) only correct
Dy 1 2 g 4 (D) (i), (ii), (iii) only correct
(E) Answer not known (E) Answer not known
sflunen auflesemug CaibOsEss. Epsatm cunsflunusenen smas, sflurar den e Carnbshss.
(a) @HEE SR sreud FLib 1. 1971 (1) meafl wrgd 30 b Csd sdrard srhdueseia Lapks HemwomEb
G} Ol amisgaen oL pf6@ Qg S00eE . 19H (i) mameufl wrgd 23 b prer Cpsngl surey se@rCuneveler Sphs
sl L e Hemonsin
—u e Gumh 3. 1950
(c) @E®Csn—unddvgn L o (i) gurd wrsn 14 b prdh e soCussiar Gpbs denonsb
(d) Qeuefipr G uflaigsee LTESTIL WHHID 4. 1976 .
sLgpd GawdunBsd sOUL LD (V) signi aibeumi LCLE Gpps Bard wdGurun 13 ayuen
(&) G 1) w
@ ® @©@ @ () wdgd (i) we@o of
(A 2 1 4 3 (B)  (v) wc@w af
B (B) 1 4 3¢« 2 : ©) (i) weEw s,
@3 4 12 D) (), (i), (i) weEs of
(D) 1 2 3 4% (E)  efla Qe fueiisana
(E) sfenr Gpflwedléena
53 CCSEI-IAP25
22
CCSEI-IAP25

[Turn over

Adda



Adda247

88. Match the following :
(a) Jawaharlal Nehru
(b) S.N. Agarwal
(¢) «.P. Naravan

(d) M.N. Roy

(a) (b)  (e) (d)
(A) 4 - 2
(B) 4 2 3

©) 2 3 |
(D) 1 3 4.

L

(E) Answer not known

';:I_I"'(Ibg@jﬁ .
(a) meuamfemrd Cmm
(b) S.N. siasireurd

(¢c) J.P. moyrweir
(d) M.N. gmis

(a) (b) (c) (d)

Lo
co
——

0 D

s oW N

People’s plan
Sarvodhava plan
Gandhian plan

National Planning

Commission

W&&ET Sl 1D
sfGeunguwid &l i
sThHus B

Cadlug &L 6 5w
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L

Choose the right matches among type

1y Krishnabai Nimbkar
{ ai Madras Youth League

2) Rukmini Lakshmi . _
( pathi President of the Madras

Women's Students Organisation
‘ Antony Ammal : : ]
(3) Pankaja Textile Mill

: 1anjubhashini . . , ,

(4) Man, A —  Acting President of the Tamil
Nadu Congress Committee
during Quit India Movement

A (D and (3) are correct
(B) (1) and (2) are correct
(C) (2) and (3) are correct
(D) (3)and (4) are correct

(E) Answer not known

sAurer QUTHSS eUEnSHMWS Gz ibEsH1EHaD.

(1) ﬁ@dq:mrrurrm Hlb & —  D&MTE @eerient SRS

LD TGV &G T (DTEEUIT &P LD

2)  (mEbafl esapdu
ﬁ.iﬂﬂﬂﬂ.ll'l’

(3) .&gﬁr}@gnaﬂ 2| LDLDTET — URS@T gma‘ﬂ B0 &0
: —  sBpHrhH snidren @pedle )

= Iﬂ@guunaﬂaﬂ g;mwmr‘r (Glummitiyg Gl eucTan el Lol

OauefCun @uisssS& Guing

(A) (1) whmid (3) gl menen

(B) (1) wohmd (2) gl maenel
{(1) {2] LI':-_I;}‘I':T‘]-_H-H l::}} gl
(D)  (3) wHmud (4) gl menenal

(E) efleni- Qg;ﬂujam@éﬂﬁﬂ

67 CCSEI-IAP25
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|

90. Which of the following statements are true? | - |
1. All the religions were accepted and app_remated in Thiry Ky,
2. Every religions ratified the views of Thiruvalluvar
3. He didn't believe morality |
4. Valluvar said that men with high principles deserved to live %
(A) 1 and 2 only correct (B) 2 and 3 only correct
(C) 2 and 4 only correct (D) 3 and 4 only correct
(E) Answer not known
sflwrer Qgm_enys seir_Hs.

L QaaGap sousmss sripgeuiaEnd HmaGnaar Cuapdlermfahe,

2. Soadi@rean sgsd sousmss sTipgeut G SOWRSS g,
BT g6

3. opepHufie Sl(ssoner Bblsaswhneaur.

4. e wipg @HéCener Qanan( weflger cumypGeusr () @wermmi.
(A 1 wpgd 2 or @ & (B) 2 wpgid 3 wr @i s
(

|

C) 2 wpgd 4 v Go oM (D) 3 wppd 4 v &M
B) et Qsflwefdame

\rrange the following in order :
I'he goodness of the help to domestic life
I'he possession of love
Domestic life
I'he obtaining of sons

1. 4.9 (B) 2,3,1,4
2.4..3 (D)8, 1,2 4

\n=swer not known
@) 31,42 B) 2,3,1, 4
© 1,243 D) 3,1,2,4

(E) & 0sfudoma

CCSEI-IAP25 68 b
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One Rutherford 1s equal to

LN 10¢ disintegrations per second
) 10’ disintegrations per ser,:cmd
[.[*] 106 disintegrations per second
D) 1 disintegrations per second
(E) Answer not known

-ﬂaﬂfE i > X
L (bl BieTe eTebLig) SLp&setr eubmie TED@EE FODTETS

6 (ol & & et Crrs o
ggﬁ@ﬁfﬂ@ ﬁmm Brsda  10° Hesesamens Qarpasew SHM
(B) o Cssarlh Crrssle 1

B o iy prsdler 107 Hesesaer
(C) &0 QesemB Cprsdao 10° feangasaens QarH &GS PYAINE 21

(D
(A)

&L

& @.ﬁn@a’a@lb 5@ fludsl

Gmmafles ieray

D) o Qss&0 Gy 1 Sapasmens AP EEICTE sHMwss
Quimgmeflen sjene,

{E} el @ﬁﬂmsﬁ]eﬁjmm

93. Kessler syndrome refers to

(A) Radio Frequency [nterference in space

(B) Light Pollution in space

(C) Accumulation satellite fragments, spent rocket stages and
other discarded materials in space

Cumulo Nimbus clouds that

(D) Formation of Cirrus, Cumulus,
distracts the light penetration

(E) Answer not known

ariiu(beudl

(A)  aflarGeuafluded ghuBD CrigGuim Sie

(B) ol @euafludled gouBP gertl &L b

() sﬁ}m'rl.;:lmja'ﬁuiflaa @aﬂ;ﬁ arer Qewnens GameT
&E@m&ﬁrnm a.;r_ﬂjL_-@ﬁﬂ ol eneTaey ) | | -I ﬂ

(D) Fliryeiv, @u—F‘@W Lq‘:l(bp{:gﬂ? rjb‘!l_b-_mi-it- (2 imenD (B L0 & Ml ST Mel @ Tl cpafiudlen
ﬂﬂl@@m,;&m a]gjLJQFg.'ﬁED cHlemaTey

() ahlemtL _-:nﬂ"lﬂ wiehl

Cagvait Her Gomb 6f
waflas GUSE0

sar. qr&ble’ DD IOEDES

CCSEL-IAPZS

IerII'It iyvel
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94. Match the following type :

Match correctly the Nationalist Papers and its Authors :
Swadesamithran
Madras Mahajana Sabha

(a) Subramaniya Bharathi A,
(b) Mrs. Annie Besant 2.
(¢) G.Subramanya lyer 3. India
(d) P. Anandacharlu 4. New India

@ @ © @

A 1 3 2 4

(B) 3 1 4 2

(C) 3 4 1 2
A ® 2 1 4 3
' (E) Answer not known

sRlwnereubenms Cummsss :
Caélw preflgy sgeanr o flflwenr’ Qurmsss.

(a) suGQmweflu Lrydwind 1. 5Gg8.0154! ren

(b) Mrs. wenaflQusen 2. Cecrenar wammggen Lin
(c) G. suGyoeflu guii 3. @bdwun

(d) P. gyanpsenigy 4. ufu @pdun

@ ® @ @

(A) 1 3 2 4
B 3 1 4 2
€ 3 4 1 9
™ 2 1 4 3

(E) e Asfucfvma

CCSEI-IAP25 70
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A iﬁ;:lolglh Play

Reason and Assertion type

:\gsﬂrt.i{m [A] : Muha
'I‘Hh'lr‘?i?lu:{l Ghur attacked the Fortress of
. ‘ ( L] H Ht H s aTe H - N
Ajmer, rategic point for the (‘hauhans of
reason [R] - The R .
» Ruler - ;
er of Ajmer Prithvi Raj (Chauhan marched

(A)
(B)

(C)
(D)

(E)

ST ErLD whmb FOD GUens !

smpm [Al

sryend [R] ;
guﬁ@ﬁ]@pﬂaﬂﬂ}@ oaflau@ssé Qaerm (

(A)
(B)

()
(D)

(K)

Eﬂl‘;ﬁ?i;?{;‘;ﬁ;;gﬁ;T-;:ed the invader in the first
[A] is true, but [R] is false
EFEE] [A] and [R] are true, and [R] is the correct explanation
[A] is false, [R] is true
Both [A] and [R] are true, but [R] is not the correc
of [A], [A] only is correct

Answer not known

t explanation

~ TR

&gﬁﬁ Ceoomumyl  e9DWIDTS
@@fﬁﬁ 2 =3 {BBUT'F. _5?[&-5_:3@:1:7_

_oygg Sl oyt Fuimer

Ll bBT CamL_eLenw (P&
&mg‘,eﬂ ey D aeraunmen

]

pFel ol T &

umq._{?lu_s@uurrmmn crflit QameRrin T,

Gumile (1191)

[R] s

[A] gl l%q;n‘rrréo
[ﬁ] thD[_QILh [R] @UW@& 2] entD. th&wm lRI cTaTLIS I\I & sfwine
ehlemésLD
|A] seuD G0N T [R] &l
ab &M oy Tel [R] s (A] & i ey

R] @vert

[A] wDHDD |
A] oGP s

ol e S LD |
ahlemL ﬂ;’lgr‘i‘lu_re‘mmmﬁw
oS FI-1AP25

71
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96. Which of the following is correctly pair/pairs?

Fifth Law Commission —  KJV.K. Sundaram

=

9  Tenth Law Commission —  Justice K.K. Mathew

3. Nineteenth Law Commission — Justice M. Jagannadha Rag
4. Twentieth Law Commission — B.S. Chauhan

' (A) land4

| (B) 1and?2

|| (C) 2and3
(D) 3and4

(E) Answer not known

Qemeumeuareun il gy /ereneu #flwinen Glenemr/ @ enenTse ?

1. LhSTaUS FU L DpenemTiLih -  Gs.a0.Cs. &BsTD

2. ussneug §UL ganerTwLh - fpHwrsi. Cs.Gs. Gugyy

3. uglgnenugmd sLL yeawd  —  BHugsi.erd. paarans yre
4. Empugneugl FLL DyenerTih = G.evev. Qsarsmer

(A) 1 wppwb 4

(B) 1 wopmud 2
() 2 WHmiD 3
D) 3 wipgw 4

(E)  eflerr Qgfluciidea

CCSEI-IAP25 72 i
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A Ernog{e F'la}r

Match the, fU]I{JWI-ng parts of the Indian Constitution with their
mrrespnndlng subject-matter,

(a) Part XIV 1. Elections

(b) Part XV 2. Amendment of the Constitution

(¢ Part XVII 3. Services under the Union and States
(d) Part XX 4. Emergency provisions

(a) (b (@ (d

(A) 3 1 4 2
(B) 2 4. ] 3
(€) 4 g 1 3
(D) 1 4 3 2

(E) Answer not known

: . 5
@wiiden LUGSseen saupdlar gepsrt @UTGE-

SiphseTl @b A8

AU mbGIS .
(a) uGd XIV 1. Gsigasd 3

b) A XV 9 yrFeUY gL H(mHSHD

‘ &} 5 - 5
o 1 XVIII 3 gy OO wifes Lewfise
tt1}] ”@: XX 4., QBHSsS Hlena S LDEFTRISET
(€ L&

a) (b (c) [Ci}

(A) 3 1 1 ;
(B) 2 4 1 ;
() 4 2 1 ,
(D) 1 4 3

s ~ B Syl
B) oL Qpfuele |
CCSEI-IAPZ5
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98. Find the elements of India’s climate action :

(1)
(1)

(iii)
()
(A)
(B)
(©
(D)
(E)

Net-Zero Emissions by 2070
Increase Non-Fossil Energy Capacity and Renewable energ,
share

Planting trees and stopping deforestation

Reduce Carbon Intensity and Carbon Emissions

(1) and (ii) only

(i1), (i11) and (iv) only
(1), (i11) and (iv) only
(1), (i1) and (iv) only

Answer not known

@sdwuneilen srawblea blclgsmsuilen smmpseT LT ?

(1) 2070&@er flsy waellu o Wlpey
(1) yesugeuwdD oM Snar wHND LGLIIEESsEs allssadlller Lukiws
2 flaflsge
(iil) wrisee EHSD wHML s L fileu Bnss s
(iv) &Ml Sellgd wHpib &M e Bipees Gapsse
(A) (i) wpgid (i) wr @
(B) (1), (11) whgd (1v) wi @b
(C) (i), (1i1) wpgd (1v) wi_Gid
(D) (1), (11) wpmyb (iv) w @
(E) &flen Qgflueidena
CCSEI-IAP25 74 o



Arrange the followin :
| 9 & Programmes in chronological order :
(1) Pradhan Mantri Awas Yojana - Gramin

- 1
(2) Deen Dayal Upadhayaya Grameen Kaushalya Yojana
3) Pradhan Manthri Gram Sadak Yojana

(1) Samagra Shiksha Abhiyan

A (1.2, 03,4
B 3), 1), @), @
€ 3) @, 0,
0 3, @, 1@

(E) Answer not known

TSNS sreafl@sliy S@DéEaLD.

Geneumid B

(1) Qygmen i steuren Gungen - Agmben

aw Gungen

A (1), 2. O 4)
(B) (3), (1). (2), (4)
©)  (3), @), (1), (2)
D) (3), (2), (L (4)

() el
CCSEI-IAPZO
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100. Which of the following statements are true regarding Vellore

Mutiny?
(i)  The Mutiny was lasted for eight hours.

The Mutiny was lost its importance due to local treachery.

(11)

(iii) After the Mutiny, the family of Tippu was transferred to
Madras.

(iv) The British captured more than 2000 Indian Soldiers.

(A) (1) only

(B) (u) and (i11) only

(C) (). (1) and (iv) only
(D) (1), (111) and (iv) only
(E) Answer not known

Sereumb  eumsdluniisefiey Geugnt s@sd  GgmfuyeLw o erennwinen

FoHDTEUS).

(1) =ibss swsd el @ weall Coybd ey Busss).

(1)  pss sosb capr () sCimessrd iger pefuisgeusdenen
Qybss.

() =ps swspdde Gpe Huy sosreler  GELUDL  Qeareare

OTHDULLCL &)

(1v)  yidCeownger 2,000-6@ Cuhu @sdw  Auumiseernt
Sl Seriaer.

(A) (1) w @

B) (1) whmo (i) we G

(©) (i), (i1) wpmyw (iv) Wb
(D) @), (i11) wpgid (1v) we G
(E) dfer Gsfueiome

CCSEI-IAP25 76 LL
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Match correcsly :

(a) Kolliporai coins

(h) Peruvaluthi coins

(c) Bead Making Industry

(d) Textile Industry

(a) () (¢) (d)
(A) 2 1 3
(B) 3 2 1
© 2 1 4
M 4 .2 1 3

I B

(E) Answer not known

\Seneumeuenaumenm oluimmag -

(@) Qandeduburenn mew i msen

(b) Qumeuppd mrewuimsen

() werllser 2 pusd Gelud Lgnfinstama 3.

(d) gantl 2 M & @gn hananey

(a) (b) () (d)

A 2 1 S &
(B)y 3 2 1 1
ey 2 1 } 3
(D) 4 2 1 3

(B) Hwr Qgf

#

]

Pandya Kings

Chera Kings

Kangavam

Mohenjodaro

b

2.

4,

{117 gl lg U 11T &Rl

Ganhsen

s B
HIMTE Lodh UILD

Gonserssnrn

COSEL-TAP25
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103.

CCSEI-IAP25

A\ ooale Play
2
4_ T
- ¥
___G +———43.__?: f{§+§0f%}#f—-_r
5__5_ 5—/2
¢ 3
1
@ 13 il .
3
4 D) 2
© 116 .
(E) Answer not known
-
6 . 4-/2_2 @m §+_.2_ —}'—"
B=%= . 2
3
1 : 13
=1 2_'_
@ 13 ® 24
7 3
) = 2-
(€) 16 D) 5
(E)  dflen Qsflwelicranay

In an A.P, ¢, —t, = 20. Which one of the following is false?

(A) We cannot determine first term

(B) Difference between first term and 10t term is 60
(C) A.M. of 12th term and 20% term is 16t term

(D)  A.M.of 5" term and 30t term is 17t term

(E) Answer not known

G sl Hgbsmfé ¢ — t, =20, erafle tﬂﬁ?m@mﬂtﬂmﬂm TEH Seummend) 7

(A) e e grieu Sioralés Bueng

B)  wsd e podpen 104¢ e PUAPGL 2 drar sBlgHuwinsis 60
(C) 12 o puQp@w 20%# e pUADGD ol H& sgnafl 162 2 My
(D) 5% ¢ nudh@n 30T e OGO @ D mE@E syrafl 1T 2 My

(E)  &flene Qeflwelldena

8




(1)

(11)

(iii)

(A)
(B)
(C)
(D)
(E)

Crews are g

elect ini
: ed after clinical, psychological  and
aeromedical examination -

Mission-specific

. training  will e conducted at [ISRO,
Trivandrum.

Selected astronauts wil] undergo

e their generic spaceflight
training

in Yuri Gagarin Cosmonaut training centre. Russia.
(1) and (11) only

(1) and (ii1) only

(iii) only

(1) and (ii1) only

Answer not known

Gemeugptd  sapmsefla, e “asenme elarQeaigd L elirisaensd
CaihOsOssd wHmb LD Ghlss efluner smppsdr?

(1)

(1)

(111)

(A)
(B)
(C)
(D)
(E)

HearQeua vwenr Spisedr, wmSGeu, oemeflwd wHmDd ablomen
w(msgel LflGsrsmans@ssEL W Ga Caitiblg ([ &L ([R&lerment.
al@r@eueh &l L ulnd,  @euGrr (ISRO), Smeuaibs.rsdle
e QuUnSDS.

Gsiay el AamQeuel uLwerr diriser, Gung gﬁ,_“{@,
mﬁm@mﬂu Lwenr  ul@pdlear regwmelids e drer Wil ssrflen
e Qeuefll Luier] LdHd ewwsd Qumpeunirsen

(i) whmb (1) wLED
(i1) womd (111) wrEw
(1) wi [

(1) whmih (111) LD
e Qasfwehldvend

COSELLAP2S

[Turnm oves
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105. Reason and Assertion type :

Assertion [A] Cinema was becoming popular in 1940's.

Reason [R] . Anna could achieve his ideals through Cinenm,

Artists.
(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanatioy
of [A]
(C) [A] is false but [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] |

(E) Answer not known
ST WHDID SmbN CUeNS :
=om [A]l 1 1940 sefled Haflor Dyuaons Ll (hhsa).

smremrd [R] @ Sefwor SEEEHTHET PPLD T emrT sang (@l Auwikiseen
ADLL WPl S5

(A)  [A] sf <penmed [R] Seum)

(B) Al wppw [R] Greampi sfl, Gogup [R] aeng [A] s sfiwre

-;;F.'i'i,l.'é]amurr:aﬂh
(C) [A] saum syenna) [R] af
(D A LD D ' :
) Alb [R]w &), e [R) eranLig [A] 5@ sflurer eferésind
WWimTelT & & LD el el

(E) eflanL Qs fiueh Seave

80
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106- Match correctly with the Suitable Act

(a)
(b)

(c)
(d)

(A)
' (B)
(C)
(D)
(E)

Preventive Detention Act (PDA) in India
The National Emergencies Act was

signed into law by President Gerald Ford on

The Indo-Pakistan war
Conservation of Foreign Exchange and

Prevention of Smuggling Activities Act

(@ (b)) (e (d)

2 1 4 9
1 4 3 2
3 -4 1 2
1 2 3 4

Answer not known

sAurer auflesaws CorhoshHes.

(a)
(b)

(c)
(d)

(A)
(B)
(C)
(D)
(k)

@bHw sEULY STeud sLLID

Gadlu SieusNsna s LaHDE Qe Guni(
supsHL L HETH

@r&)@gn—-unﬁa‘nﬁnm Gurn

Qauefipr @ LflaiSS®aT ungsTiy LHHID

EYI- 7.1 Qaweurhi&er sHUY gL LD
@ (b © (d)

2 1 4 3

] 1 ) 2

} 1 1 2

1 2 i 4

1. 1971

2. 1974

3. 1950

4. 1976
1. 19i1
2. 1974
3., 1950
4/ 1976

CCSEI-IAPZS
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(oments are true about the qualificationg
v stale 2

; n ‘
followifik hagiﬁlﬂii"'[!.‘

)7. Which of the
107. Whieh of the state

- membership
for membershi Assembly

e of [egislative (‘ouncil
may not be prescribed by

! e of Legislative
se in the cast of L.eg

o in the cas
oo qualihic

(i) 25 vears ol a

(1) 30 vears ol af
wses such ot he
parliament

H10ons as

(111) Possi
law passed by

] (B) (i) and (i1) only

II = w sE ¥
'l\: l:‘l 1:: ;nii‘l only (D) () and (iii) only
: (1) and :

(K1 Answer not known

Fm 2 ml e i ﬁ?{.a):é']&'m

W IT R ) a il

@j@ﬁ@ ﬂﬁEFEU{I_TJL]:} &mgﬂﬁﬂﬂﬁl Ty

1) 20 auwg HrddueTser st L Guyeneus g@(@u_lrrmeuﬁfﬁﬂ‘”‘
0 eiwg HrdGweser SLiL GaemeusE HEHSwTerer&e

1) L =~~E-1;ai;-_r_.@;}: HleonGaup Bl FL LSS @O OULTS Yo sEdsaa
LA pés CausrBd

(A) (1) i@ (B) (i) wpgid (i1) w Gb

(C) (1) wHmn (111) w b (D) (i1) wpmd (111) LGB

(E) e Gsflualdeme

()= The Madras Legislative Council was formed by the

'A) Government of India Act of 1919
B)  Government of India Act of 1935
(') Indian Councils Act of 1861

(1)) Government of India Act of 1858

()  Answer not known

BErTCRIGh . -k ] &) &L g & neU MRS L g;l
(A) B B 1G14
(B)  @ipdlui ogm o 1935
S h 1861
L) o AR 8L b 1858
(L) i

[ SEI-LAP25
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he following in t}

I.‘l‘ﬂﬂl (
Act was passed?

1 .
s W hu»h
Anti-Secession Ay

1 vy
. ir ]I"r.
AT
the wake of Chinese InvASIon

(1 ' :
) Anti-Immigration A¢
) Anti-Trafficking A
N only
(B) (1) and (1) only

() (1) and () only
) Answer not known

TR \'-.g*.‘;-ra'.t-‘-,.|‘l"l‘-__.T‘1|l."|1 ] 962 _
| S G CI ]

il
A o T .
wolbl LSRR . S LW b_‘,g
] 2

(1)) (1) and (111) only

Ja 1o folwilyien EACE A
Jhedl@aaundd SHILE 61 L b
Gl Submd sHILE &1L ib
1) sL HGel SHLULE SULD
) (1) b ' 11
(i1) wopd (111) v Ew EIB); E:)) iﬁii E];lliybmfh’““n
Mol @sflweldeame o

yssertion [A] Social Justice basically does not deal with equal

social opportunities.
Social Justice 18 non-proportiona
equality or social rights.
4)  [A] 1s true but [R] is false

B Both [A] and [R] are trué; and [R] is th
() [A] 1s false. [R] is true

D) Both [A] and [R] are false
(E) Answer not known

s [A] sops

Reason [R] | to either social

e correct explanation of [A]

8 gaTug  Slgtuet Qe sowmer  FLS
y & gmaau.msha-ﬁ]ebmm.
' o0&  FOSFSID
smramin [R] P £ erenl &f__;\_ o L
o e inmieh® hﬁﬂdi:;'blh“lmti-’.“' H

[R] PDLLES
sihlu (Tenl el

B ATANS - Fpd

. [R] e [A] eflpsner afflwimet

-J‘h}+.nfllﬂ.l.'

(A) [A] aflwrerg. -
(B) |\I oML 1]{! I=’,'<:.-I=|,rm".-ri'i,|.'|-
eilen LD
(C) [A] peupren . ilﬂ Filwines)
(D) [\] oHmLd lHl Ii;ﬁi'l'[éﬁf"-'fj-""' .

[!:i el ami ;_I‘ | m Iﬂl.lt_”il-_:_..__'.

il elrol !

e

CCSEI-IAP25
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L11,

Match the
(a) 1% Engine
(b) 2 Engine
(¢) 3+ Engine

(d) 4" Engine

(a) (b)
(A) 3 1
(B) 3 1
(C) 4 9
(D) 3 2

(c)
2
4
3
4

(d)

B o B

(E)  Answer not known

(a) 17% Qupdyo
(b) 27 Gupdgb
(c) 377 Guipdlyd

“‘“ 4 . &3&.;&;5).’]&}

(a) (h)
(A) 3 :
(B) 3 ]
¢y 4 )

()

=

(d)

four engines of develo

pment in the Bud

-

MSMEs

Export
Agriculture

[nvestment in people

EOOGC Garer  prenE @b

i

MSMEs
ghmiwnd)
efleugmuib

A iL'r;:lOglJE Play

Gl ol & elel
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which of the following

ission 10 India? 18 ‘Mot ke

Comm functi ¥
Inction of the Finance

gy Erepestipwe Ui
v The distributi |
and the states NeL proceeds of taxes | h 1
l‘) Rll{'«l."lt'l"ﬂnﬁlnd “'“. AaR latwgen e e
Grants-in-aid
Any other mas
1l Any ( : matter to he .
sound finance ¢ referred to the President to promote

E) Answer not known

N budge

k principles

which should govern the

Ei%in

Gy Qar(MESILL (HieTerensuulc ‘
V) nsdu Sipdlen @ @i HEs @peien Lal GOD
i' Iﬁ 1 zgﬂul DHDID G:Ug e Sl L geng suinfliiug
P LD m : p
Qewig U ﬁﬁgaﬂggdﬁjm&@&ﬂmL—@M flay aufl eumeumiseaT 385650
> reflwid bugaugpsar 568 @hise Aandmssmat o b G

D) poe Suwrar Hfew  Heepr G i T _
5@@@1&1@ urrfrmsué;@q; QEM&? l'ré_g;gu {;:UT‘;TTE[@@DQM& (&g L TFS
E)  efleni Gasfweidame

. Which of the following statement is true?
1) Increasing Bank rate policy reduces borrowing Aamong
businessmen
@2y To control inflation RBI increases bank rate policy
3y Bank rate policy helps to control ‘nereasing price of goods

(A) Statement (2) and (3) are correct

(B) Statement (1) and (2) are correct

() Statement (1) and (3) are correct

D) Statement (1), (2) and (3) are correct

(F)  Answer not known

LIREEL goMled FRlwnegl o8 °

(1) pw@d i Qi lg @IS\

() ﬁiﬂf?ﬁé}; ::I:L[:iih?? L*?'-"l H\}-:!:Li@ H.Bl curiidl @=|':-.Lar Gﬁﬂj&,ﬂ".ﬂ; 2 U q&@lgﬂ ni._@
' PSR ae 2 WwiTeald sU_MUUDSSHH DS

ITr{HL 'EI'-('.".!'U:!".I aitl

) @J@ﬂ&ﬁ&ﬂﬂﬁh_@m &L 6l "L:l=_.|iDJl.::1 .-_\-‘,z‘_b:,.".’-én;i'..

(o) curldl @il lg Gu&LD ol
\ i w12y FY
(A)  smpmy (2) HHO (3) &
BY  snm (1) wdpd (=)
"L-! Ty M kl}l L] 1«;} 1
¥
: I |_.1'|

11" ,]_‘ilt‘_“l

COSELLAPZO
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114,

A Eogie Pray

o . stice Party were sent to meet Joint sele,
'he members of the Justic

' Finali ment India Act in 191g
committee in London for finalise Govern

(1) Arcot Ramasamy Mudaliyar
(1) Koka Apparao
() T.A. Ramalingam

(1v)  S.K. Thulasiram

(A (1) and (i)
(B) (1) and (ii1)
(C) (1), (i), (iv)
(D) Q). (i), (iv)

(E)  Answer not known

1919 © yan( @odu eys FLLbms @ndl GFLUSHETE Biennds L L
F(0% Gaireys guere wam_afld sbdlss Qeann Blas 8 2 miviSlenigen

(1) spsrE Grmwsmd Wpasdlwmi
(11) CGanan SBLILTel
(111) g.¢. grwelmsh

(1v)  ereiv.Ca. giardlgmb

(A) (1) wmyn (ii)
(B) (1) wpmn (ii1)
(C) (i), (i), (iv)
(D) (), (i1). (iv)

|[':-}
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\Ih.mu[jﬂﬂ [Ai , [ th 15 the l‘ln{]
il 1 “HLOr country which forces free from
fierce famine — ryv which forces fre "
. ' ‘asting . G 13 ST g 0
enemieg £ plague and ravage
. 3 ‘ ) 2
Reason [R] + Poets consider jy the

Ir primary duty to wish the

| r wish for the development  of its
people. They want

Just their own.

country an(

all countries to be special, not

4 [A]is true but [R] is false
g) [A]is false but [R] is true

() Both [A] and [R] are true, [R] is the correct explanation of [A]

(D) Both [A] and [R] are true, and [R] is not the correct
explanation of [A]

E) Answer not known

sapm [A] Y2 pudluyd geunt Genflub Geguesuyd
Gagr Sweeug ICH

sryamd [R] L pILeL euTRSSIIOSLID, b6 wssaflen GobuTL .

i aﬂ@mummng HaeUfsHer — SeneiimL E:L.GE)LDuHTfF:%
& &) &l T et ger BB wiGdland — ereanm(hin
AL Hlsss Aoousaat

(A)  [A] &, permed [R] seumy
(B) 1\! e, ,_:Z_‘_?.h.";u'lih'.—.:[‘l IR] gl

. wom [R] aeug [A] eibe sflure

() [A] wbHmid ”{l _\-_;;'i"[\?.':‘-'-'\'-ﬁ._i“

alerde @&

'.“'I 1\* LD _1_11:1} “‘H |

vipmtd [R] eremug [A] eflpe sflwmen

cHleM&&LDELE

' 1 ]

CCSEL-IAPLS
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n which of the ﬂm““’ingl

5 and 6, the

i 3.
116. In a dice, 1218 adjacent Lo

. .
necessarily truce. . _ \
| , adjacent to
: (B) 11isa
(A)  3is adjacent to b o 1
N Facoiit 10 4 (D) 2 is adjacent to
( 2as adiace
(k) Answer not known

= iR ‘ rafle  &n
oamde 3, 5 wHQD 6 eceteigy aefie 40,

Qo Lsenl e 28 h
e - amenin Tl ?
AETNES Nerar g bble) e puner -

(A) 3 &@ onGs 6 o dreng (B) 1 5@ Si(HGs 4 o drang,
(D) 2 & (HGs 1 2 dreng

(C) 2 &6 nts 4 o drang

(E) el dsflwelldvene

Five girls are sitting in a row. Rosy is not adjacent to Sivanandhin:
and Abi. Anuradha is not adjacent to Sivanandhini. Rosy 1s ad)acent
to Monika. Monika is at the middle in the row. Then, Anuradha i

adjacent to whom out of the following?

(A)  Rosy (B) Sivanandhini
(C) Monika (D) Cannot be determined

() Answer not known

kg Dudradr eu . o _ - ..

Lhg) o 6 et euflengulle ﬂm"rrb.‘ﬁ@&'@ﬂ)”ﬁ&ﬁit Corall  eramues

Sleuppdledl wimih oG R _
b S0 G Sméld Qdee. sgymrs: Neupplafise HiHS

Jevanen. el Curedlsmed e D @(ma .
mineiley @lieg £l . . : LNLIT (s 3 m.mﬂﬁﬂﬂj g;'{_fﬁ&iﬂmf‘ﬁ‘h. 'uBL_"lfTﬂ‘ﬁ&” oLl Tlem e
bipetied @lhaslimner. Nemesi, _syapin: Yle

h mIT, man Yera 5w ) 6 ' |
5.8 60| 17111 &, __|i§f.[|“,:||\_r.|i::,mjﬂ'[th];_‘f.f-:;;‘,_;. Wi R I £ &Rl ol
(A). Crned :
(B) fa, hih & entl
(C) Lo aotla
(D) Sroreaflss Lpig LIS

i) . _-\I‘” ! "
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-1 WY L i
{.”Hr,;(‘ltl the statementy oy fic
MK
n

e and ¢h
Vost monse . Choose . anewWer
0 I O rainfal) " the right answel

_i"i.l‘ﬂhi'iﬂ Sen : Calse .
ALsGR Rivd Bay of Be sed by the depression over

Ngal,
The amount of rainfal] iy
Cro

(11}
the sea shore,

A8y wn : ;
with increasing distance from

The eastern coastal are

111
11 o | “[‘ m, 5 )
Famil Nadu remains dry during

South West monsoon

y) (s true

B and (111) are true
() (i) and (111) are true
D) (i) and (ii) are true

E) Answer not known

_(peussTH DI undlw sapmseiie sflurareubenm Caipba(

(1) oCmiw s WHMID CURISTET ﬁﬂﬂ@Lﬁ@S\@ o grem STOHD(HES FTpey
HlepaageTmed @uiHLLITQTET Lpeuap Qumféng.

i) s Carrsde BOGHY g SPsNEED GLng Benpuden SieTau
24 5M6808 -

(1) GeerGHE u-_rs,summ@u%ﬁ'r Curg slpssdlen Hips HLG@nTU | &8

aumaGL gmemrliL(BID-

(A) (1) sflwrengi

g el el

(B) (1) nhHm LD (111) &

o '
ITl iR

) () .i*i_f'-lf:!sﬁ{Hi"l-“i"lﬂ-
II\” {1} [ ,-_1..:”-:1 {]'I,l.l __;:\,.

-7 1

CCSELLAPLS
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Js with their correspondip,,

W s q ¥ 'i'
119, Match correctly the Excavated matert
Exeavation place

Azhagankulam

(a)  Shell Bangles

(b)Y Ring Well Thulukkarpatti

b=

9 Kezhadi

() Roman Comns

() Silver Stamps i Vembakottal
(@ (b)Y (c) (d)

(A) 2 1 3 4

(B 4 .3 1 9

(C) 3 s 1 4

D) 1 4 9 3

E)  Answer not known

-

=& Toend dangel Aummlsaanbd, Sispmiey Qe L QL sesw

‘-i; =
(&) #iE eleneTwicgen 1. <1 P& 6T (& 6LD
(b) z@n Semmy 2. HQESTUC L
(¢) Cymb mremruitisen 3. &y
(d) Geuenet . 2iin 4, Lﬁmllhl.mﬁ(ga};lh'_am

(A) 2 | |
IHF | j | J
() ) |

(1) 1 . :
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.1l1 ?d;“[.h th{' ﬁ'l“[iwing [W“l]"ll_ln '|.4
| Name of the Act

(a)

(A)
(B)
()
(D)
(E)

Medical Termination of Prognan,
N“ll“tlﬂ.l Iq‘th'ﬂ_l H';"i"l""lt\,' J'le'l
Rights of persons with Disabilitios Act

Mental Health Care Act

(a)
1
4
2

3

Answer not known

(b)

(c)

3
2
1
2

(d)

4
3
4
1

dMpowey ment)

A Google Play

Enacted Year

1.
2.

3.

2013
2016
2017

1971

Spsan_cuperp GUT(HEHIS (QuersEpsE 2ifsrroelssd)
' @UJLE}!DJ'._IL.I_ .%m'&ﬂ

(a)
(h)
Jp]

I'r.:'||

(A)
(B)
(C)

(1

51 LGl AT

: : SEENELIL| LD
ﬂ@@@@uuqmﬁm F(H&HS -

GaélL 2 ewre) LTHSTLY F-L-O

an o Nenn&ar b

nnhmdmenient Quimm&sT

arpey Lgmofli) -0

(a1)
I

|

(h)

L)

———

(¢)

5]
')

(d)

1.

2.
3.
1.

2013
2016
2017

1971

CCOSELLAY
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A R] and find the .,
21 Read the following Assertion [A] and Reason | | © Corpg,,

answer
4 Fx itizenship among .
Considering apart from, citizensnip £ 1n l“dla,

Assertion |A]
; of Aliens, Friendly Aljen.

-nemy Aliens.
The eitizens of enemy Aliens also enjoys pmmmrjn

Hl‘;tmiﬂ fo ; ;
against arrest and detention under Article 99

(A) [A] and [R] are correct; [R] 1s the correct explanation of [A]
(B)  [A] and [R] are correct; [R] is not correct explanation of [A]
() [A] is correct; [R] 1s false
(D) [R] is correct: [A] is false

(E)  Answer not known

=00 [A] smramis [R] euenas aflern, sflwinar efen. anu, Carblls®nés -

sapmy [A] L @bdurede B (mé@b @quflewvsmaruyn BLlbg) LMités:
Cune, i |y eues D{ebrent] g, Tl uens sienafly s
car Blgan () cuenasudiert B(médlermeani.

(A) 1Al pogis [R] erén QT Hn &, [R] Taug [A] ss sfune

elendga nn
Ll &4 -'J.'f)H

I'“.i II-'!I-.I »f.'l;;'f)']ll- “{J wTERTn Iffj:lr_rnﬂfﬂf[};]:f1 ,_q,"ﬂ: “{I

r - .
LTI &hs || M

of GlT &) [’g] &8 gilwmrer
(C) Ik] 2L 4 511 “” ST I ,'q"*h'i.'lib'l

el ol | i Gum
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d

. Whi

(1)

{i!'f
(i)

(1)

(A)
B)
(C)
(D)
(E)

ch among the fnl]nwing

Babu Jagjivan Ram

Chhatrawas Yojang

Atal Vayo Ahhyudﬂy
Yolana

Pradhan Mantri Jan Vikag
Karvakram

Pradhan Mantri Janjatiya
Vikas Mission

(i1) only

(i) and (i1) only

(ii1) only

(iv) only

Answer not known

:Ii‘ 1
8 MCorpegt lv p

Alred”?

Construction of hostels
for SC students
Improving the quality

of life of senior citizens
Socio economic
development of refugees
Strengthening tribal
entrepreneurship

Gereu(meuareudHmIaT HeUDTE @evemrdaiLDeTeng) arg ?

(1)

(11)

(1)

(1v)

(A)
(B)
(C)
(D)

LITL gﬁﬁ%@_ﬁ@ LD ggljl'ﬁ'l_lﬁﬁm
b

o euGuim SLysGs S

SlysLo ohd il ger cileman
srmwdl g
“ygLo m'_r'ﬁ_@;ﬂlﬂ E’%Em?ﬁ'%?ﬂu

@j“ 1& & LD

| gilsmen

(11) i (KD
(1) wimd (1)
(111)

1Y)

Lt wedle LDmemTeu (18 @hss e
A daer s (HgeL

PSS &g oéasatien aun phasd
sre@s CubuBsHse
osHealen  saps-Gun

cueTTas

(THETT& 1]

Lpigsdantior Ggnifa

paar@al aGLLESHHN
Wt

COUSEL LA



7

line is determined on the basig 1

Addal24

The poverty

calorie requirements.

T - line is the minimum ncome peg.

Reason [R] - The poverty line is the m : ineo: Qe
to meet the basic needs of an individug] Which

123. Assertion [A]

includes food. clothing and shelter.

Both [A] and [R] are true and [R] is the correct explanag,

of [A]

(B)  [A] is true but [R] is false

(C)  [A] is false but [R] is true

(D) Both [A] and [R] are true but [R] is not the correct explanati,
of [A]

(E)  Answer not known

(A)

s [A]  amews Gan(p GTGHLig| AT Caeneuseia

SigUien_ulléy Ernneflse IM&lmay.

& 7176807 LD [R] L eumiening (Ea;n@l Grﬁinugﬂ (1 ﬁﬂ“gLJ[ﬂﬁr Bl LI LD §
Ggsmaje;marru LLTed Qayy & Gﬁﬂﬁ@ﬂiﬂﬁm BenMbELIL S
UGLIALTGD. QA o @ra; o @ HmD SRiEn 6
< Hluiane SL_Mi&Lh, '

(A sapm [A] O Hryey [R] Brar@in s Cuogib &mramib [R] sy
[Alésner sfluimen aﬂmei;aalm{e__f.m |

(B) gahm [A] sl DHLEHTTED. & Temrih [R] Feuy

(C) sapmy [A] P s smyemn [R] sf)

D) 0w [A] b smamns [R] @rarmes o

Herney anrrarn R

f ‘ll:-..;-...tF'l;:__' &1 ULl s ;.. "_\';_;.

e e ol g,

! 1 y \
! oitly I
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2

\u:-"{:rti“n [A] : (WN 1Iq'ltl"lnfsl.dl\n" :
e " :’1 W ] .
m ' Was fascinated by the self respect
ﬂVE'm[.nT '[ . ‘
) .y l}] ¥
Joned the Dravidar Kazhagam Party.
Reason [R] : C.N. Annadyy

4 treated .Justice Party and

Draviday Kazhagam equally

{.:\1" [A] iﬁ true, {R] iS false

B (Al and [R] are true, [R] is correct explanation of [A]

©) [A] is false, [R] is true

(D) [A] and [R] are true [R] is not correct explanation of [A]

(E) Answer not known

: I : 58,58 16
so D) [A] . dl.aren. | GOT G & N, gunfures  QUESEHE

sauibd (LEsIUC (. HyredlLit Hpaddla GafhH .

i ; i i i 3"” 'Efll ]
& ' i sTet ] 0T G0 eni, EQ:E,EL,_QI LD }E | LD o
“”I"EEP'T”-‘I lRl - é]-‘:" GL'IT [ gﬁ I,—-‘

‘ ' L dlesii.
HLPSEMS FOLONG HLSSlen

(A) [A] ef. [R] seuD

oo gRlTE GRlem&SLD
(B) [A] wHmd (R] & . [R]. [A] saren efluiTe e
©) [A] seum. [R] &

D) [A] wome [R] &7 Rj. I

{l"‘!l!"n 1AL

| urn ovel
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Addai247

. : gy
125. Which of the following statemt n

Protest”

: , astermi :
George Joseph of Kerala acted as the m nd ‘i the

(1)
Vaikam Protest.

(2)  Gandhi had difference of opinion almut.t.hf:l' Llﬂvolvemem of
Christian George Joseph in the untouchability 1ssue,

(3) Statue of George Joseph was erected at Madurai.

(4)  George Joseph and Karur Neelakandan were not intereste t

join Perivar on Vaikam Protest.

(A} (1). (2), (3). (4)

(B) (1), (2). (3)

(C)  (1).(2)

(D) (3) only

(E) Answer not known

B B résirs e
TrEsTaTLADDIET g/ aeney eveudbsitd CuyTe Lib uddw gfwmer S

(1) Csrenmeneusd G&r‘r([r,g miren @ x —

S % B LRrEl eeussi Gum‘;m’.gﬁs@@r APEDETLINS
(2) Bam reping #asela '

; .-. &l ﬁjﬁ]m@mﬂ'“ﬂ] L] .

#1085 &hsg Geumun( @anmq@ﬁaﬁrﬁ "R Cgrel swbgQsaads
f:ﬁ,] sy'rr'rg. (Bery P .

4 egTeUen wriueey Heapay R

ST Bmeus i @
(herergy.

[ lj et fren .
:Jf ri—_:f‘ o80T | I _h
iy o Lk, e Bevaetri gy QUALITE e s v s |
P aanaieuens 6l m iefléenas eUS&H LD Gumrgm_ L sdé

(A (1), (2). (3), (1)
(B) (1) (2), ()
(C) (1), (2)

CSERIAP2;5
96
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(thoos¢ the right mateh g

e El]l‘“'j-l,l r .
on a spread of gan z‘\de 1
The Groom fast, an
Stened a thy),
Ther 4 Lhal;
'here wWas a pract; Upon the Rr - |
r actice g he Bride  Tholk: vam
YT 3 . dAMone . HEKAPPIY: ,
dowry to the Eroom's family L\.Ihu people of the bride to give
> Nannul

r['il,‘l{'ll*{'l- was [h[. pr K
ractice of
. 3 3 v It B . |
fire - Stlappadikaram ‘Onducting the marriage infront of

10
I
am| cul _

. ure to ¢ : ArTriages
anury » conduct marriages

= Ll

AR and 4 are correct
) Answer not known

(B) 1 and 3 are correct
(D) 3 and 4 are correct

J@raupeIeTUIDRIET AUnmsE onaraibens Cts0s[Hss.

1 uwprstessa sliprse g e
L. ﬂi{b”@ﬂﬁiﬁ Slprser @@mmﬁﬁm wewred L eQpr erhisgen
DETLDHEHE S, erTnsa Sl yeflefigse eupsswn@b - QgréasmiiGiuk
DemTLD S ET @ﬁl_!.q_ﬂﬂﬂ LD GB0T LD T Gﬁ'.—"—”(fb&@) E;,_.[_‘rg,,_’_g;;ﬁ}ﬁm !'Q&I'.F-.E’S,-@-.I
aUpESOI(HBSS — BT

1. & Qepluu L Geudrells Sl@muoeand — dauugsno

(B) 1 wpmyw 3 &fl

(D) 3 whmd 4 &M

N R

(A) 1 womd 4 &M
() 2 wnmb 3 &
E) efen @sfuieildan

a piece of work in 20 davs.

ours a day complete
for 10 hours a day complete

an 12 men working

177 & Men working 9 h
In how many days ¢

the same piece of work? |
(A) 9 davs (B) 10 days
. e 1 (D) 12 days

(C) 11 days

(E)  Answer not known
- { -""-, ‘_z,-.‘__]' '.*.‘_._ll-u: &ITel, cé;‘”‘:- -Euiuﬁﬁlléﬂf'.l ]
v 1 4 -t = -

| Lalhil .

S 'EIL'I_T&E':"T FQ-\\W. .”x'-\-@\v”:* o .. | -.".'-l"‘-‘- ]..3 i el ex(h _:k‘blﬁ‘-u"l‘.-:i:.--‘t?-. 1” LDl
g | (B) 10 .
D). 127 ¢

CCOSELLAP2S
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128. Choose the right matches :

C::;:H-o )-N:Mg
C-:H-,0sN:Mg
C:-H-,0sN.Mg
C- H-,O:Mg

(1) Carotenoid =
(2)  Chlorophyvll "a’
(3) Chlorophvll b’
(4) Xanthophyll —

(A) (1) and (2) are correct
() (2) and (3) are correct
(E)  Answer not known

sHlwrs) lJL_in@g'.gL;ul'_l_mgpﬁ CaibbshHssabd

C;;H- 05N, Mg

(1) sCymgemii® —

(2) usswp ‘a’ —  CsH70;NMg
(3) weswn b’ —  CsH- 06N Mg
(4) snrpCGarsle —  C50H:,0:M¢g
(A) (1) womw (2) sfAwrenaes

(C) (2) wpmw (3) sAuratare,

(E)  efenr Csflwefdenc

(A)
(B)
(C)
(1))
(K)

(A)

()

. The Nobel Prize in Medicine w
Crary

Ruvkun for their discove rv of
Expression Sequence Tags
Micro RNA

DNA micro array

SNP’s

Answer not known

. -
2 TGy mith AP - 2 .
At . ; -,
n =l - %hﬁ %&' mitley
olRIT &1 % SN
3 oLl | 5
; =4l
Ir oy -._it,!

(M ju.'!'l H\: )

ST 5 B

(SNP'<)

':Iv,llljr

T hg

(B) (3) and (4) are correct
(D) (1) and (4) are correct

(B) (3) ODHmILD (4) sRlwiranena;
(D) (1) whmub (4) sfwirerene

as awarded to Vietor Ambros and

Helr (kL1 g S



Addal247

H
il

(hoose the right Matches
‘Indian World’ Journa)
b) “Telegraph’ Journg)

‘Bengal Kirkary’ Journal

) ‘Calcutta’ Journa)

(@ () (o) (d)

n) 4 3 2 1
B) 2 3 1 4
) 3 1 4 2
m 1 4 2 3

(E) Answer not known

siwren efep_ewis Qunmbgs

(@) ‘@hdlw o &b @sL)
b) ‘QLOAgm @&
(©) ‘Quiusnd Hissne Qs

(d) ‘sasssn QS0

(a) (b) () ()
A 4 3 % ‘
By 9 a
({") )

Al
'I'HnH Iy])(: £

1 \

- J.8. Buckingham
9 :
w5 Charles MacLean
3, Mekenly

4. Duane

8 Geg.eran. | &S & T

snireey QD& ede

[~o

>
5
gq.
&
8
22

sk
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131. Arrange the following events in chronologica

7

I, Golaknath v/s State ol Punjab

Keshvananda Bharati vis State of Kerala

£}
3. Minerva Mills Ltd. v/s State of India
L ALK Gopalan v/s State of Madras

(A 1,2,3 4
(B) 3.4.1, 2
(C) 4, 1,'2. 3
(D) 1.3 2 4

(E)  Answer not known

pEETL_aDnD SrepanduLig euiflan Ui (5 e .

Hap

1. CGarassrsd vis ugrer’ wrleb
2. T.'--i-'.-'i%..."n‘é.'::-!"'_?_-'-:_l_. J.-Jrrl']lgf;] vis Gamern mrr;ﬂau_i::-

fleve @A v/is @rdw sirs

/| ALK, Camumeetr Vs omomey s

() T

(BY 3 4.1.9

| order.
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se the corre

(hot ¢t Matcheg from the

;) Fourt h f-‘"ihan{:(_» {'.ﬁmmiﬁsj{” Olowing.

(1) Tenth -f"jlr'larlm. (‘”mmisﬁir}nj A.K. Chanda

(it Sixth Fl.ﬂﬂnf'n ('.”-"“miss-sinn Shri K.C. Pant
) Ninth Finance Commisgio, Dr. Rajamannar
A) (1) and (111) are COrrect Shri N K.P. Salve

- (B) (i), .
(M (1) and (1) are COrrect ) (1) and (iv) are correct

) Answer not known (D) (). (i) and (iv) are correct
urer @eerew Gsiey Qauys,

j:, EWEEIT&-HLEI '@;;ﬂ @@ = E,l"gﬁa E'I_'Eﬁ-,l‘f

i) wssmd Sl S - Am Ca.d. Ups
(i11) DD ﬂﬁ GGy | = LT&LT, grgy emen
iv) gausTd Bl G = Sm. eren.Gs.9. #raGau
A (1) wpomp (111) & (B) (ii) wpmid (iv) &
() (1) whHmyd (111) & (D) (1). (11), (1v) &

E) e Qsflwedldiena

. The Financial Position of the Panchayat is reveiwed under
' (A} Article 243-1 (B) Article 243-E
() Article 243-B (D) Article 243-C
(£)  Answer not known

s @Es HTHLD

Wi leatlen hig H@@wabss
;'1.:1.;:&-- 5_ C i _;'f ol iU " é 1
A 3 Hud snsar g 243-E
) 43-1 (B) =
..1|!|| . > 4 . T oXT 4 v :_. (i . % .} 1
SIS LD FITHFRAT = D) =rsluie) Fngen g 243-(

CUSEL-LAPLS
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5, which of the ihllnwinu st

Hl[l

Viinister's Breakfagg Scheme o
o

are true about “The Chiet

It has incregcg.
i) reased student

”ll ] F .
5y Primary h “ndance 14 high schools
i ' 8e !
(1 ar; 0ol childyen benefiy ¢ }
rom the scheme
(i) The scheme has Joq ¢ my
IOV

children ment in learning skills among

av)  The scheme is limited 14 government schools onlv
(A) () and (11) only

(B) (1) and (iii) only

(© (@) and Gv) only

(D) (11) and (iv) only

(E) Answer not known

;mg,ﬁumm&a:rﬂ@ sTene 2 ameyd Hod updlu SlereudHo mppseie 5

2 GHTENLD ?

(i) o wirbleel Leraisefld wramal aGmsaL 2 fafsgaes

(i) Oarsstuded GRbOSHET @sSiLgdle LuaeL Sprise

S P -y e g \ shme Soensenen Cuovu@sd weearg

(i) @pss Htb Gpb@ssdio G sHS 50

oA Qeudu@sstiuGaD

(1v) @Eiadli LD TS Ldrafsafléy B QeudussiuESng

! ! LN o

(A) (i) wpgud (1) L

(B) (11) WohHmyD (111) 1OL Gl

"lh 1.1._5.71 | S L [,.l'\'}
(F) |

CCSELIAPZ

03 o
l |Turn over
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. ek guthors
136. Match correctly books/journals wit h aut
1 A.P. Patro

(a)  The Mirror of the year
- ‘ | S. Elango
(b)  History of the Justice Party 2. N.
; ‘rom Sir Theagarayar to -
v ]l]””;i ﬂl:i:n :r ) 9 Muthusami Pillai
. Kalaign: :

- : Mudahar
() Justice Movement 4. AR M

a) (b (¢  (d)

(A) 2 3 4 1
(B) 1 2 3 4
(C) 4 3 2 1
(D) 1 i 2 4

(E) Answer not known

2 &1L 785 (@R L_GhT | CUTHETSH LgsEmise/ g Méensseen ghliuns
S UMm&SHeYLD.
(a) & Airgr =l & @Quifr 1. A.P. GucGon

b) aflevc Al o B mevgen unity 2. N.S. @erwGan

(c)  sf Sursrmuflemba 3. psgsml Slerenen
Dr. senevesit euenry

(d)  sgevgen ppeublner 4. AR. s &Sl

(1) f!JJ () ((“

(A) 2 % | ]
(B) 1 2 3 |
(C) ' ]
(D) 1 3 ) |
() efleni

| ! I|II.I:..q-l !”l
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k:_::_;v]"[.iﬂn |i"\] : rrh[m]-(; h;l*-;

7

hm- ¢ e : -
N A significant rise in the

percentag .

i " 3 )

Ze of laboyy force ones _ ustrial
ce engaged n Inc ustria

sector during 199¢), and 2000

. F
Reason |R] . There has been o aian:f
N a significant rise in employment

N the conctrivt:
he construction sidtoE Betiean 1991 and 2011.

A) [A] 1s true, but [R] is false

B Both [A] and [R] are true; and [R] is the correct explanation
wl~ l\l

) [Al1s false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

E)  Answer not known

wipmy [A] ¢ 19906t wpmnd  2000saflé Qsmfagepuie 2.ae

srrenrn [R]

(A)
(B)

(C)

(1)

(1))

an@mnmﬁa&@ﬂsﬁr ol 2SS NSEETS

2011 i BIHSEHES @enL ulled

1991 wHmd
ooy @HuyL 5888

HL_ (LTS gapio Gamoal
_oyeredled 21§ aMSglemeTS-

l‘\] il ,gﬁ]mﬂlm [R] @ﬂJ@
(A] wpm [R] @reB . g [R] aaug [Al sD@s SHUTE

".".I't.'ll.fi.ﬂ_.!'-ﬂ 3,10

&g Flwne

(A] s [RI 51 |
“{l eretl LI ll\l aulfl

g 'I-L: '11-|.,r"f' el

CCSELIAPIH

'|lil:'1'l AR
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join the Lord" _

and does not

138. “The Ocean of birth swims. HWi:HH
= » las ‘this Kural® .
R SRy o () Vidhya Philosophy

(A)  Siva Philosophy (D) Soul Philosophy

() Surrender Philosophy

(Y  Answer not known

LIRSl Iuﬁlri,#;]mulr'r ;ﬁﬁ:_ﬁ;l‘l"

@eneuang Gann Igjnﬁf @) dEmme 2 a1 LD ﬁa‘.’:ﬁﬁ@“m ercuedt ¢
(A)  dlea ségieubd (B) ellgum S&HH LD
(D) gpend 5D

() 5#@7-15,'@;_‘- @ggﬁ‘um
(E) sflec dsflueiidena

139, Thirukkural Uralasiriarkal :
(1) Pariperumal
(1)  Dharumar
(111) Ki.Va.Ja
(1v) Dhandapani Thesigar
(B) (1). (i1) only

(A) (i) only
(D) (iv) only

(C) (1) and (iv) only
() Answer not known

slingamer 2 enmuindlfwrsen

(1) TG s emnmer
r|i.l &+ i.
(111)  &.qu.e
(1v) F & 117zt
() (1) e m |
(B) (1), (i1)

() II'!'E IR} "||L'.| [ | Y
| (D) (iv)
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|Ilf"i the next term

e AL
_|1.’|'|| L I -« L)

). E and F are cousins. No two cousins are of th

ave birthdavs on the same date. The youngest 1s .

T
i the oldest E is 22./F is somewhere between B and D 1n age
. older than B. C is older than D. Which ot the following is
} : | Mo el Paecidd
) 1= 20) vears old ( Bawk, 150 Saweia

| P2l e LG
F is 19 years old ( Dk 2

v

e u
'8 o - =
i i ‘
W) 4
JI J ald ol T
. 4
+ [ - =

3 X
ok e e

CCSEL-IAP25

[Turn over
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. of forest types and their Specy

! wpet aNSWE
{'hmmuihv mc*nnut 1 :

142.

Rose wood, Toon, Ehgy,, '

India.
Uy,

wn forest

{ r § I.‘:‘lt'-l'?}'r-l

(2) Vionsoon forest

White Willow

. hi s Pine Snr
- Tropical forest Chir, Blue Pine, Spruce B
(A) (1) only
(B! (1) and (3) only
(C) (2) only

D) (2) and (3) only

‘E)  Answer not known

'_E‘E‘: I__I_Eﬂ."l ._: ” - . - - .
_h_-g;).._.l & 2&Tem euarmr cuansEeT WHMIb eubdlen @lemrisar LindlL s
saas Caira Geliwea.
(1) Lseow wrmms i

& & = Grreveyl, Ber, smmisred e
(2) umea '
2)  Limeunenpd &) — -

Gleueer ool SlT, GUIMTEURL oS
. Ceuerener alléyBevn
3)  Yogdlu, Cnens &1 () & o £
. Lige @LIen, Gurimey, &3

(A) (1) (b

‘I.ll__,

(B DIfmyL

) (1) LDmI (3) o (hiLD
() (2) (k)
(D) (2 H0OID (3) oy,
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- Gnuﬁ{e Play

O 2 1'h Septembey 1939

) 1""”"l |
4 Pact w.
Wiy signed hetween

A\ lmmlln. Trwin
B Gandht  Jinnah
() Gandhi  Ambodkg,

(M Gandhi - Ramsay M 1

) ANSWer not kt'lm,r;-n ana e

1932 D 4, 601 (1) (

s JEh [N n.ﬂn'l.sa,q,h_' ABUI1ton 1 2 Y g &3
o) e Y T el

A anhd - @iellel

B snhdl - glenen

() enhdl - 2ADCuss

D) sred - 1mbGs QusCL rene

) el Wsflueldeama

41, Choose the right matches :

1) Ferosha Metha — Disciple of Gokhale

9) Gopala Krishna Gokhale ~ —  Servants of India Society

3y Dadabhai Naoroj — Drain Theory

(4) S.N. Banerjee - Safety Valve Theory

(B) (1) and (2) are correct

(A) (2)and (3) are correct
(D) (3) and (4) are correct

() (2) and (4) are correct
() Answer not known

fuamest Glamen eijgjri}]&ﬁﬁ}taﬁ {Egif;ﬁf_r')g_ﬁ'ﬂ_‘.‘"g‘& .

CaraCaudiar SLa
(1) 14 e (SLn&H&HT
| By A\ el pan S fHaTies Fmisid
(2) Gamuimen A (eI ent! (G manloc) 2, >
0 PRI QUig SN Wi Tl &
(3)  &mgniimi ol HE (] TR . 5
(T &L bl q.’__;"'t_ e&mL_LTh
(4) S.N. vimanigy
(B) (1) pmid (2) &l
i ) I L
() l_.;.'l Y () Lln' [I-“ DhHm '.H POl
) (2) (1)
1)

COSELTAPZ

119 \
|Turn ove



th tV'}{_iH and t-ht‘ir hnfntnht
z - 5 - l]"[

Addai247

- of fort
4 answel of fo
142. Choose {he neorre { ans
Indu. ” |
Rose wood, Toon, Mmm- (
i

orest

(1) [overgreen f )
Silver fir, Walnut, Deody,

2y Monsoon forest |
!h White Willow
Chir, Blue Pine, Spruce ['Yi

+ Cypre,.

(3) Tropical fores!t

(A) (1) only
(B) (1) and (3) only
() (2) only
) (2) and (3) only

(E)  Answer not known

S len
1]

Lreldld) 2 @TeT euaT UESET MM HeuHble @) errisar

@ndwum
Lleewsd Gaey Qeuiwey.

| ] J | ‘ A k! : i
! U&ehlD DOmTsS .5rr@ —_ GUHGTUGH 1 @Eﬂ $ﬂbfh|5}”£"‘-_

"EJ (TR L s * a
) _gEuLl ng&. S;IT@ T G}EUG!TGPﬂ uanI'!T. 'EI.JFTQ'.\_):T.I_'

Qeustaner alle)Ceur
(3) | '&‘ﬁ-l- G :
= HESIL Laens gn(hgen — ir G
» LIGATH @nLiehT, Giulieme
(A) (1) i g
(B) (1) 0HMID (3) oy A
o IJ Ll

l:(:l f-ﬂ IDL_Rib
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- Gnuﬁ{e Play

a4th H{'I}ll‘nlhur 1999 b
- 92, Poon

1‘“1 !
Y ! s ! Pacy ¢
() h.lmll‘f h_wm Was signod hotw
[3) (iandhi Jimnah .
\1"' Gandht — Ambedkay
m Gandht — Ramsay Mae )
) Answer not knnwn ‘mald
?"_;.,j , Idall-.\-u | Iq{hm}w i iy i
e @ Ehe 24, §
“JL: i A by ;.d;‘; o

\) & m;ﬂ @ neflen
I.‘rtll 5 h{'ﬂ f%-iﬁ.mﬁmﬂ
& _q-.-!j']-:._,‘i:' - &1h@u§,&.ﬁ
n  snhd - TmbGe QwsCLneardy
b)) adlevu @z Muwelldeane
Choose the right matches :

11 Ferosha Meth - ;

) F | tha —  Disciple of Gokhale
2) Gopala Krishna Gokhale — Qervants of India Society
1 Dadabhai Naoroj — Drain Theory
1) S.N. Banerjee _ Safety Valve Theory

(B) (1) and (2) are correct

A} (2) and (3) are correct
(D) (3 and (4) are correct

() (2) and (4) are correct
k) Answer not known

Aiuren GummdShiGener CshesHES °

o . "
; i ¥ — o ITE yigm &L el
(1) GGyragn (olD&HSHN L LM 68
w1 .\: T ":‘ "|- '1|"?| X1 :‘1'..- -
(2) Canumen &l(mepe i_"l=s.;1.4a'i.2m = Hl DETLPILIT&EITIOE &
o | allg &0 AsnrdTens
1"']' &HIT&N mu ol THit! -‘In.': “ -.
'-1‘_:.4- I | ??‘!1.14_{:3‘!-?; :‘3'; \n-g]
(4) SN
\ (B) (1) Oy (2) &
| 9 i | | .I
b \1.& (D) (3) opHy (4) &0
W) (2) (1)
(1)

COSELLAY

Vi o
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 the National Human Rights Commisgig,, Ar
[| . Y

I-]...'I T]]:‘:'I-IT_TI'['H\'U
To strengthen the institutional arrangements thrnu::h
=

(n 556
hts issues could be addressed in thejp ENtipe

human rig
more (oeussed manner

To look mto allege itions  of  excesses, inde ‘Pende ;]1],.' of
government
contrast and strengthen the efforts that have alread,. |
made in this direction.
A) (1), (1) and (111) are correct
B/ (11) and (111) are correct
C) (1) and (ii) are correct
D) 1), (1)) and (iii) are incorrect

(E) Answer not known

W) Sinsriissenss &, o)
: g0 .
j=r’ Moy, ﬁL.lULq_U”TEE @,’l}mé&”l_(q‘lﬁmﬁ' LTI 15

,1JIM-'G'J U r‘JJIE_,L.

o J ."llﬁzfj,l

P, | ] -
DIVETL65Y CopQamarer 1 @ aren LpF&s

LIl g

't;l]f,.?l_l' I |rb|§)#)]@‘}h

( l
A) (), (ii) DD (111) )

(B) (11) b (111) g4

) M, b (11) g4

(D) (1), (if) b (111)
AL 1T ¢

(1) iy

a1 5hy o
ellg
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. which of the following State

18 me :
[ Nty g
18 true about Article 217

This article remip. 1
' 15 [.'If1 () v
ne pf i}
e

(1)

(‘arta. famous clauses in Magna

(11) 'he constitution doesg Ot conf; .
er right to die

g Custodial death is porh.
l berhaps one of the worst crimes in a civilized
g . b [ o

VY \or PO )
society governed by Admmistrativb Law
’ A E

(A) () only

B (1) and (i1) only
() (1) and (in1) only
D) (1) and (iii) only

F)  Answer not known

ardweeniQer Gflay 21 g upfl dereumd sapmsaie ag 2 ameLn?

(i) wsrersasded oerer o 9flaysefld Lsp@upp gd@n @bs Gfley
BL0éE HeenapHaDsg:

1) sndueeblil seLld GpEE 2 flenneni Gulpmisaileena.

. ” . . : i flaéd sopsTUSSE &STeued WIERTLD
(1) Hlmeurss gl L SHre %ETULJ@LD Br&n&s F(PS 55

Curawme GHo migeta eeDrEHL-

ol
(A) (i) L Gib
B) () wopmb (i) wC O
(C) (i) wmmud (111)
D) (i) whman (1)
(E)

CCSEI-IAP25

'L [Turn over
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proht matches .

(Thoose the Integrated {‘hlﬁ{l."r‘

117
; Tukhern
(1) Shyama I'r”-‘j’”i M Plans At
Rurban Mission 3 o
. ord Adharsh Gram Yojana Skill training to Zlobg|
() Saansad. standards
o chiriva Giram Swara) Abhivan k-governance in
(3 Rashtriy: Panchavats
. x J ] F L ] 1; .
5 Deen Dayal Antyodaya Yojana Poverty :1.];1[ Viation
: through SHGs

Ay (1) and (2) are correct
‘B (1) and (3) are correct
() (2) and (3) are correct
D) (1) and (4) are correct .

E1  Answer not known

=7 e Gunmgsrmsamer GgibblsHiEse L.

(1) a@swnor Greng wsigd epiver Bager — uhrdeanhs Saay. -
Qawe S L s

" = e i S ' -
LiuSimé&
1 Tt in Bl & B s )
) e Nl Slymb eveugresy o Qwmer  — Ugremuggsaia Saarar
-:"'5'_-51@_'56!‘.'5:
{ i_r 5.&' ol ITGTT .Fﬂ!bﬁfgujrr'ﬂ_},mn {_-EIU ”ﬁm” - = : Qs _ "
Il £ 'g..r:;.hnaﬂ: (&H(LpBHE

mrgjj D &g ol

ek

(A) (1) wimn (2) s

B) (1) Dmh (33) &
(C) () omin (3) sl
(D) (1) mmin (4) g
(K)
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A Ernog{e F'la}r

w'hil‘.'h of  the ﬁllhiwinh

W he

W me . L 1
]huln; nt Index “-HI}'.’ are true  about (‘hild

| CDI was de
| s develope
ped hj'-,-' the ‘S L
S “the Chyldren’ -
nocampalgh.

i Health, Nutrition and |

- -:II.I,H-."
CONV . at ‘ .
conventionally uged for m on are the three indicators
““Hur;l §
ng CHI

1 1' I . 3
i) ¢ DI is calculated in the same w
'way as that of HDIL

(A) (11) and (111) only
B) (1) and (1) only
() () and (1) only
o) (. (i) and (i)

(E) Answer not known

sppop aueTies &HE (CDD) upflu e mppEeie a5 L aTs’
Q) Epbess®as srrCumd’ rEsnTeTe CDI 2 paurssiU -8
i) CDI & _syerall(HeusD S QUIEEHLTEL LuaLOSsILEY D
@@Eﬂlﬁ_qﬁﬁﬁ FETSTILD, oarl’ L E8SG LODDD saEl &L
Gi) HDI semsd UG 5Gp e CD1 sans8L LLOSDS-

(A) () '.!J:']"Jj&]lh (i11) wt (b

(B) (1) (D HMILD (i1) 1ot

{L‘] (,” L "|"Tf‘_-:: 111]} l_-.' '}f,‘.l:.'l
(DY (1), (1) wOI - (1)
(E) eflen & Pl

{'(‘.SEl-l;\'t"i
113 (Turn ove
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149. Choose the right

(i

()

(A)
(B)
CED

(1))

answier ATV Ltype
1« found at Brahmagiri,

l Il‘ .1.“'”:;\1' bl rl‘l-" I")I I'EIII Wi
]II

Chinnamanur Seppedu

Pandian Nedunchezhien,

mentions the death of Avvyy,
Yap

Inscription

Thirukkovilun :
T A. Gopinathanayar.

which was pubhshed by
\nerent inseriptions not available in Karnataka till AD

(1) and (n) only right
1) and (1v) only right
(1) and (1) only right
(111) and (iv) only right

Answer not known

sabpe sflurareupans ser_bs.

.

> 3&"5: Tpgil  CQurdlEer e Sgrpflugde  Ggnwnds o
SeL_saleng). o
seranogyig GlerGu DTGV 11 8517 60T e 5 L el e

o506 65 fluamens @@Dlﬂ@ﬂmﬂ]@.

.2 CanlSlprgmmu LglC9g ; _
o TR & ﬁﬂﬁﬁeﬁnﬁﬂ T er(n&&" P —
=HT GLbsangs {@;ﬁf)?l'uﬁ}@aﬁls&rﬂ;@ N edg Ut garas

@ i d
ol [ &dke

&l 19 ¢ Gt 2§ o )
2L TR mIT et :

Hs B euen . ;e

S daahlcdiang, Tl seren IBITL g 60

Vonmmia (111) p (i s

(i) whmw (v
1) mm .”".J DL (WD w )

(1) i bmith (1) 1y (hithy & f]

(11) 5 '

111) Do (1v) s nogf

& 11 Y o
LG

LETADP25

]
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which of the tollowing i MCOrreey)
‘Culy Pivire?

qp Sir Thomas Muny

Faee
i |I~.L”'|,H' .’\ll't "Ii ]H:-\T

5y Sir Charles Metegfe |

Ahey
1 "rator of the Indian Press
(2) | ord W cllesloy

Py :
Mtersg name at the bottom of the

““[lhr

lLord Cannming ;
System of [icense and Censorship

) (1) and (4)
B (1) and (2)
)y (2) and (3)
) (3) and (4)

£)  Answer not known

CaaumeuaTauDDld eTgl SUDTE Gevamssiul Hereng
1) & e werGom — 1857 oy () 2 flnd &=

- K . 4 . . - -\i 2 ':. ﬂ";,____,"a""
9) s smirae @O @i usHisessatan (s

T

gnaflen 6w gsuQuUrluTeTT U

A

3 Ceud@aaved Gy

(4)  amefi gy _ o Aenwp ppd sENESS PED
(A) (1) wpmd (4)
(B) (1) whHmb (2)
() (2)u ”,:=,'i'-[:“
D) (3) wimd (1)
> CCSEI-IAP25
113 [Turn over
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151. Match the following .

nil Nadu
I Mallapadi

(a) Chennan
2. KnmharM{-du

3. Kmiumann]

. ¥ 'l.‘
Excavated sites in I'ar

(by Tanjore

(¢) Dharmapuri
4. Pallavaram

d) Erode

@ (b)) () (d)
(A) 4 ) ] ‘

< 3 .1 9 4

(E)  Answer not known

SLT(HSHS
505085860 sspria Cupbsrarariiul L @)L riser
(a) Cleerenan 1. wéeumg
(b) sesemgy 2. sbuiCu@
ir & T iy FiT
c) srouf 3. Qsr@uwemre
(d) wCng -

Ty 4.  Udereund

(A) 4 9 | i

(B) 2 | i ;

(("y 1 | 5 I

(D) 4 | ) {

(k) e
'CSEI-IAP?25,

116
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h the r“””“’"”l! hormaon

- pate
0 [nsulin
(4
b) Thyroxine
i

. Glucocort 1cords

L]
\

o Lirow th hormone

@ b () (d)
\) 9 l 2 3
B 2 4 3 1
& 5 4 1 3
D 2 4 1 3

£ Answer not known

L=

¢) @ensGananig AL
) E

o ariad) apmirGLTen

1
iad) ol

(a) (h) (¢) (d)
(A) 5 1 ) 3
(B) 2 | ; 1
Cy 5 1 I| 3
(D) 2 | l

“J
Ith the tll.L:ur‘Th'I' i

|
)
A

|

o,

aused
Cushing's ayndrome
Diahete msipidus
Acromegaly

Gontye

Diabetes Melhtus

A CATETEEET D6 2 L TEGD CrriuaBert(® HUT®BSSS °
v
o
3.

@egdli HanGrmo
il ey GerélSL ey
25Cymblsmedl

FP@Q

§iliflay GHmL

CCSEI-IAP25
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153,

(1)
(b)
(c)

()

(A)
(B)
(C)
(D)
(E)

Match the following :

Peshwa
Amatva
Sachiva

Sumant

(a) l:h} ({‘]

! 2 3
1 4 9
23 4
3 9 1

Answer not known

| Foreign Secretary

@ (‘hief Minister
3. F"inmu't-Miniﬁter

1. Superintendent

Slereumeuareupenmls QUTmESIS

fa)

(b)

SUemeum

l o s
1 ] 13
2 |

i

SAWDBTH Qewai

2.  wso®wEsi

3. Bduewvssr

4 ﬁiﬂiﬂ&irrguﬂuul_rmﬁ
(d)

3
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:
44

.n,“,".:pﬂ'iﬁﬂ Al © The zonal
: onal

const) : neily . .
Htution, Owe  their origin to the

.agon EI{' . rl\h
Reasol : e zonal ¢ _
.I.l_.':j_rﬂ“t:]l lleI'II‘I]H AT "h[ 1 4 ] t f th[
' SHIsalion of ' logical outcome O 2
8Lates on a1 B T e
4_.""1-" 1“ and [R| are Correct.: e 11[1]:{1.”511( basis.

R Al .

for i\‘ i “{1 15 the correct explanation
3 [A] and [R] are correct: and 1 .

for [A] ' [R] is not the correct nxp'lar‘latinn

) |A] 1s correct; [R] is wrong
1 |A] 1s wrong; [R] is correct
1) Answer not known

=op Al : Lﬂ‘ﬁﬁ;]l—ﬂu DS RIGET sieupbler Gs1hnsSDE
ATHFW@@WLUGIHE:E sLennliul HdeTs.

s TTeRTLD (R] . e weiiphigser ©wmfl Siig LiLenL_ufle wrilekiseer
wpErerwliuger siés fSlwner efleanaun@L.

A)  [A] wpmibd [R] &R, whgid [A] 6@ [R] sfwnen eRleTdsd
(B) [A] wpmd [R] #f, wpgd [Al 66 [R] sfwmen efiendsioae
() [A] #fl; yermed [R] seumi

D) [A] seup; TR [R] &l

E) e Qsflwsiidoe

Women at Workplace Act was enacted in the

Sexual Harassment of

vear . -

( [

o (D) 2016

(C) 201

() Answer not known | .
Lredluied gl Ilﬁﬁ!&ﬂﬁﬂ‘g‘f P SHoy DD

(ol liifﬂ‘-"il-.f““'g’[-&’ e LD {glunb-.m' L L B {0
el .

Liemwfl U5l rugeTieD _
“JH‘” LIy} ;

s LggHii), HW

(B3 2017

(A) 2013 (D) 2016

(C) 2014 -
(E)  efflens. @M= CCSELIAP25
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156. Match
(n) Article 257(A)
(by Artwcle 131
() Article 245(1)

(d) Article 276

(AY 5 3 4 1
(B) 2 1 5 3
= 2 3 4
D) 2 ) 1 3

(E) Answer not known

LT BEEE.
(al =s13s 257(A)
(b) s7sg 131
(c) snsg 245(1)
(d) 5988 275

(A) 5 3 1 1
(B) 2 I 3 3
(C) 1 2 i 1
(D) 2 ) I 3
(E) &l il wellédhenay

(CCSEI-IAP25

120

AL o ol B

A iL'r;:oglJE Play

Girants-in-aid
Judicial proceedingg
Supreme Court
State Jurisdiction

4201 Amendment Act

wreflu 2 gefl

bésgion pLeuwsmsss
2 &5 pdloeanmn

wrhle edamy eurby

42™ Qmess s L0
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A\ ooale Play

wate Industries p ;
gtat Fomotion (,

__«tablishe g Thorat; :
was esta lished by Tap;) Nady, Hon of Tamil Nadu (SIPCOT)

-
‘
yalt

ltwf.r
nNment for the development of

o Large Scale Indugtriog

Medium Scale

(i) Indust rieg

(iid) Small Scale Industyies
A) () and (1) only

B) (1) only

() (i) and (iii) only
DY and (1i1) only

E) Answer not known

s0ppT® S GsmPe wenGemdps spsp (SIPCOT) adnp mia@woo-
sAppTH  Sigerd  Spssan.  Agmfd o@ulleoa aETUUSHETS

g,ﬁmmu UL L&l

i) seaysp dpmfipsT@e

i) pOSSTE CsTPpETOD
(i) Ay Qsme Ggmphemee
(A) (i) wpgnd (i) wEEL

”_)J] [11} T f_};‘ll]}

CCSEI-1IAP25
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n ural India and almog
158 “Over half of India’s GDP comes “”m[;:-rm activities, IJE.!EDiI.{'-tt?
" thirds of rural GDP comes from l|l¢!l1]'|:]w productivity Ont‘.llpﬂ-ti: o
: l B L] Fisl 11 - . _I]":l.\'
e are too many people engag » nature 1s needed tg o,
”“i“, ll:: ”:('.]'1' Rt prt*lil"”'hl' nat ) engp,

and a l

' .. especially the young”
a better hife for rural India’s imhabitants, €s] g

1

atatement about the econgpy,,

What can be inferred from oo g W1 GDP?
contribution of rural India to the over: : G

| = "of India’s GDP
(A} Rural India contributes less than half ¢

.
Rural India contributes more than half of India’s GDP, b b

| . i
8 cconomy heavily depends on farm activities |
() The GDP of rural India is solely driven by agricultyrg)
activities
D) Rural India contributes more than half of India’s GDP, ap .

significant portion comes from non-farm activities

E)  Answer not known

J,g;_:-.f,_ Tehler E;_:"rg',g araﬁr_r}rr:'_@ L,I_T'Jugﬁ (GDP)-@G?J Uﬁﬁ*ﬁ@ﬁ SFs e
s E2rroin @hduneller Qmbsl aumdng wpmid &rrouyn GDP z.
grss@pL aoadle @ram@L uréé? efleusmuid si@ens GgmQaasatel =2z
-3 gue‘ua}r;% Bosmsiler, fls ey s (@&ODBS 2 Hiz
~ Ggrdlaselld  FRULédrenet. flgroliyp  waser, G N
@ sewipannuienmis ﬁ%ﬁg ampsamsmwl, GuwulL Qsrdazers
Tiaseiae anblysseT pped & (h&as @u_lguu:}, h

8. LE.:'}&?ELJULL_ g Dbled ), G‘Imrr',s. 2 e (h 2 husdHulea Hrmo .
pELnesiern Wummarngmy l.JrEJasﬂf%.'qu S8 eTetna oardss; Qiﬁtubh >

[
[ G
o,

(A)  Zisdwneller Quoma THTL DLIG ‘
9354; 1let rlallﬁngg, ald L CRE-W) T Sullev UnTdl&@n  @@nead
L&em U en ST liym @rng, Wi GUQI'&I@ ) '
(B) Bindunchlan ' ; ”
W B LIl eb ol Lo . . . : A
LT NP dlun ﬁjﬁ-’ R En‘tb”_l b E_,_I]}Llﬁ.éluﬁlm Ljﬂﬂ&@jlﬁ B
Aunman . :.J' LI m @Jbﬁlu.m 6Ll IEJ&;@]Q)@ pemmel, M
HREETETI elleusmy bl Gy & ensaenan :H‘%T-i,uh &n'r‘r;’b@ﬂ'hmgj
“r’ o ) Ir o
ULLETSTNTIY)) BBl el Glinng 3 f ' |
I in b A . £ an & MmuS allel &
15 iy Sena86n ¢, DL (Ko mu'éﬁ?ﬁ;'mﬂmgﬁm LS'I 2 _mljngiﬂ ahlé
{2115 4 Tedal - .
(D) b@uinellen () T34 o érmm (1)
b2 L )

| A ¥ H I L] v a
2 hf o r-miJIHI 1l

=

L2

ae] 2 DLGH bl Somoayn  @HS _I
_-__}.Il-r.. : 'I! ;j_] . ) I L ||H§}h .Iba' i h_IJ l‘:lr\E_LI é} " -\IUL U:'I t;
- ﬁ)d}r‘j, LI :_#1] 'mﬂlmﬁml . E—"'l'l.li_]h.-u."]&\ Ck .@ mé‘l' I'*-_I:_-‘LL -l --r.l_! -.*_::.I
b B --Ellli}&m&.&,(uﬁhl hib& @L( e

{ H-} ahilemy .
Lih r..?.l_j_ rII- u ':'.'I:”L{IUE'{,..L'..
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) ,'tl;n:'h the Inll““"”\;: :
1 Stor Uonserv; e
yWate! thion | FORTammy.,

Siates and Stat

I'r': Y ;
. Andhra Pradesh L YA e
i Il . [P ——
n  Bihar | | an Hariyali
| - '\“""" { hetty

4 Grujarat l
Jdal ”i Joen an Hai
][;n'_‘\:‘ill.“i

(1) ! H‘]l-’ll:llﬂ Siufalam Jal Sanchay
q'\l.i}hlx.-;”l
(a) (b) (¢) ()
\) 2 ] 1 3
B 2 3 4
D)y 4 1 9 -
£} Answer not known
L _TIREES.
i- Lngenuug S Lpbd wmbleisEsb
o I &6 AT
orHlenn&er |
i 2 2L el IJT__I,_.',"!
a) S BSHTd AyCaED 1. g Reuar ab
: 2. b - 86
) &I L o Ll
; 3. e QU FReuE &
b WAl ' o enay e demity &
.-’7: _1- .‘LQ!...E\‘I"”' &l e 1:'."r x A -3
f;l _.?’-'- | --,;’,.-l-r
1)
(a) (h) (c) (¢
| b
(A) 2 1
! |
IH} 1 }
(Cy 92 ; E -
(1)) ]
‘H]‘ | 1
CCSEIL-IAP25
130 [Turn over
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Conference  heq

-..IJ
i

Adda24

en
160, Assertion [A] Tamilnadu ~ Wom i under the lead n 1
Wr AAssEer d 3 I e - y . ﬂrH |
14.11.1938 at Chenn _ hip
T N,»,-h”nhlk:li Ammaiyar.
; o ssed  a  resolutig
This  conference  pa N for

Reason [R] R _
| - - tion : L
wholition of caste disecrimination and thg it

i,

“Porivar” was conferred on E.V. Ramaﬁﬂm‘f'

1 . Wiy
this Tamil Nadu Women Conference.

(A1 [A] s true [R] 1s false

(Bl [A] 1s false and [R] is false
‘1 [A] 1= false [R] is true, but [R] is not the correct explanati
of [A] |

‘D [A]1s true and [R] is true

‘E) Answer not known

=02 (Al s8perl Quarser wrprh 13.11.1938-6 &, farsias

Sbenwwni seeewuid Qsarenarudd B LGQupng

smawt [R] 7 Gig DIBTC g6 srdu Geudmyenenu @PiLLshE
. ey, Trosmbléer  “Quflymg” ULLD  eupmi@eshs
Enonenih ﬂm.mfﬁeaumml'_uu' L&

(A)  sui m .I."E] a1l LA &ryeam IR] SHeum

| Hr By ! i,xl #j;...II!J: O M 1T 1] ST L II{] dﬂﬂ”ﬂj
(i By, ff :
] | f |.‘|.| JJ_J...I--'J-: ) ool L b “{I &l '%h"-‘a”'h{'-‘ 1R] 1‘\] (& FHLTS

e g4
{IJ.I -".I'I._"-""- r"';ll it [ Irl-: [Y A0 | e80TI !I{] i1 &t

(E)

CCSEI-IAP25
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o

B

161

7

Arrange the fh“ﬂwing with ret
ele

Jevelopment :

I .

o)

oud

-

()
(D)
(E)

The Nomadic stage
The pastoral stag

The h llﬂt.ing stage

The agricultural stage

2,3, 1,4
1.4, 3,2
3.1,2, 4
4,1,2,3

Answer not known

ri 'T!.{t; v

to different stages of human

saflg euerigéludier Gememid QeuciCaupy Howsmer @UESDDESAUD |

B

sy Hlene
2wl Hlena
(BeuL_ef fﬂﬂﬂﬂl

elleuamu Hlene

CCSEI-IAP25
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rks in an examination and “1

Addal24

30, of the maximum mar
Paul who took the same examinatig,
rrl
|5 marks more than the Biscis
|'r

the examination?

!l"‘i:_‘.‘ l‘*""‘r ﬂ'll I'
bv 10 marks However,
109 of the total marks and gol

marks What were the passing marks 1n
(A) 35 (B) 65

(C) 85 (D) 70

() Answer not known

aenail  ep(ih Gﬁﬂaﬁ]ﬂ'l éﬂﬁﬁ mé]u@uﬂbra;aﬂm 30% G

10 pd QL anasda alsdluimgsdled @ﬁﬂé)ﬁﬁ] D@L &, Gugib, Umd eren @
el 40% Gupm. Csqs:

=Gs Ssrdlee awd Curgs wHUCLETS
wHUCuaTmTS ST IGQID 15 owdobuarsdar wi.

JupeushaEren
Jop@nrt aefle Sipss Carelldar Caiéds wHGLET eremer ?
(A) 35 (B) 65

(C) 85 (D) 70

(E)  e&fle. Ggsflueiédrena

Akila scored 80% ' 1 ]
o of marks in an examination. If her sScore was

163
576 marks then find the maximum marks of the examination
(A) 720 (B) 620
(C) R20 (D) 710

(E)  Answer not known

ﬂ)lt'_*...li:'. rn ':H,!I 11l 6l (
576 gl 80%  wdiQuensaan Clupmme
576 .'J_-’i,i N, P LY : L MelT. élﬁ;]e%
Teranley obs Gaiveflein Quorgs QL u '
(A) - 720 Uilol LI eBST@m esar & 1Mo &
- (B) 620
(D) 710

(E) o
ol | "v-“-!'r.-"i{u;_,;'
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\1;[[{'}1 the !‘ﬂuuwj”u :

Column |

. e
Wwaste IMsposal Method) olumn 11
L
Jani ' (Proviss
q) :'iill'll“ll"\’ h“““'”h‘ I I Fotigs)
5 { har : .
h) Incineration Ny of wasts
L]

“"I“"*ll the refuse and

: tompost 1t with bulldozers
Pulverizing

d i Combustion in ahsence of
wrolvsi OXygen
Pyrolyvsis 4 Spreading the waste on fields.
(a) lh\,l (¢) (d)
Al : 1 3 4
B) 2 1 4 3
1 2 3 4
D) 4 3 2 1
) Answer not known
: zar_aubhepl GUTBSES :
2pReuflens | Qp@euflens 11
= ey SEHDD 1peD) (Qawe cperp)
- arilgsen
a) S 5,%@@4 ﬁgqu,é) L siflaseer &8 )
0 & o ok 2. @SS sflasan WHHL 27!
h) eM&sew %ﬁmm @mpﬁrym apaotd Cs 0558
3 <y 8l @deToe ailgse
¢) & =) | _
| ETREE 4. sfaseoa ARIEEUEY
(d) Glaut ';gélm}’&)al Lmendladl (sen

(a) (bh) () (d)

(A) 2 1 ﬂ 1.
(B) 2 l 1 4
€y 1 9 ] |
{D} 4 ) 9 1
(K) Qe fuedoad

CCSEL-IAP25

[Turn over



Addak47 T — A Googie Play

. 3 th' & )
165. Assertion [A] : DMK played a leading role 1n the Anti Hing,

campalgn.

Reason [R] - It urged people to write under the Tamil 1d9ntit}-_

(A) [A] is true, but [R] is false
(B) Both [A] and [R] are true, and [R] is the correct explanat,,
of [A]
(C)  [A] 1s false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanatiy,
of [A]

(E)  Answer not known

shm [A] D Bws. @bf eyl Gumynl L gHé  psdluwne
unbshsss Caram g

snyemd [R] C s wssmes  sllpt  aam  ment WIS ans
geileanyu abunsdug.
(A)  [A] &fl, syermed [R] Seum)

(B)  [A] whmib [R] s, Gogyid [R] Qe afersain [A]&,@ sMlwmars

(C)  [A] seu, [R] &l

(1)) ["‘sl LomHmih “{I &l

i
4

anne) [R] Qe eflarsg iy |A] &6 seummar
(E) .- .

aflent GeMwelvena

(CCSEI-IAP?5



7

h of the fﬂ'“ﬂwing

. ‘,:bl h-]c

M

ndj - past

state
. o) atemen, P L
Policy: % Incorrect about India’s Act

A) This pohcy Promoteg Proacy

Ve diplomacy with political and

military interve
rh INsurgency in the Asia-Pacific

ntion tgq e
region

This policy was opig;
(B) '8inally concejyeq as an economic initiative

m
+ his ol 3 .
] Asia-Pacific region
) This policy promotes enhanceq connectivity to Asia-Pacific
n

region through North-Easterp Region

1) Answer not known

Sareu(mLd sapmisaticr @hdwuneiler Hiphe Crradu Qardrensullen HeumTe
GO

gl uH9E Grrsdusde Saréflon s_BHuUbSS STflwe WwHHID

(A) |
Qarar_  (penpwhHél TTRSHSTEDS

Qrrapes  s@ULOL
a1 & (&N 56 DS
(B) Gummerngmy apempwH LIS HHBSUULLS
(C) - [1N] L FG9 & u@ﬂnﬁ;ﬁugﬁm o grer  UTHS FHOCILDSHL  SHeuand
Qaqubduig)

s SSILILL @epamiil GuITSleUTE

# ]
;ﬁﬁlr;ngbglujgﬁlw (ol -
v CuhupsSLS

D) wflu wsiS

=
i '..l ] I :“':&.‘::-l

: ifa @eet
G}J - -I'-t':l , Ln."]' :_..4'. i) ]

- Q1 Aven )
{E‘I} -~ | ey | \‘:n-f T | Ll oL e
erlail I 1

CCSEIL-IAPLIS
1~H;| e
= [Turn over
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167. Match the following : | v el
(a) Justice should not he denied s
to anvone based on the grounas

of Eeonomie (or) financial set hm‘ki 2. Article 43
(b) Establishment of Gram Panchaya

by providing mw-c_ll'lll powers 1O
these sell governing units

(¢) Favorable, Humanitariate
cituation to work and to provide
maternity benefits to women

() To ensure work. pay, favourable
chimate to Agricultural (or)
Skillful Labourers

(a () (¢ (d)
A 4 3 2 1
(B) 1 3 2 4
(C) 3 4 1 . 2
(D) 2 3 4 1
(E) Answer not known

3. Article 39 A

4. Article 40

sHurereunenn GummsSs

(a) Gurmerngry sdog B @uaremwn 1. emuy 42
EMTERONE eTeu(hE@GHD s Bl
WDMISSILL TSNS eTemLIg)

(b) &rro UEGeTLSGSs@eT FHLBSES Coum@Hib, 2. o miviy 43
el Fl L Flullel SjeEHsarTs
deweuL g Gaemeuwnar &smribd
augrisUUL Geuampith ereiLig

(¢)  vemtlyfleugpenear Blumuworen Lo mib 3 o miiy 39 A
’.;.-Gﬁlg_, @s_;aa&lﬁlasaa pibleneser 2 (HheUT&&HLILIL o
':.-E...-'E-F..rﬁ'l'all.'; IIJ‘I'_T}lJ':riLh oLIM)&ITel E_ﬁﬁﬂ
cupmg i Geuer(ib GTEHTLIG)

(d) oGl el ~Be)eg) @ﬁn@ma&g 4
PF f: ¥ T8 TR i t e
cgnplonerisense Ceueme, umpepdluiih
rhi.-JEl.-- EJ?'T;_;JHJMJEI@ f;Jrjg.mH;&, ;_F,UGUE"DE‘EJ .
i "|'. I i X g 5

6w TILD @ypeh 2 myd G]Huruﬂmlml@m

2 muy 40

GIEHTH@

@ () (o)
(A) 4 ] : -Illl)
(C) 3 | 1 9
(D) 2 9 | T
( HJ’ eHlen. Qg =Q .

vt L &l clang
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which of the following ig ;..
- COrracy)
Lly

: 'il:nr-..,i-;

" {11‘” {1h'|1ﬂ ]]! 55
| . Wl
(2) AB( f\i'hi:-vmm en Index
) MPI Mu[lid- 111.-!-1 i Bagie Child
( 5B " "'Ih‘l'IHII‘.‘rI‘i.!ll Pover I ren Needs
0 uman |) TLY Index
\ [l\r‘ullj“”“
il hilln‘!ﬁf,.”'
Alion

(2) and (4)

o (D and (4) (B) (1) and (3
oy Answer not known (1) (2) and (3)

& wmeu e hHmie
R DT Te6 Heumns, Q‘-”Uﬁ&;@umm@ S

CDI . @Qﬁmﬁﬁm GUETTE4 &HISE
}) ABC - @)Eﬁ]ﬁmﬁ:ﬂiﬁlﬂﬁm " |
. MPI Slgliuen.§ Ggencuselicn #1505
3 I ’ =, e Lifliomenr GUMIenLD @ﬂﬁ@
5 HDI —  waflg aueniédl wie wrenn sramd
A (2) wpmid (4) (B) (1) wopmbd (3)
0 (1) wpgd (4) (D) (2) woms (3)

E) eflen Qprﬂuaﬁlmmm

Who introduced the modified scheme of elementary education which
provided part-time learning of hereditary occupations’
(B) C. Rajagopalachari

A) K. Kamaraj
(D) Raja of Panagal

(") T.Prakasam

() Answer not known
_ _ . O E LN H 0 (D suan&uile
canpaswens  UeB GBI e

T O e soelh HCLHID o flpsuu@HBueut W

(B) C. prggGan meom&gn

IMbLIen TS
OrHHluIenD&HSL I It

(A) K. snwogmsg . .
! “H | jeaT&hel) G

(C) T. Quansd

I.]:‘:} U-fl'bt" k: -E_F. .Ir U f_,__x"::'"l;-_',.:_' f..:,,j"ukj:

CCSEL-IAP2
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red Green House Sy, i
| Nadu Chief Minister's Solar Pﬂfﬁ{ r?(l;he che Me ]
70. Tamil Nadu : nefit 0
HE titl":;ﬂl’{illﬁl was launched for the bent
(A)  Poor in rural areas |
(B) Poor in the semi urban areas
() Poor in the small town
(1)) Salaried class people
(E)  Answer not known
LI &ai LD sﬁ@ 8

slps apgeawsstlar  @flw gefluiie GuriGo
W@ T &SI LGl

(A)  &rmolyp gen ESERESTS

(B)  &flw ety genyp wés@nssns

(C) periiuD gy WS EHEETE

(D) souer auGly wésEREETS

(E) e Gsfweicoana

171, Due to Global warming the following are badly affected.
(1) Agriculture and Environment

(i) Agriculture and Industry
Agriculture, Horticulture and Environment

(111)

(1v) Industry

(A) (1) and (1) (B) (i) and (iii)
(C) (ii1) alone (D) (i) and (iv)

(E)  Answer not known

6o
m
¥

1615'. | _'G-E.:ju JLIDeRL 6L & el g%ﬁ-iﬁ&-ﬂ]’L_ Slenmaen

in4l&5) -@lag:_wgﬂ_ -
(1) efleusmup DHmID S HMI& G

{11} ebleusmyp DIHmILD -‘}:Igjrrgfilaia glenm

E_HH eleua iy Cam” | SHEeney oM mLh &rbrrrjuéu\a.] Yeb)

(1v) 'n|ﬁ;[|*l_¢>| r_.";-gd{.njllr, ' o

(&) () wdme G
(C) (1) m .:m (B) () LoD (111)
I!':} ...”'C.". .“-ll;!"fl_- el ana {[)} {” J'“L'J ”"’I}

CESEIAP25
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A G;:o.gl{e Play

1

‘hich of the f ing <
Whi ollowing statements arefis true about “Niti Aayog™

1) Niti Aavog hae : :
( YOgE has bheen Mstituted to replace the Planning

Commission

) It has no power 1 allocate funds
(1) Niti Aavog is g think-tank

. TR [ . 8 _
(v)  President of India is the Chairperson of Niti Aayog
(A) () and (iv)
(B)  (1v) only
() (1) and (iv)
(D) (1). (i1) and (iii)

(E)  Answer not known

“g) 2,Cuirs” L) Hereumeuanaupmier  ahgs  SmDOi/SaDOSET

¥

2 RTEN LD TETEnEY ?
(1) S L& Gualpeu ufers B 2 CWTE BE@LESILLLE)
(i)  eunfne Nd eass afamn Gdmae

(i) 64 oCuTs @ Apswans &

le %ﬁu_mé,ﬂﬁﬁ'r Senevau

(1v) g:gf;i_@l-;nreﬂﬁiﬂ &g wr&S Semeall

(A)  (i1) wpmb (V)

(B) (1v) w0

(C) (1) 4 (1v)

D) (1), (iD) (111)
(E) 6

CCSEL-LAPZS
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- ut Anjalar Ammal?
Which of the following statements pre Lrud abo ]

173.

(1) Amalar Ammal was pregnan! while 1n prison

(2) \riialar Ammal born i Chennai ook active part in Neil Staty,
protesl

() Hushand of Amjalar Ammal was not interested to participate p
freedom movement

(4 \ry1alar Ammal served as Congress MLA from 1937 to 1946

\ (1), (4)

B Y. (3)

[ (3} 14)

D 1). (2

F)  Answer not known

swsae & or@er uphl Geraumd sppsefien oTg/aaey gflwmarg -
] scse sowna Hepudd Qmbs Curg sTlULTE @ HBSTT

ssarereruda Snmbs BEpsmewbord B faew CurprlLsda wpas .

[

S cUSEETH
'JI A r ¥ i_ " : “
3 S EhFEGU LD IDTET| 6l &emT 6L T Jrg,'r_r,glqu @UWIIHL_L_g,Q@ Ui T
1 :
&bl ¢ LD i el i ane)

1) Behdale LILIOmET &Mk ' i z - .
G idlney enb.ered.qr.qung 1937 wsd 1946 as
et L mdblearnn b

.10y -c-;'IE- e

CSEI-TA P25
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174, Choose the wrong paiy
LRt

Thodakku T
‘ | I'he ornaments on the neck

) Andalm Aduppu ("oek ahapied

: vavithul
i am Wenpona for gouging the eves

1 Yer Charal The equipment to stock Bow and

Arrows
J (A 1 and 4dancorrectly
R 1 and 2 incorrectly
() 2 and 3 incorrectly
l ) 3 and 4 incorrectly

£ Answer not known -

corTe @Qenamend s fs
| 1. GarLé&® -  sWHHD YiguliHeE@HD sHsled
e oo aGoy  —  Greud agearang
—  saneend HETHHD HpUSD

hl&lne - & DL |&ET @eud uiwb &L

JI_}J -Ii |[|.|'_.[I,:UJ|', I- .6 :_|I.r

()  eflen Qe

35 CCSEI-IAP25
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17H.
(1)
(11)

(111)
(1v)
(A)
(B)
(C)

(D)
(E)

75 Which of statements are T'rue?

Octane number increases with chain length.
number than straight chajp

Cycloalkanes have higher Octane

alkanes.
i o 1iche Jet:
Alkenes and  aromatic hy{irm:ﬂrlmn have higher Octane

number than straight chain alkanes.
Branched chain alkanes have lower octane number thap

straight chain alkanes.
(1) and (1v)

(1) and (11)

(11) and (111)

(1). (11), (1) and (v)

Answer not known

Ensam_eundled erg sflwunear sabm ?

(1)
(11)
(111)
(1v)
(A)
(B)

()

(1))

shudlell AgrLir sa®b Curg &ECL6m erair 2 wWTSlDg).
Corran  @Caasmeas ST et HOCHaaHEREE 2 Wibs
2 &G e eTer 2 etr(h).

Coypmenr  BebGacramaers &M gad &mﬁma@m Crror’_ s
agn Crm smiuensEsl iHs &G erair Glsmetm g

Cporen aCaasmas sTgRbd Aoasdr 2 e w suddls @
S Caanse @eaneuner &G 6 era G}a;rraim_@,

(1) whm (iv)

(1) pHmib (11)

(11) whmib (111)

(1), (11), (111) wihmib (1v)

|_ Y [ iy x
ol HNLIen!suanen

CCSELIAP2; 136
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176. How did education contribute to the Indian Renaissance?
(i)  Contributed Growth of Money
(i) Promoting scientifjc learning
(i)  Promoted social and cultural progress
(A) (1) only
(B) (1) and (iii) only
(C) (1) only
(D) (1) and (iii) only

(E)  Answer not known

Grdu wpLTEHEEEs soealluier unsafiiy edaeuny o gef Galss ?
(1) wewr eueth&fleavw CsrHsss

1) sMeflwe ey aueiFfléans

(i) sepsis uaruTE erGardob THULLS
(A) (1) wiw

(B) (i) wpmb (i11) wLGD

(C) (1) we @

" (D

(D) (1) whmib (111) 101

E[':-_]' eflan GaMwaiiecveney
. CCSEI-IAP25
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major commodities in Interna)

177. In the Indus Valley civilization the
trade consist of
(1) Cotton
(2) Lumber
(3)  Grain and food stuffs
(4) Livestock
(B) (1), (2). (4) only correct

(AY (1) (2). (3 only correct
(C) (1 A2). (3). (1) correct (D) (1), (4) only correct

(E)  Answer not known
g sonWeiet  mrnaflasded @d&&lm
areiiug &(maL H(Reug)

ghmind QuIBHLSETTE  2.ETHT ([

-

(1) umsd
(2) mbd
(3) e evey sreflwkiser

(4)  srepeLsdr

(A) (1), (2). (3) w @b &f
(C) (1), (2). (3), (4) &M
(E)  de. Qsfueiavmea

(B) (1), (2), (4) b &f
(D) (1), (4) ' Hw &

178 Which is/are the aims of a sound “Theosophical Society”?
‘1) Believes in Karma, Yoga and Indian Philosophy.

(1) Universal spiritual brotherhood.

(111)  To protect the society from evil practices,

(A . o . i

f{_; 1',) only correct (B) (ii) and (iii) only correct
) (1) and (11) only correct (D) (1) only correct

(E)  Answer not known ‘

Sy bwesrer senLiufen Crrésin wng -

(1 siom, Cuirne: i b ga ;

f] EMLOM, (swimgm. {Igg;llrg_é)fmﬁ, g,g,@guﬁélm ,_5@ ﬂ)@l‘ﬂ&iﬂl&

1) e ewserrally <y e He Ji(B&IT'@UQ,@Gum

(111) S memi_pes '
4 I (1penma el i :
e enmaenial WILT- "'(Iﬂ&rlulﬁﬁﬁmgl': UMT&I&my Lig

(A) (1) b Aib &)

1 1) DL (bl (B) 1 W . 8
(C) () wimid (i) o, (MD &l (D) {--) RN BLED o
(K) ehlen Arsam Iehlebenan {“] ljl‘-'{l';'*’-h-' =

( ('SE] IAP?25 o
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Ll 1 ﬂf i 3 . . ‘
179. Whlrh. | he¢ following statemerits afe ‘tie about Election
(Commission of In{“”? :

(i) Conduct electiong o parliament, State Legislatures and to the

Y '
office of President and the Vice.President

i)  India’s  First  Woman Chief Election Commissioner
Ms. V.S. Ramadev;

111 19's 1 by nl 5
(m) India’s first Chief Election Commissioner Mr. S.P. Sen Varma

(A) (1) only

‘B) (1) and (i11) only
(C)y (1) and (i1) only
D) (ii) and (iii) only

‘E)  Answer not known

Semeu(meuareupmier @hdlw Gaigd gmamub @hds sfluraas (pgs.

(1) wrgm@swenpd, &L UGugmeasd LHNL GQUTES SO FD
&g wrs et Gt & CaisdsdT bLE5IMS

(1) @pwmelier WP Quan seamwn Csrsd et drwd. eil.ere.
TrGaell e

(ill) @rdurellen (psd SMVDLD Caige gpeamut S, eev. . Cedn aufon
BLGUITIT.

(A) (1) i (Hibd

B) (1) wpgud (i) =GP

{{"} {1] .H."'U&_I;JI;" {1” nL |_-,.'-, D

(D) (11) whmib (111) ! '

(E) Qe Qsfucido®
CCSEL-IAP25
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and choose the correct answe,

180. Consider the following statements, .
was the first to begin wip -|

(1) The American Constitution
preamble,

: ‘onsti 1on, 05
“Preamble” (o the Indian  Constitutio resemb,,

(11) il <« NA P =
“Independence of the United States observes IN.A. dlkh""dl?!

(i) Justice M. Hidayatullah, called the preamble, as the Identjy,
Card of the Constitution,
ov) A Republie Includes all public offices being opened to every

citizen without any discrimination.

(A) (1) only correct

(B) (1) and (iv) only correct

(C) (1) and (ii1) only correct
(D) (i1) and (iv) only correct
(E) Answer not known

Epsan. smpmissee smgs, sfiune el aw Carbblsh s

(1) pELGeTuLEr geukdu apse STAUDBDDILE &L @7 ss
SHTFWeenwliumgLb.

(1) @rdu sirduaeoner sa@yureng 26wfss madu mrHsaa
sapdrsess  Gurale Dméfng’  eran ey Crrédueas
N.A. uddleunar <DLEUITHT.

(111) £40.4 b6
£4l 4] .fvT. Bsuisgiaen, Péqeruneng Qo srsen e
SGNLLITET 2y anL eTem D60 LDSH S GUTITGLITIT.

Ijl:l.} o] oL IT & ¥ II i r |'( = 4
SN Sl | (e, Sfmansg g DHLICUE I F(@HID HEFE
i < IC T  ( 1T S &L Ot T el
SRS 2 drem Shuigne b, ' ) LRO= F

{I\"j [‘jj I Kt & 1|

(B) (i) wmmib (1v) o1 (b sl
(©) (1) womb (iii) ol (Db &
(D) (i Db (V) e Qb &6
(E)  &ne Qsfueidhae

El-1Apos
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The following Stateme

.—] . # 3+ I.-"tH }1."[. .t

[ arpatives 'in . LT Vo _

intt! d the Correct Hi.m-_{,m': the Tamil Nadu Government’s
Allocation of = enis

|:',;|1' ‘ ﬂ{ D CrOrec
:11""1“\{“(;_1],. _.””“ ”'1'il1,*-. |l':|l |.HII]H!;”|. ‘I“ Ih k Tr ﬁnnai
< : amil . e works ot F

Department through  Tamil  Development

0 crores for pg .

|,|!‘|'F ] = llht“hl]ql
shment of 1y m
amil P

v Allocation of 5 arapurai Kazhagam
. i . S Croye I:'{“, o )

: . o .

lamil Literature in JNU ”[E];l_.lnn of separate department of

® ¥ I

0 30 lakhs financial

Project support for Theera Kaadhal Thirukural
v)  (a) and (b) only
| B (a) and (c) only
() {ﬂ] and (d) 01‘11}?
D) (c) and (d) only

£ Answer not known

el efleu

s ApnrH srdlen peamgpupdlser upBlw  GereuHd il sensaet e
sFureneney ?

_araney sibCussilan Deanssi L CseeTuDd - SO euaTTESS

a)
gienm ppeLD g Slpled QumpQuwiss 5 Gams. 25680

sawss 10 Gy 85580

(h)  sllp LgliLenTd SPpsD
sspssde sl Qesslus seflg

(c) GLéed peUaDTLre Gy LUOSMD
o (HEUTHS h Galg @g;]&-ﬁ{ﬁi

gjj,'@}:'; (= 1V
iy (5 2() qot” LD I|'F3.5$-ﬂu 1B el

Eqm snge (&P A &8
(A) (a) _|.riJ.l.r_rj.|:i'. (b) wn (bMih
{[ll} {}i] I-:'I-.!-;:-.I.H_,;Illi' {{-:I ([ . Ill.l L-|

(C)  (a) wHmbd (d)
‘I)h “'i |_.|'|PJ!:._' [({} LO-AhH

1160

‘i“:} ";.":.'.I\.,:.."I { e k'l 1 :{'.':" w B
CCSEI-IAP25
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182 Match with the schemes and its main

(a) PMGSY L
(bhy DDUGKY .
(¢) NRLM 3
(d) MGNREGA 4,
(a) (b) (c) (d)
(A 1 2 3 4
(B) 3 1 2 4
() 4 3 2 1
(D) 1 2 4 3
(E)  Answer not known

e A Google Play

focus :
: th between the ag,
Focus on rural you veen g
|5 to 35 years from poor families
. | bl ]
Sustainable livelihood opportunitieg

Rural connectivity
Livelihood security in rural areas

Sl ms@ea g i CrneassiLeér QUTmESED :

(a) PMGSY
n) DDUGKY
(c) NRLM
(d) MGNREGA

(a) (h) (e)
(A) 1 2 }
(B) ] )
(C) 4 3 )

1A P95

: of

gops Ghoumsmas Gsips 15 apzd 35
UWFSEGLULL Sorolypn Qeeresise
seuanb Glease 56

ot

Hlenewimen QUTDGUTST U MlIL L &eT
Slymoliiym @evenri

dlgnolynriseid SUTDEUTSTTLI LITgyaiiLl
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183. Find out the

(1) 1925
(2) 1928
(3) 1934
(4) 1937
Codes

(\)

B)

()

(I

(E)

£C

sa(Hlg S8,
Sarpbs(h&sab.
(1) 1925 -—
(2) 1928 -
(3) 1934 -
(4) 1937 -
";_'_::hfrr

(A)

(B)

(1)

(D) (1), (2) o0

E) ofen Qs

% ¥ i}
it (1) -GG

rightly matched pair/s from the following and choose
the correct answeyp from the code

Fiven.,

‘\. T . i g = - - ¥
Periyvar KEVR started the periodical ‘Kudi Arasu
Phe English periodical ‘Revolt’ was started

) VIt ar % : " 4 < 1 r
Periva published “Viduthalai® as a Tamil Daily
var-:p:uwr

‘ * ". LX) - o
P rivan brought the Tamil Weekly

Pagutharivy'

ot

Only (1) and (2) are correct
Only (1) and (3) are correct
Only (1) and (4) are correct
Only (1), (2) and (4) are correct
Answer not known

Qasn@&.&uul;@mmmmmﬂaﬂ@ﬁ@ sflwnsl QurmBHL @eeamsmens
LarHésun

Fhlwmers Llead

GOSL S Bhe
Quilumt  m.QevLgr. ‘Gg <rs aam Lme RQs@ws
Qg mrudlemmi.

il ume Gsp MCandl’ Gamefsiu g

Quilwr ‘elHsee @ws sWlp prefiswrs Qeueflud L

mm

Quflurt ‘UEssal aeamn sullipaun Gsap deuafluii

(1) whmnb (2) GG sflurareal
(1) inmmud (3) 1o MG aflurenae

(1) inmmih (4) 1oL (M Gin gl eranal

Ay et

G agsl)

CCSEI-IAP25
[Turn over



Addai247

184.

A G;:o.glh Play

Choose the right matches among type -

1. Porpanaikottai

2. [rnn Hn i fe

3 Merchant Guild Inseription

I.  Sarcophagus

(A) 1 and 3 are correct
(B) 1 and 2 are correct
() 2 and 3 are correct
(D) 3 and 4 are correct

(E)  Answer not known

A sangam age fort
Pallavaram
Mayiladumparai

Marungur

Sereupueaneusafla sflwurar Qurmsssms CaTHEsHSS

1. GQurhuenersGam_enL
2. Boovus ssd
3. eaeflassEy soteul i

4. sheseulluig

(A) 1 wpgb 3 sflwunerea
(B) 1 npgib 2 sflunerena
(C) 2 pmmi 3 afluirenena
(D) 3 Hmib 4 sflwinereney

(B)  afeni @ 5ilwelldena

- @i sus s GaETlenL
- LIeDeuImeu LD
- wuler@buren

- LD(MHM&alT

144
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85. If x: 7.0=8:y=7:175 find x: v
| (A) 3:22
(C) 3:20
(E)  Answer not known

200 =81y=T:178 safla .

(B) 1:7
(D) 3:23

Y m sneamas,

A) 8:292
:(‘} 3:20 (B) 1: 7
(E) &flen lg M e dhenan (D) 3:23

6. If Rs. 1.600 is divided among P and €} in the ratio 5 : 3 then @'s share

1=

A) 900

) 1000 (B) 600
(D) 1200

(E)  Answer not known

Sfgsned Qeller LITR (& Qa6 puis@se 5 : 3 e a8l

(A) 900 | B) 600
(C) 1000 ED; .
E)  eflen Qsfweldena
. L.C.M. of (2::c2 —3.1:}')2, (4x —6y) and (8x" —27y") is E
A)  2x(2x-3y) (42> + 62y + 9y°)
B) 2°x*(2x - 3y) (4x® + 6xy +9y°)
©)  2°x*(2x — 3y)(d4x? + 6xy +95°)
M) 2°x*(2x — 3y) (4x +6xy +9Y)
(E)  Answer not known |
12x° - .'jx:v}z‘ [.‘:1_1{' - F)'."p’_)'l gnji_jwjlh (HI:{ —ET}'“] —er L5.Quim.Lo.
(A)  2x(2x — 3y) (Ax" + 62y + ”,‘"2).
(B)  2'x*(2x —3y) (127 + 6xy 'f”."_]
(€) 2tx2(2x—3y)(ax® +6xy+ OV ]
lI}] 21 (9 1-1.}.-} [ {4 vy + 'H_‘L'll
(E) flen Gaflwehlevencd
‘ CCSEI-1IAP25
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188, Which of the following caused by earthquake?

(1)

(11)
(111)
(1v)
(v)

(A)
(B)
(C)
(D)
(E)

Lightning
[.andshde

Thundering

Tsunami

Floods

(11), (iv) and (v)
(1), (1) and (i11)
(1) only

(1) and (v)

Answer not known

Slereumeuareupdled YsbussTed gHUB UM eTeneu ?

(1)
(11)
(111)
(1v)
(v)
(A)
(B)
(C)

(1))

Lol eepTe
Hlavssfla, .
By
semmidl

Gleuererip

(1), (iv) whmb (v)
(1), (11) wmhmh (111)
(11) we Qub

(1) whmib (v)
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189. Reason and Assertion type :

Assertion [A] © In 1946, the Muslim League withdrew its

acceptance to the Cabinet Mission Plan.

AS0n [{ : m . : 1 1
Reas ] | : I'he Muslim lLeague J'”ined the interim

government formed 1n 1946.

(A) Both [A] and [R] are true and (R] is the correct explanation
of [A]

(B)  Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

() [;3&] 1s true, but [R] 18 false
D) [A] 1s false, but [R] is true

'E)  Answer not known

zrreRTh LHMID euellumSsHe ums :

adlupsse [A] 1 1946@d pevdlid & si@visTocd HHHSW Sl 3
Qsnam_eng cilwsds Camer g

srraerd [R] © 1946@d s@wEsLULL QoL seTR  BTFTRESSI
apevelid 656 GdHSS.

A) [A] wppo [R] @ranGo ofl wpod [R] erérugy [A] Spsren sflwran

clilen& gD

(B) [:\] Iij‘r_fJL[TJ]Jll'a [RI ‘@wﬂiﬂw'

efleTdaih HieLe)

n &l r&bﬂmﬁ) lR] CTENTLIS) l\] &bl (h& e gMwimen

€) [A] ol e [R] s
llh [\f Fauml, .ﬁrt,:{,m:w’u lH] gl
(£) el etle ey
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190. Assertion [A] : Every Citizen shall have the right to move freely 1
throughout the Territory of India or to reside and

settle in any part of the country.
Reason [R] This Right shall be subject to restrictions imposed
bv the state in the interests of the general public

or for the |H'lil‘!‘t‘!il’lﬂ of the interests of any
Scheduled Caste

(A)  |A] s true but [R] 1s false

(B)  Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C)  |A] 1= false [R] 1s true

(D) Both [A] and [R] are true, but [R] is not the correct
explanation of [A] is correct

E)' Answer not known

spp [A] CoabgE @O Ghwe@Eeh, @bdurellar HlaluEsla
Fsplrons Qsdead, DG Guuwreyd, cuflsse.
2 flenw 2 ahr(p).

strews [R] © @ps eflevwrerg, Queurflwirer Gung waselle

pever smEWD, hg SThesILL CLmiler BT &(Hd L
15 hlflé@n Blubsamen (QueTwerDs ERE@ 2 Ll L5
(A)  [A] sfi, syemmen [R] geumy
Irf")ll ll,"]jll :'_.-:;,. “{' &IJ}EHTI:FJHEII Hrl'ﬂ; @lﬁp_l}]“h [R] {A] & &lﬂU_IITEEIT AT T I
(L
(C) [A] geugy [R] a6l
(D) [A] whmu (R] @)netor(i
= P U ¥ FJI|:1 |'H 1y 7 -
S thaﬁ', | 681 o enna | R [A] & sfluner eferss:

[]L:J AN = Al i L i

Vi s
Ll LG
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e " ip'_'IIL v g . : . . . -
191. The s¢ statements ahout the Legislative powers of the President
are

i) The Punch '
; state bill *_” Commission has recommended that whenever any
:’HI | : Ilh THH to the President for his assent under Article
e should mive hig nasent within a period of fifteen days.

) Article - |
n 4 -l I I.l I of the constitutynn pives detarls rngar{ilng the
resident’s role in the Jaw making

e R
(i) 1]1:::1[-: '\l|::t];1"'].gl; #wven the right to promulgate ordinances
A1 (1) only

R ) and (i) only

(1 () and (1) only

M (1) and (i) only
£ Answer not known

ip5LE SluTEs seeaflar slLlupmb sfstnn  GHEs sepTer

% OSETag)
sre@wuy slL eguy 201-Qen &p. obs @ orBesdar s
wereueTyld  eruGlurlsaand Guurss sewaflda QUUSISE
2guuuuRdnCsr UuQumMygy oombd 15 prisEsEd et
Sz0ES ST @UUSMmR euprs Cadmfib oer Lehpd peemiid
T geTS8s

1) &jg@}mﬁﬁ]d? FLL Eug']}ﬂu 111 DG, sLLBlwhoedley &g LTHS
seeweflan Lhmss cgafleuns &S uPhiGS DS

&L FJ_E]-JLIL{ 123 @Eﬂ g&;‘ (GG LIT&HE SMLCUHEG DieUF]

111) siggenniily L e
Amindés flsmin Garhsgemeang

flene Glna _endHengll |

(A) (1) w (HILD
(B) (1) DML (111) 1oC_(Hub
(C) (1) LoD mILD (11) (o

”;Ij {]” i[;-_lii_!.‘J,l;- fl]l.] AT L

E) eflent  (Gladluehlebens
CCSEI-IAP25
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192. Match the welfare schemes with its heneliciaries .

(n) Pradhan Mantri Jan Dhan 1. Farmers .n-:-'.pt-.lc1:11]3-' smal|
Yojana (PMJDY) and marginal farmers)

(b)Y Mahatma Gandhi National 9 Women from rural and
Rural Emplovment Guarantee Femote areas
Act (MGNREGA)

() Pradhan Mantr Upwala 9.
Yorana (PMUY)

|.ow-income households

and economically weaker
sections

Rural households living

(d) Pradhan Mantr Fasal 1.
Rima Yojana (PMFBY) Below the Poverty Line
(BPL)
(a) (b) (c) (d)
(A) 3 2 4 1
(B) 2 3 1 4
() 1 3 4 2
(D) 4 1 3 2

(E)  Answer not known
pudsll _rmisener sflwmer Lwenmefla @ @lenewdH HTLL YLD
(a) Sngrer wpdM geir ser Quirggerm 1. efleusmllser (ghluuns &g

(PM.JDY) wHmib G eSeusTulser

(b) DETSLOT aay_i;_,ﬁ GCaélw Symoriym 2. Agrotiyp whmb Azrews
seueneeumuiL o sdlraungé sl uGdaemars Csips
5. (MGNREGA) Quemaan |

(c) Sngneér opdfl o gheunran 3. GonHs QU (HLOT TR SN TS
P08
suimggenn (1 MUY} ol& megr_ @@Lﬁuﬂhﬁd"r LD ML

Gurr-kruhmngnn fdlwirs
| BeleuenL kg 10dsar
(d) 1 17 &, 1 gl :'.rll,.ﬁ,Jf"ll vel J&FG 4

Son Guwngenn (PMFBY)
(a) (h) () ()

cumiennd (B 1q_-'_.""l;§~ 5’:‘
GIHTLLGLE‘} $Ii“”'.i:‘|'.-j |m @g-_- ALl

(A) 3 ‘_f_ | :
(B) 2 3 | 1
(C) 1 ] 1 ‘)
(D) 4 | y ,
(K) =

CCS| I‘[-'!'ilj‘_f-}



7

103. Match the I‘hilnwing :

(a) Istrict with highest gex ratio Theni

(b) District with lowest gex ruti;n 1{ Thf*nN“ s
(©) District with highest child sex ratic .5. {*l:ld.ﬂfre L
(d)  District with lowest chilg SCX ratig 4 I}':[ :\‘:i[giriﬁ

(a) (b) (¢) (d)

) 2 1 3 4
(D) 2 4 1 3

(E)  Answer not known

sHwrereupern Glummsss.

(a) e Cluar afldlgib 3 sid 1. GCsafl
2 _eTen Wmeul_L tb
(b) & duer flflgw G@peirs 2. podf
o @TeT OmeuL_L LD
() <bls Gwhas Gpuy aldsnd 3. sLgnf
o GTe omeuUL_L b
4. fadd

d) sopps Gpbos ApuL &S0

® @Ter Wmeul L LD

(a) (b) (c) (d)

(A) 2 | 4 3
(B) 1 2 3 |
(€) 2 r 1 !
(D) 2 { | 3
B) e Qs flweldae

CUSEL-LIAP2S
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194. Identify the correct statement

(a) The rate at which the RBI 1= will
cverse repo rate

ing to borrow from the

commercial banks s called r

If the RBI inereases repo pate, 1t makes horrowing expensive

(b}
for banks vice versa
() Reporateisa tool to control inflation
(d) A lower reverse repo rate decrease inflation
(A) (a). (b) and (¢) are correct

B) (b). (¢) and (d) are correct
(a). (¢) and (d) are correct
(D) (a). (b) and (d) are correct

) Answer not known

AL e arddusang sETLDIS

cars awindsal_B(HHE MG SLgssTer RBI Gar@és fl(minc

(a)
o cB&gC Ber @rGum &flélsb

b GroGun ddsses Sfsfliusa apOD SLET QUIMIGSDSTET Qeaa
w4 aMEEDE, HLET GUITHIEGHMMSE G®nESng)

(c) LemaSsasenss s HULESSHD smallurs AruGun efldlgn 2 arerg

(d)  weanpg Sa LyiGun dlflan uamdsssoss Gansdns
(A) (&), (b) womb (¢) &dl
(B) (b), (¢) wihgb (d) sl
(C) (a). (¢) wihmns (d) af
(D) (a). (b) wihmib (d) sf

( 1'; | % :’_I, D lulg I:! wieH dyeman

(CSEI-IAP2S
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‘ 195. Arrange the following events in chronological order.

(1
(2)
1 (3)

{.]‘l

’ (A)
(B)
(©)

(D)

(E)

Sereud Hlapeseers sroapeniiLy aflesiubsss.

(1)

(E)
(D)
(E)

Kamaraar 1n Vaikam Amtation

Thirunelvel; piot

Madras Mahajang Sabhan
Swadest Sangam

(2), (3). (1), (4)

(3). (4). (2). (1)

(4). (2), (1), (3)

(1), (3), (4), (2)

Answer not known

@assd Gurym Lshe smogrgi
& meperGousdl &eaid

Clsetenen LD&TF6T FenL

5G58F ssD

(2), (3), (1), (4)

(3), (4), (2), (1)

(4), (2), (1). ()

(1), (3), (4), (2)

oflenL QgMluiehleee®

-
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auch a way that each
tion onclosed by the :

Addal24

; ' - weed 1n
e wYan ol ; 3.5 cm are pl
I'hree circles ol radius on of the fok

9 .I La &l "
FR cirele touches the other two. The
(B) 1.975 cm
(D) 21.21 ecm

circles 1s

(A) 1967 em
() 19.67 cm
() Answer not known o |

o 5 G w i w oo a1 kadt wQuin 6 SR ORCTG |
I?*. 1-~ . H.u-trm\: @ e (h Gl Mhishen &l @g,n@mngy -S4 S LD : !
-;-I“. ak-l | -ﬂ:m:\ﬁ:.h#.;:m @eni vitic L |@‘d,}u(ﬂﬁiﬂ LImLLeTey ]
5 el | & v ), 2
(A)  1.967 Qa8 (B) 1.975 QE.LEE |

(D) 21.21 Qs.8 |

() 19.67 Qa5

(E) &Se dsflwelldene
years at 5% 1s Rs. 183,

If the difference between S.I and C.I for 3

197
then find the principal
(A) 18.000 - (B) 8,000
(C) 24.000 | (D) 30,000
(E) Answer not known
E‘LI.I'_Lq_.Er_%L::

3 safsmse sesdiind, sl algseb. &G
2o Cuucrer sdunsd . 183-as 5% B @l Sssia
ﬁﬂ?_ﬁﬁ!‘rﬁ'ﬂ' igeiler Gl erebren ?
(A) 18,000

(C) 24,000
(E)  efle Gsflwelilcdrena

(B) 8,000
(D) 30,000

195, Ramesh deposited Rs. 15,600 in a fixed deposit at 10% per annum
simple interest. After every second year he adds his interest earning
to the principal. The interest added at the end of 4th year is

(B) Rs. 1,560

(A) Rs. 1,716
(C) Rs. 3,744 (D) Rs. 1,872

(E)  Answer not known

g]gfﬁu}ﬁiﬁ: i, ]5,6”” o Eﬂﬁlii;ll_@ (A menswng 10 _ — -

;L(pg;a?@ Ceudlpn, 19611_@511”{[5 ﬁlrj'g'ﬁl_”m@m @L:Qﬁ;ﬂmmlgguiaiﬁ%é;i
BiEQIL a1 Plemamadlnnd  erafld BI&TD yeaTiqen (Lpig6ild

'.flg;,nﬂ'}&ﬂ}ul

Qoaés iumib el igs LGeras B D.

@ w1716 (B) . 1,560
) e 3.744 (D) . 1,872

(E) e QsMwehidena
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A?da@ﬂ

sl TR * L
99 E‘E:t:'{h" ‘::.l_:::l‘i‘:lt‘;h' l”!III hiruvalluvar, “Four ills eschew and virtue
I Tit I{ | ' alitrisg £ | >
s i Mowing human qualities that will make you
1. Anger
2. Desire
3. Malice
4. Batter Speech
. O
} t-‘t‘r 2 :L 1, 4 (B) 1,2, 4,3
l{‘] 4. 3. 2.1 (1 3.2.1.4
(E)  Answer not known
| '@H‘Lgftm. ﬁltlbhﬂ‘l‘lﬂ;l —aymih CTENM G (ehE (&_}maﬁlﬁﬁ!an;ﬁl Sl elreu L rﬁmlﬁlﬁmm
autlans ) (Ndhg &
1. deud Qandn@nged (Deu@efl)
2 s HETEIERSH (Bye )
2 Jumrprenin Geratere (DI (Lp&HSHTHI)
4

(R ;E"m.?l&-'r 60 Fn el [@@Wﬂ&@&r‘rdﬂ

(A) 2.3.1.4 (B) 1,2,4,3
(C) 4,3,2,1 (D) 3,2,1,4

(E)  &flen Gsflweldeane

0. Reason and Assertion : .
Assertion [A] : A person who thinks that he will not be despised by

others. o _
. He will refrain the thought of attaining any object

with a forgery from entering his heart.

(A) [A] is true [R] 1s true

(B) [A] is true [R] is false
(C) [A] is false [R] 1s true
(D) [A] is false [R] is false
(E) Answer not known

oiHmb STJERTLD QUEDS |
© Smyréd @)SLPLILILMOE

mme@iLJG}JEﬁL
- un@anen  @umEEaTLi mmmg,@ﬂ_nrrm BDL_LE  Falg
cragramih GmEpslalld STELlG STéss Q& mareumes

{'\} ex T |.'\I afil angesnin “{I atl

i Fh".-"’,'/‘ Fi

(B)  samm I"\I &M, sngesnn |H| oM
— et

i1 11 ot h | H_l gl

Reason [R]

M L
@Qés  Gauer(d  eremy

saphm [Al

ST e LD IHI

(C) a0 J'\.] geum), & P
”“ e M) I,“ SHeaum)|, & TITEOET L ||x| LMl
(E) &flenr Glg Thieileves ‘__ o -

15D CCSELIAP2S
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